Roll No. 245125452

RESULT-cum-DETAILED MARKS CARD Regn. No. 24-DEO-861

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : PIYUSHI SINGH

Father's Name : DHIRENDRA PRATAP SINGH

Mother's Name : BABITA SINGH

Institute . CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtain	ed Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	55 29	40AG	100	A+	9	04.0	36.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	45 50	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	48 29	40AG	100	A+	9	04.0	36.0
4	MBAD-204 FINANCIAL MANAGEMENT	63 24	40AG	100	0	10	04.0	40.0
5	MBAD-205 BUSINESS RESEARCH METHODS	53 25	40AG	100	A+	9	04.0	36.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	44 25	40AG	100	A	8	04.0	32.0
	TOTAL	049	0	0600			24.0	220.0
	GRAND TOTAL	049	0	0600			24.0	220.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.17

DATED: JUN 12,2025

KURUKSHETERA

Checked by 1. ______ 2. _____

(Clerk) (Assistant)

Data of issue

Banne

CONTROLLER OF EXAMINATIONS

Regn. No.

Roll No. 245125453

24-DEO-866

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : DEEPTI SHANGLOO
Father's Name : RAMESH SHANGLOO
Mother's Name : SAROJ SHANGLOO

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	52 29	40AG	100	A+	9	04.0	36.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	44 47	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	58 30	40AG	100	0	10	04.0	40.0
4	MBAD-204 FINANCIAL MANAGEMENT	61 27	40AG	100	0	10	04.0	40.0
5	MBAD-205 BUSINESS RESEARCH METHODS	34 29	40AG	100	B+	7	04.0	28.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	48 29	40AG	100	A+	9	04.0	36.0
	TOTAL	0488		0600			24.0	220.0
	GRAND TOTAL	0488		0600			24.0	220.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.17

KURUKSHET	ERA				
Checked by	1.		_ 2		_
		(Clerk)		(Assistant)	



Roll No. 245125455

RESULT-cum-DETAILED MARKS CARD Regn. No. 24-DEO-853

MASTER OF BUSINESS ADMN SEM-02 EXAM: APR- 2025 (CBCS-CDOE)

Name : POOJA

Father's Name : SUBHASH CHAND

Mother's Name : KAVITA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	56 25	40AG	100	A+	9	04.0	36.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	48 49	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	52 28	40AG	100	A+	9	04.0	36.0
4	MBAD-204 FINANCIAL MANAGEMENT	65 21	40AG	100	0	10	04.0	40.0
5	MBAD-205 BUSINESS RESEARCH METHODS	58 27	40AG	100	0	10	04.0	40.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	54 24	40AG	100	A+	9	04.0	36.0
	TOTAL	0507		0600			24.0	228.0
	GRAND TOTAL	0507		0600			24.0	228.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.50

		(0	Clerk)		(Assistant)	
Checked by	1.			2		
KURUKSHET	ERA					
DATED:	JUN 12,2	2025				



CONTROLLER OF EXAMINATIONS

Data of issue _____

Roll No. 245125458

Regn. No. 24-DEO-862

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : RAVI KUMAR
Father's Name : OMVEER SINGH
Mother's Name : VIMLESH DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	60 30	40AG	100	0	10	04.0	40.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	47 45	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	59 30	40AG	100	0	10	04.0	40.0
4	MBAD-204 FINANCIAL MANAGEMENT	66 20	40AG	100	0	10	04.0	40.0
5	MBAD-205 BUSINESS RESEARCH METHODS	62 18	40AG	100	A+	9	04.0	36.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	44 30	40AG	100	А	8	04.0	32.0
	TOTAL	0511		0600			24.0	228.0
	GRAND TOTAL	0511		0600			24.0	228.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.50

DATED:	JUN 12,2025			
KURUKSHET	ERA			
Checked by	1		_ 2	
		(Clerk)		(Assistant)



Roll No. 245125459

RESULT-cum-DETAILED MARKS CARD Regn. No. 24-DEO-854

MASTER OF BUSINESS ADMN SEM-02 EXAM: APR- 2025 (CBCS-CDOE)

Name : KAMAL MADAAN
Father's Name : CHANDER PARKASH

Mother's Name : GAGAN RANI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obt	ained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	56 29		40AG	100	0	10	04.0	40.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	47 50		40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	57 30		40AG	100	0	10	04.0	40.0
4	MBAD-204 FINANCIAL MANAGEMENT	65 30		40AG	100	0	10	04.0	40.0
5	MBAD-205 BUSINESS RESEARCH METHODS	58 29		40AG	100	0	10	04.0	40.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	53 30		40AG	100	A+	9	04.0	36.0
	TOTAL	C)534		0600			24.0	236.0
	GRAND TOTAL	0	534		0600			24.0	236.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.83

DATED:	JUN 12,20	25		
KURUKSHET	ERA			
Checked by	1		2.	
		(Clerk)		(Assistant)



Roll No. 245125460

RESULT-cum-DETAILED MARKS CARD Regn. No. 24-DEO-851

MASTER OF BUSINESS ADMN SEM-02 EXAM: APR- 2025 (CBCS-CDOE)

Name : GAYATRI

Father's Name : 0 Mother's Name : 0

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks	Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	46	30	40AG	100	A+	9	04.0	36.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	48	50	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	54	30	40AG	100	A+	9	04.0	36.0
4	MBAD-204 FINANCIAL MANAGEMENT	62	30	40AG	100	0	10	04.0	40.0
5	MBAD-205 BUSINESS RESEARCH METHODS	58	30	40AG	100	0	10	04.0	40.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	51	30	40AG	100	A+	9	04.0	36.0
	TOTAL		0519		0600			24.0	228.0
	GRAND TOTAL		0519		0600			24.0	228.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.50

		(Clerk)		(Assistant)	
Checked by	1		2		
KURUKSHET	ERA				
DATED :	JUN 12,202	25			

Data of issue



CONTROLLER OF EXAMINATIONS

Roll No. 245125461

Regn. No. 24-DEO-850

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : DEEPAK KUMAR
Father's Name : JAGDISH CHANDER
Mother's Name : LALITA DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	43 28	40AG	100	А	8	04.0	32.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	47 50	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	49 29	40AG	100	A+	9	04.0	36.0
4	MBAD-204 FINANCIAL MANAGEMENT	62 28	40AG	100	0	10	04.0	40.0
5	MBAD-205 BUSINESS RESEARCH METHODS	51 28	40AG	100	A+	9	04.0	36.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	51 29	40AG	100	A+	9	04.0	36.0
	TOTAL	0495		0600			24.0	220.0
	GRAND TOTAL	0495		0600			24.0	220.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.17

		(Cleri	k)		(Assista	ant)	
Checked by	1.			2			_
KURUKSHET	ERA						
DATED:	JUN 12,2	025					



Roll No. 245125462

Regn. No. 24-DEO-846

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : SATISH KUMAR
Father's Name : BHAIYA LAL
Mother's Name : NIRMALA DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	48 28	40AG	100	A+	9	04.0	36.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	49 45	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	60 30	40AG	100	0	10	04.0	40.0
4	MBAD-204 FINANCIAL MANAGEMENT	65 27	40AG	100	0	10	04.0	40.0
5	MBAD-205 BUSINESS RESEARCH METHODS	59 21	40AG	100	A+	9	04.0	36.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	50 23	40AG	100	A	8	04.0	32.0
	TOTAL	0505		0600			24.0	224.0
	GRAND TOTAL	0505		0600			24.0	224.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.33

		(Clerk)		(Assistar	nt)
Checked by	1		2.		
KURUKSHET	ERA				
DATED :	JUN 12,20	25			



Roll No. 245125463

Regn. No. 24-DEO-845

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : PANDIT AKSHAY VINAY

Father's Name : VINAY
Mother's Name : SANGITA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	49 23	40AG	100	А	8	04.0	32.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	48 50	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	56 30	40AG	100	0	10	04.0	40.0
4	MBAD-204 FINANCIAL MANAGEMENT	64 27	40AG	100	0	10	04.0	40.0
5	MBAD-205 BUSINESS RESEARCH METHODS	62 29	40AG	100	0	10	04.0	40.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	45 30	40AG	100	A+	9	04.0	36.0
	TOTAL	0513		0600			24.0	228.0
	GRAND TOTAL	0513		0600			24.0	228.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.50

DATED : KURUKSHET	JUN 12,2	2025			
				2	
Checked by	1.			_ 2	
			(Clerk)		(Assistant)



Roll No. 245125464

Regn. No. 24-DEO-841

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : JYOTI DAGAR

Father's Name : NIRANJAN LAL DAGAR

Mother's Name : SAROJ BATI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	46 27	40AG	100	А	8	04.0	32.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	38 49	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	44 30	40AG	100	А	8	04.0	32.0
4	MBAD-204 FINANCIAL MANAGEMENT	29 28	40AG	100	B+	7	04.0	28.0
5	MBAD-205 BUSINESS RESEARCH METHODS	38 25	40AG	100	B+	7	04.0	28.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	20 27	40AG	100	С	5	04.0	20.0
	TOTAL	0401		0600			24.0	180.0
	GRAND TOTAL	0401		0600			24.0	180.0

RESULT: PASSED AND HAS OBTAINED: SGPA 7.50

		(Cler	k)	(Assistant)	
Checked by	1.		2.		
KURUKSHET	ERA				
DATED:	JUN 12,2	2025			

Data of issue

Banne

CONTROL		VITUNIC

Roll No. 245125465

Regn. No. 24-DEO-849

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : ANTARYAMI NAYAK
Father's Name : SADASIBA NAYAK
Mother's Name : KSHYANAPRAVA NAYAK

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks O	btained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	40 2	7	40AG	100	А	8	04.0	32.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	42 4	9	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	38 2	7	40AG	100	А	8	04.0	32.0
4	MBAD-204 FINANCIAL MANAGEMENT	50 2	3	40AG	100	А	8	04.0	32.0
5	MBAD-205 BUSINESS RESEARCH METHODS	39 2	9	40AG	100	А	8	04.0	32.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	25 2	8	40AG	100	В	6	04.0	24.0
	TOTAL		0417		0600			24.0	192.0
	GRAND TOTAL		0417		0600			24.0	192.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.00

		(Clerk)		(Assistant)	
Checked by	1		2		
KURUKSHET	ERA				
DATED :	JUN 12,202	25			



Roll No. 245125466

RESULT-cum-DETAILED MARKS CARD Regn. No. 24-DEO-865

MASTER OF BUSINESS ADMN SEM-02 EXAM: APR- 2025 (CBCS-CDOE)

Name : JYOTI

Father's Name : KRISHAN KUMAR Mother's Name : SAROJ DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	54 24	40AG	100	A+	9	04.0	36.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	45 44	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	50 27	40AG	100	A+	9	04.0	36.0
4	MBAD-204 FINANCIAL MANAGEMENT	54 17	40AG	100	А	8	04.0	32.0
5	MBAD-205 BUSINESS RESEARCH METHODS	50 15	40AG	100	А	8	04.0	32.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	46 16	40AG	100	B+	7	04.0	28.0
	TOTAL	0442		0600			24.0	204.0
	GRAND TOTAL	0442		0600			24.0	204.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.50

		(Clerk)		(Assistant)	
Checked by	1		2		
KURUKSHET	ERA				
DATED :	JUN 12,202	25			



Regn. No.

Roll No. 245125467

24-DEO-840

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : PRIYESH KUMAR
Father's Name : FULENA SAHU
Mother's Name : SUSHILA DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Ob	otained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	50 24	ļ	40AG	100	Α	8	04.0	32.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	41 49		40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	36 28	3	40AG	100	B+	7	04.0	28.0
4	MBAD-204 FINANCIAL MANAGEMENT	45 16	3	40AG	100	B+	7	04.0	28.0
5	MBAD-205 BUSINESS RESEARCH METHODS	32 23	3	40AG	100	B+	7	04.0	28.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	53 24	ŀ	40AG	100	A+	9	04.0	36.0
	TOTAL		0421		0600			24.0	192.0
	GRAND TOTAL		0421		0600			24.0	192.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.00

DATED:	JUN 12,2025			
KURUKSHET	ERA			
Checked by	1		2.	
		(Clerk)		(Assistant)



Roll No. 245125470

Regn. No. 24-DEO-839

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : PUNIT GUPTA
Father's Name : GOPAL GUPTA
Mother's Name : MEENA GUPTA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	45 28	40AG	100	А	8	04.0	32.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	45 45	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	52 30	40AG	100	A+	9	04.0	36.0
4	MBAD-204 FINANCIAL MANAGEMENT	66 23	40AG	100	0	10	04.0	40.0
5	MBAD-205 BUSINESS RESEARCH METHODS	52 22	40AG	100	A	8	04.0	32.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	46 25	40AG	100	A	8	04.0	32.0
	TOTAL	0479		0600			24.0	212.0
	GRAND TOTAL	0479		0600			24.0	212.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.83

		(Clerk)		(Assistant)	
Checked by	1		2		
KURUKSHET	ERA				
DATED :	JUN 12,202	25			



Roll No. 245125471

Regn. No. 24-DEO-835

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : JASRAJ AHLUWALIA

Father's Name : GURPREET SINGH AHLUWALIA

Mother's Name : MEENA AHLUWALIA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obt	ained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	49 28		40AG	100	A+	9	04.0	36.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	48 50		40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	49 30		40AG	100	A+	9	04.0	36.0
4	MBAD-204 FINANCIAL MANAGEMENT	67 29		40AG	100	0	10	04.0	40.0
5	MBAD-205 BUSINESS RESEARCH METHODS	52 30		40AG	100	A+	9	04.0	36.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	43 28		40AG	100	A	8	04.0	32.0
	TOTAL	(0503		0600			24.0	220.0
	GRAND TOTAL	С	503		0600			24.0	220.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.17

DATED : JUN 12,2025

KURUKSHETERA

Checked by 1. ______ 2. _____

Data of issue

(Clerk) (Assistant)

Banne

Roll No. 245125473

24-DEO-838

RESULT-cum-DETAILED MARKS CARD Regn. No.

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : RAJ KUMAR SAHOO Father's Name : BANCHHANIDHI SAHOO

Mother's Name : SUNDARI SAHOO

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	51 28	40AG	100	A+	9	04.0	36.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	46 50	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	48 29	40AG	100	A+	9	04.0	36.0
4	MBAD-204 FINANCIAL MANAGEMENT	60 24	40AG	100	A+	9	04.0	36.0
5	MBAD-205 BUSINESS RESEARCH METHODS	50 24	40AG	100	A	8	04.0	32.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	45 26	40AG	100	А	8	04.0	32.0
	TOTAL	0481		0600			24.0	212.0
	GRAND TOTAL	0481		0600			24.0	212.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.83

		(Clerk)		(Assistant)	
Checked by	1		2		
KURUKSHET	ERA				
DATED :	JUN 12,202	25			



Roll No. 245125474

Regn. No. 24-DEO-836

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : MUSKAN
Father's Name : ANIL KUMAR
Mother's Name : SONIA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtair	ned	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	46	24		40AG	100	Α	8	04.0	32.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	AB	AB	F	40AG	100	F	0	04.0	0
3	MBAD-203 MARKETING MANAGEMENT	50	28		40AG	100	A+	9	04.0	36.0
4	MBAD-204 FINANCIAL MANAGEMENT	АВ	AB	F	40AG	100	F	0	04.0	0
5	MBAD-205 BUSINESS RESEARCH METHODS	48	25		40AG	100	А	8	04.0	32.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	AB	AB	F	40AG	100	F	0	04.0	0
	TOTAL		**	**		0600			24.0	100.0
									12.0	100.0

RESULT: RE - TILL APR- 2027 IN: MBAD-202 MBAD-204 MBAD-206

DATED:	JUN 12,2025			
KURUKSHET	ERA			
Checked by	1.		2	
		(Clerk)		(Assistant)



Roll No. 245125475

Regn. No. 24-DEO-832

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : ARUN KUMAR
Father's Name : HAWA SINGH
Mother's Name : MAYA DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	47	30	40AG	100	A+	9	04.0	36.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	33	50	40AG	100	A+	9	04.0	36.0
3	MBAD-203 MARKETING MANAGEMENT	36	15	40AG	100	В	6	04.0	24.0
4	MBAD-204 FINANCIAL MANAGEMENT	АВ	AB F	40AG	100	F	0	04.0	0
5	MBAD-205 BUSINESS RESEARCH METHODS	40	17	40AG	100	B+	7	04.0	28.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	39	17	40AG	100	B+	7	04.0	28.0
	TOTAL		***		0600			24.0	152.0
								20.0	152.0

RESULT: RE - TILL APR- 2027 IN: MBAD-204

DATED:	JUN 12,2	025			
KURUKSHET	ERA				
Checked by	1.			_ 2.	
		((Clerk)		(Assistant)



Roll No. 245125476

24-DEO-848 Regn. No.

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM: APR-2025 (CBCS-CDOE)

Name : AKSHAY KUMAR : SURINDER KUMAR Father's Name : SEETA DEVI

Mother's Name

Data of issue

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	38 26	40AG	100	B+	7	04.0	28.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	35 45	40AG	100	A+	9	04.0	36.0
3	MBAD-203 MARKETING MANAGEMENT	42 27	40AG	100	A	8	04.0	32.0
4	MBAD-204 FINANCIAL MANAGEMENT	44 18	40AG	100	B+	7	04.0	28.0
5	MBAD-205 BUSINESS RESEARCH METHODS	34 15	40AG	100	С	5	04.0	20.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	29 15	40AG	100	С	5	04.0	20.0
	TOTAL	0368		0600			24.0	164.0
	GRAND TOTAL	0368		0600			24.0	164.0

RESULT: PASSED AND HAS OBTAINED: SGPA 6.83

		(Cler	k)		(Assistant)	
Checked by	1			2		
KURUKSHET	ERA					
DATED:	JUN 12,2	025				



CONTROLLER OF EXAMINATIONS

Roll No. 245125477

24-DEO-844 Regn. No.

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM: APR-2025 (CBCS-CDOE)

Name : SHIVANI SHARMA

: MAHENDERPAL SHARMA Father's Name

: NEELAM SHARMA Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	36 26	40AG	100	B+	7	04.0	28.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	30 47	40AG	100	A+	9	04.0	36.0
3	MBAD-203 MARKETING MANAGEMENT	45 29	40AG	100	А	8	04.0	32.0
4	MBAD-204 FINANCIAL MANAGEMENT	41 24	40AG	100	А	8	04.0	32.0
5	MBAD-205 BUSINESS RESEARCH METHODS	39 26	40AG	100	A	8	04.0	32.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	40 23	40AG	100	B+	7	04.0	28.0
	TOTAL	0406		0600			24.0	188.0
	GRAND TOTAL	0406		0600			24.0	188.0

RESULT: PASSED AND HAS OBTAINED: SGPA 7.83

> DATED: JUN 12,2025 KURUKSHETERA Checked by 1.

Data of issue

(Clerk)

(Assistant)

Roll No. 245125478

Regn. No. 24-DEO-843

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : SACHEN DEV SINGH

Father's Name : MADAN LAL Mother's Name : ANSA DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	53 29	40AG	100	A+	9	04.0	36.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	46 50	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	57 29	40AG	100	0	10	04.0	40.0
4	MBAD-204 FINANCIAL MANAGEMENT	64 28	40AG	100	0	10	04.0	40.0
5	MBAD-205 BUSINESS RESEARCH METHODS	47 30	40AG	100	A+	9	04.0	36.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	53 29	40AG	100	A+	9	04.0	36.0
	TOTAL	0515		0600			24.0	228.0
	GRAND TOTAL	0515		0600			24.0	228.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.50

			(Clerk)		(Assistant)	
Checked by	1.			_ 2		
KURUKSHET	TERA					
DATED:	JUN 12,2	2025				



Roll No. 245125482

Regn. No. 24-DEO-831

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : AJAY A

Father's Name : RAJENDER SANKHLA Mother's Name : BIMLA SANKHLA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks	s Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	42	26	40AG	100	А	8	04.0	32.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	40	49	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	46	29	40AG	100	A+	9	04.0	36.0
4	MBAD-204 FINANCIAL MANAGEMENT	53	18	40AG	100	А	8	04.0	32.0
5	MBAD-205 BUSINESS RESEARCH METHODS	47	22	40AG	100	A	8	04.0	32.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	48	24	40AG	100	А	8	04.0	32.0
	TOTAL		0444		0600			24.0	204.0
	GRAND TOTAL		0444		0600			24.0	204.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.50

			(Clerk)		(Assistant)	
Checked by	1.			2		
KURUKSHET	ERA					
DATED:	JUN 12,2	2025				



Roll No. 245125483

Regn. No. 24-DEO-827

RESULT-cum-DETAILED MARKS CARD MASTER OF BUSINESS ADMN SEM-02 EXAM: APR- 2025

(CBCS-CDOE)

Name : SACHIN JAIN

Father's Name : VINOD KUMAR JAIN

Mother's Name : SUSHMA JAIN

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	45 28	40AG	100	А	8	04.0	32.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	48 49	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	52 30	40AG	100	A+	9	04.0	36.0
4	MBAD-204 FINANCIAL MANAGEMENT	67 26	40AG	100	0	10	04.0	40.0
5	MBAD-205 BUSINESS RESEARCH METHODS	48 28	40AG	100	A+	9	04.0	36.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	45 23	40AG	100	A	8	04.0	32.0
	TOTAL	0489		0600			24.0	216.0
	GRAND TOTAL	0489		0600			24.0	216.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.00

			(Clerk)		(Assistant)	
Checked by	1.			2		
KURUKSHET	ERA					
DATED:	JUN 12,2	2025				



CONTROLLER OF EXAMINATIONS

Data of issue		

Roll No. 245125484

Regn. No. 24-DEO-823

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : UDAY PATWARI
Father's Name : ADHIR PATWARI
Mother's Name : JYOTSNA PATWARI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	47	29	40AG	100	A+	9	04.0	36.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	48	50	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	57	30	40AG	100	0	10	04.0	40.0
4	MBAD-204 FINANCIAL MANAGEMENT	68	30	40AG	100	0	10	04.0	40.0
5	MBAD-205 BUSINESS RESEARCH METHODS	53	30	40AG	100	A+	9	04.0	36.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	49	30	40AG	100	A+	9	04.0	36.0
	TOTAL		0521		0600			24.0	228.0
	GRAND TOTAL		0521		0600			24.0	228.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.50

DATED:	JUN 12,2025			
KURUKSHET	ERA			
Checked by	1		2	
		(Clerk)		(Assistant)



Roll No. 245125485

RESULT-cum-DETAILED MARKS CARD Regn. No. 24-DEO-830

MASTER OF BUSINESS ADMN SEM-02 EXAM: APR- 2025 (CBCS-CDOE)

Name : AABHI SHARMA
Father's Name : MUKESH KUMAR
Mother's Name : USHA DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	41 18	40AG	100	B+	7	04.0	28.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	43 44	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	56 24	40AG	100	A+	9	04.0	36.0
4	MBAD-204 FINANCIAL MANAGEMENT	60 26	40AG	100	0	10	04.0	40.0
5	MBAD-205 BUSINESS RESEARCH METHODS	47 20	40AG	100	А	8	04.0	32.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	46 20	40AG	100	A	8	04.0	32.0
	TOTAL	0445		0600			24.0	208.0
	GRAND TOTAL	0445		0600			24.0	208.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.67

		(Clerk)		(Assistar	nt)
Checked by	1		2.		
KURUKSHET	ERA				
DATED :	JUN 12,20	25			

Data of issue

Banne

Roll No. 245125486

24-DEO-822

RESULT-cum-DETAILED MARKS CARD Regn. No.

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : KUMAR BALU
Father's Name : HAWA SINGH
Mother's Name : SANTOSH DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtaiı	ned	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	30	13		40AG	100	С	5	04.0	20.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	30	30		40AG	100	B+	7	04.0	28.0
3	MBAD-203 MARKETING MANAGEMENT	24	10	F	40AG	100	F	0	04.0	0
4	MBAD-204 FINANCIAL MANAGEMENT	35	15		40AG	100	В	6	04.0	24.0
5	MBAD-205 BUSINESS RESEARCH METHODS	33	14		40AG	100	С	5	04.0	20.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	24	10	F	40AG	100	F	0	04.0	0
	TOTAL		*	**		0600			24.0	092.0
									24.0	92.0

RESULT: RE - TILL APR- 2027 IN: MBAD-203 MBAD-206

DATED:	JUN 12,2	2025			
KURUKSHET	ERA				
Checked by	1.			_ 2.	
		(Clerk)		(Assistant)



Roll No. 245125487

Regn. No. 24-DEO-837

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : MANISH KUMAR

Father's Name : MAHESH KUMAR SHARMA

Mother's Name : SARITA SHARMA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks	Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	45	28	40AG	100	А	8	04.0	32.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	43	49	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	45	29	40AG	100	A	8	04.0	32.0
4	MBAD-204 FINANCIAL MANAGEMENT	55	28	40AG	100	A+	9	04.0	36.0
5	MBAD-205 BUSINESS RESEARCH METHODS	46	28	40AG	100	А	8	04.0	32.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	46	27	40AG	100	A	8	04.0	32.0
	TOTAL		0469		0600			24.0	204.0
	GRAND TOTAL		0469		0600			24.0	204.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.50

			(Clerk)		(Assistant)	
Checked by	1.			_ 2		
KURUKSHET	ΓERA					
DATED:	JUN 12,2	2025				



Regn. No.

Roll No. 245125488

24-DEO-818

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : PRASHANT ARORA
Father's Name : SATISH ARORA
Mother's Name : ANITA ARORA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	52 29	40AG	100	A+	9	04.0	36.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	45 50	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	53 30	40AG	100	A+	9	04.0	36.0
4	MBAD-204 FINANCIAL MANAGEMENT	65 30	40AG	100	0	10	04.0	40.0
5	MBAD-205 BUSINESS RESEARCH METHODS	54 30	40AG	100	A+	9	04.0	36.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	45 30	40AG	100	A+	9	04.0	36.0
	TOTAL	0513		0600			24.0	224.0
	GRAND TOTAL	0513		0600			24.0	224.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.33

DATED:	JUN 12,2025			
KURUKSHET	ERA			
Checked by	1		2.	
		(Clerk)		(Assistant)



Roll No. 245125489

Regn. No. 24-DEO-819

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : NEETIGYA GUPTA
Father's Name : ARUN KUMAR GUPTA
Mother's Name : ANJALI GUPTA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	50 21	40AG	100	А	8	04.0	32.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	43 44	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	50 21	40AG	100	A	8	04.0	32.0
4	MBAD-204 FINANCIAL MANAGEMENT	62 27	40AG	100	0	10	04.0	40.0
5	MBAD-205 BUSINESS RESEARCH METHODS	42 18	40AG	100	B+	7	04.0	28.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	44 19	40AG	100	B+	7	04.0	28.0
	TOTAL	0441		0600			24.0	200.0
	GRAND TOTAL	0441		0600			24.0	200.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.33

		(Clerk)		(Assistant)	
Checked by	1		2		
KURUKSHET	ERA				
DATED :	JUN 12,2025	5			



Roll No. 245125490

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-817

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : DEEPAK
Father's Name : DHARM PAL
Mother's Name : SANGEETA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	53 29	40AG	100	A+	9	04.0	36.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	48 50	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	59 30	40AG	100	0	10	04.0	40.0
4	MBAD-204 FINANCIAL MANAGEMENT	66 30	40AG	100	0	10	04.0	40.0
5	MBAD-205 BUSINESS RESEARCH METHODS	56 30	40AG	100	0	10	04.0	40.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	53 30	40AG	100	A+	9	04.0	36.0
	TOTAL	0534		0600			24.0	232.0
	GRAND TOTAL	0534		0600			24.0	232.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.67

		(Clerk)		(Assistant)	
Checked by	1		2		
KURUKSHET	ERA				
DATED:	JUN 12,202	5			

Data of issue

Banne

Roll No. 245125491

Regn. No. 24-DEO-821

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : JATIN GOSSAIN
Father's Name : SUNIL KUMAR
Mother's Name : KIRAN BALA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	46 25	40AG	100	А	8	04.0	32.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	44 50	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	45 27	40AG	100	A	8	04.0	32.0
4	MBAD-204 FINANCIAL MANAGEMENT	60 18	40AG	100	A+	9	04.0	36.0
5	MBAD-205 BUSINESS RESEARCH METHODS	52 21	40AG	100	A	8	04.0	32.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	41 18	40AG	100	B+	7	04.0	28.0
	TOTAL	0447		0600			24.0	200.0
	GRAND TOTAL	0447		0600			24.0	200.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.33

		(Clerk)		(Assistant)	
Checked by	1		2		
KURUKSHET	ERA				
DATED :	JUN 12,202	25			



Roll No. 245125492

RESULT-cum-DETAILED MARKS CARD Regn. No. 24-DEO-813

MASTER OF BUSINESS ADMN SEM-02 EXAM: APR- 2025 (CBCS-CDOE)

Name : VIKSI
Father's Name : JASBIR
Mother's Name : SARLA RANI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Ob	tained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	43 29	١	40AG	100	Α	8	04.0	32.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	48 50)	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	49 30)	40AG	100	A+	9	04.0	36.0
4	MBAD-204 FINANCIAL MANAGEMENT	51 30)	40AG	100	A+	9	04.0	36.0
5	MBAD-205 BUSINESS RESEARCH METHODS	52 30)	40AG	100	A+	9	04.0	36.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	48 30)	40AG	100	A+	9	04.0	36.0
	TOTAL	(0490		0600			24.0	216.0
	GRAND TOTAL	(0490		0600			24.0	216.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.00

		(Clerk)		(Assistant)	
Checked by	1		2		
KURUKSHET	ERA				
DATED :	JUN 12,202	25			



Roll No. 245125493

Regn. No. 24-DEO-814

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : VIRENDER YADAV
Father's Name : SHIV BALAK PARSHAD

Mother's Name : MANTI DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks (Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	35 3	30	40AG	100	А	8	04.0	32.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	48 5	50	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	46 3	30	40AG	100	A+	9	04.0	36.0
4	MBAD-204 FINANCIAL MANAGEMENT	64 3	30	40AG	100	0	10	04.0	40.0
5	MBAD-205 BUSINESS RESEARCH METHODS	55 3	30	40AG	100	0	10	04.0	40.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	50 3	30	40AG	100	A+	9	04.0	36.0
	TOTAL		0498		0600			24.0	224.0
	GRAND TOTAL		0498		0600			24.0	224.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.33

DATED:	JUN 12,202	25		
KURUKSHET	ERA			
Checked by	1		2	
		(Clerk)		(Assistant)



Roll No. 245125494

Regn. No. 24-DEO-811

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : GAURAV GOSWAMI
Father's Name : MOHINDER SINGH
Mother's Name : AMRESH GOSWAMI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtai	ned	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	20	9	F	40AG	100	F	0	04.0	0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	45	45		40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	16	7	F	40AG	100	F	0	04.0	0
4	MBAD-204 FINANCIAL MANAGEMENT	17	7	F	40AG	100	F	0	04.0	0
5	MBAD-205 BUSINESS RESEARCH METHODS	10	4	F	40AG	100	F	0	04.0	0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	14	6	F	40AG	100	F	0	04.0	0
	TOTAL		*	**		0600			24.0	040.0
									24.0	40.0

RESULT: RE - TILL APR- 2027 IN: MBAD-201 MBAD-203 MBAD-204 MBAD-205 MBAD-206

DATED:	JUN 12,2025			
KURUKSHET	ERA			
Checked by	1.		_ 2	
		(Clerk)		(Assistant)



Roll No. 245125495

Regn. No. 24-DEO-812

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : NEHA MALIK

Father's Name : ASHOK KUMAR MALIK

Mother's Name : SUSHMA MALIK

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	50 28	40AG	100	A+	9	04.0	36.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	47 50	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	52 27	40AG	100	A+	9	04.0	36.0
4	MBAD-204 FINANCIAL MANAGEMENT	65 26	40AG	100	0	10	04.0	40.0
5	MBAD-205 BUSINESS RESEARCH METHODS	48 26	40AG	100	А	8	04.0	32.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	46 26	40AG	100	A	8	04.0	32.0
	TOTAL	0491		0600			24.0	216.0
	GRAND TOTAL	0491		0600			24.0	216.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.00

DATED : JUN 12,2025

KURUKSHETERA

Checked by 1. ______ 2. _____

(Clerk) (Assistant)

Banan

CONTROLLER OF EXAMINATIONS

Roll No. 245125496

Regn. No. 24-DEO-834

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : VILAS WAHI

Father's Name : SANJAY KUMAR WAHI

Mother's Name : RAJNI WAHI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	48 28	40AG	100	A+	9	04.0	36.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	45 49	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	55 30	40AG	100	0	10	04.0	40.0
4	MBAD-204 FINANCIAL MANAGEMENT	56 28	40AG	100	A+	9	04.0	36.0
5	MBAD-205 BUSINESS RESEARCH METHODS	45 28	40AG	100	А	8	04.0	32.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	45 19	40AG	100	B+	7	04.0	28.0
	TOTAL	0476		0600			24.0	212.0
	GRAND TOTAL	0476		0600			24.0	212.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.83

DATED : JUN 12,2025

KURUKSHETERA

Checked by 1. ______ 2. _____

(Clerk) (Assistant)

Banan

CONTROLLER OF EXAMINATIONS

Data of issue		

Roll No. 245125498

Regn. No. 24-DEO-807

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : DEEPIKA

Father's Name : JITENDR KUMAR

Mother's Name : GEETA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	48 25	40AG	100	А	8	04.0	32.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	43 44	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	49 25	40AG	100	А	8	04.0	32.0
4	MBAD-204 FINANCIAL MANAGEMENT	60 23	40AG	100	A+	9	04.0	36.0
5	MBAD-205 BUSINESS RESEARCH METHODS	37 21	40AG	100	B+	7	04.0	28.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	42 21	40AG	100	B+	7	04.0	28.0
	TOTAL	0438		0600			24.0	196.0
	GRAND TOTAL	0438		0600			24.0	196.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.17

DATED: JUN 12,2025

KURUKSHETERA

Checked by 1. _______ 2. _____

(Clerk) (Assistant)

Data of issue

Bound

CONTROLL	ER OF E	EXAMIN	ATIONS

Roll No. 245125499

Regn. No. 24-DEO-806

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : RAHUL SHARMA

Father's Name : SHEO SHANKAR SHARMA

Mother's Name : KAMALA SHARMA

Institute . CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtain	ed	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	51	22		40AG	100	А	8	04.0	32.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	AB	AB	F	40AG	100	F	0	04.0	0
3	MBAD-203 MARKETING MANAGEMENT	60	26		40AG	100	0	10	04.0	40.0
4	MBAD-204 FINANCIAL MANAGEMENT	АВ	AB	F	40AG	100	F	0	04.0	0
5	MBAD-205 BUSINESS RESEARCH METHODS	56	24		40AG	100	A+	9	04.0	36.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	АВ	AB	F	40AG	100	F	0	04.0	0
	TOTAL		**	**		0600			24.0	108.0
									12.0	108.0

RESULT: RE - TILL APR- 2027 IN: MBAD-202 MBAD-204 MBAD-206

DATED : JUN 12,2025

KURUKSHETERA

Checked by 1. ______ 2. _____

Data of issue

(Clerk) (Assistant)

Banne

Roll No. 245125501

Regn. No. 24-DEO-816

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : MANISH
Father's Name : RAJA
Mother's Name : SUSHILA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	34 30	40AG	100	B+	7	04.0	28.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	43 50	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	41 30	40AG	100	А	8	04.0	32.0
4	MBAD-204 FINANCIAL MANAGEMENT	58 29	40AG	100	0	10	04.0	40.0
5	MBAD-205 BUSINESS RESEARCH METHODS	43 30	40AG	100	A	8	04.0	32.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	22 30	40AG	100	В	6	04.0	24.0
	TOTAL	0440		0600			24.0	196.0
	GRAND TOTAL	0440		0600			24.0	196.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.17

		(Clerk)		(Assistant)	
Checked by	1		2.		
KURUKSHET	ERA				
DATED:	JUN 12,20	25			



Roll No. 245125502

Regn. No. 24-DEO-804

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : ANKIT

Father's Name : JITENDER KUMAR Mother's Name : SUMAN DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	58 25	40AG	100	A+	9	04.0	36.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	49 44	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	54 27	40AG	100	A+	9	04.0	36.0
4	MBAD-204 FINANCIAL MANAGEMENT	65 24	40AG	100	0	10	04.0	40.0
5	MBAD-205 BUSINESS RESEARCH METHODS	55 25	40AG	100	A+	9	04.0	36.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	49 24	40AG	100	A	8	04.0	32.0
	TOTAL	0499		0600			24.0	220.0
	GRAND TOTAL	0499		0600			24.0	220.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.17

·	•	(Cle	 rk)	(Assist	ant)
Checked by	1.		2.		
KURUKSHET	ERA				
DATED:	JUN 12,2	2025			



Roll No. 245125504

Regn. No. 24-DEO-808

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : AMIT KUMAR DAS Father's Name : SWAPAN KUMAR DAS

Mother's Name : MANJU DAS

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	39	17	40AG	100	B+	7	04.0	28.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	43	44	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	44	19	40AG	100	B+	7	04.0	28.0
4	MBAD-204 FINANCIAL MANAGEMENT	48	21	40AG	100	А	8	04.0	32.0
5	MBAD-205 BUSINESS RESEARCH METHODS	32	14	40AG	100	С	5	04.0	20.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	28	12	40AG	100	P	4	04.0	16.0
	TOTAL		0361		0600			24.0	164.0
	GRAND TOTAL		0361		0600			24.0	164.0

RESULT: PASSED AND HAS OBTAINED: SGPA 6.83

			(Clerk)		(Assistant)	
Checked by	1.			_ 2		
KURUKSHET	TERA					
DATED:	JUN 12,2	2025				



Roll No. 245125505

Regn. No. 24-DEO-805

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : JITENDER

Father's Name : MAHENDER SINGH

Mother's Name : SAROJ

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	44 29	40AG	100	А	8	04.0	32.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	46 49	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	57 29	40AG	100	0	10	04.0	40.0
4	MBAD-204 FINANCIAL MANAGEMENT	62 29	40AG	100	0	10	04.0	40.0
5	MBAD-205 BUSINESS RESEARCH METHODS	53 30	40AG	100	A+	9	04.0	36.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	48 29	40AG	100	A+	9	04.0	36.0
	TOTAL	0505		0600			24.0	224.0
	GRAND TOTAL	0505		0600			24.0	224.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.33

DATED : JUN 12,2025

KURUKSHETERA

Checked by 1. ______ 2. _____

(Clerk) (Assistant)

Lieik) (Assistar

CONTROLLER OF EXAMINATIONS

Roll No. 245125507

Regn. No. 24-DEO-871

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : AJAY SHARMA
Father's Name : ANAND KUMAR
Mother's Name : SUMITRA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	48 28	40AG	100	A+	9	04.0	36.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	42 49	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	59 29	40AG	100	0	10	04.0	40.0
4	MBAD-204 FINANCIAL MANAGEMENT	65 26	40AG	100	0	10	04.0	40.0
5	MBAD-205 BUSINESS RESEARCH METHODS	49 29	40AG	100	A+	9	04.0	36.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	53 28	40AG	100	A+	9	04.0	36.0
	TOTAL	0505		0600			24.0	228.0
	GRAND TOTAL	0505		0600			24.0	228.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.50

		(Clerk)		(Assistant)	
Checked by	1		2		
KURUKSHET	ERA				
DATED:	JUN 12,202	5			

Data of issue

Banne

Roll No. 245125508

Regn. No. 24-DEO-802

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : DIKSHA

Father's Name : MUKESH KUMAR

Mother's Name : MAYA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obta	ined	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	51 30		40AG	100	A+	9	04.0	36.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	47 50		40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	58 30		40AG	100	0	10	04.0	40.0
4	MBAD-204 FINANCIAL MANAGEMENT	65 30		40AG	100	0	10	04.0	40.0
5	MBAD-205 BUSINESS RESEARCH METHODS	56 30		40AG	100	0	10	04.0	40.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	48 29		40AG	100	A+	9	04.0	36.0
	TOTAL	0.	524		0600			24.0	232.0
	GRAND TOTAL	0!	524		0600			24.0	232.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.67

		(CI	erk)		(Assistant)	
Checked by	1.			2		
KURUKSHET	ERA					
DATED:	JUN 12,2	2025				



Roll No. 245125510

Regn. No. 24-DEO-801

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : NAMENDER KUMAR

Father's Name : BIRBHAN
Mother's Name : MOHINI DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks	o Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	55	29	40AG	100	A+	9	04.0	36.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	45	50	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	53	30	40AG	100	A+	9	04.0	36.0
4	MBAD-204 FINANCIAL MANAGEMENT	64	30	40AG	100	0	10	04.0	40.0
5	MBAD-205 BUSINESS RESEARCH METHODS	53	30	40AG	100	A+	9	04.0	36.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	52	30	40AG	100	A+	9	04.0	36.0
	TOTAL		0521		0600			24.0	224.0
	GRAND TOTAL		0521		0600			24.0	224.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.33

_		(C	lerk)		(Assistant)	
Checked by	1.			2		
KURUKSHET	TERA					
DATED :	JUN 12,2	2025				



Roll No. 245125512

RESULT-cum-DETAILED MARKS CARD Regn. No. 24-DEO-795

MASTER OF BUSINESS ADMN SEM-02 EXAM: APR- 2025 (CBCS-CDOE)

Name : ANIKET BANSAL
Father's Name : PANKAJ BANSAL
Mother's Name : NEELAM BANSAL

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtain	ied	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	33	21		40AG	100	В	6	04.0	24.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	37	39		40AG	100	A+	9	04.0	36.0
3	MBAD-203 MARKETING MANAGEMENT	54	16		40AG	100	А	8	04.0	32.0
4	MBAD-204 FINANCIAL MANAGEMENT	52	16		40AG	100	А	8	04.0	32.0
5	MBAD-205 BUSINESS RESEARCH METHODS	43	21		40AG	100	B+	7	04.0	28.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	23	10	F	40AG	100	F	0	04.0	0
	TOTAL		**	**		0600			24.0	152.0
									24.0	152.0

RESULT: RE - TILL APR- 2027 IN: MBAD-206

DATED:	JUN 12,2025			
KURUKSHET	ERA			
Checked by	1.		2	
		(Clerk)		(Assistant)



Roll No. 245125515

Regn. No. 24-DEO-791

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : VIRENDER KUMAR
Father's Name : SATBIR SINGH
Mother's Name : SHAKUNTLA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	47 28	40AG	100	A+	9	04.0	36.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	46 49	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	50 29	40AG	100	A+	9	04.0	36.0
4	MBAD-204 FINANCIAL MANAGEMENT	61 22	40AG	100	A+	9	04.0	36.0
5	MBAD-205 BUSINESS RESEARCH METHODS	49 25	40AG	100	А	8	04.0	32.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	51 26	40AG	100	A+	9	04.0	36.0
	TOTAL	0483		0600			24.0	216.0
	GRAND TOTAL	0483		0600			24.0	216.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.00

DATED:	JUN 12,2025			
KURUKSHET	ERA			
Checked by	1		2	
		(Clerk)		(Assistant)



Roll No. 245125516

24-DEO-789 Regn. No.

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM: APR-2025 (CBCS-CDOE)

Name : HIMANI THAPA

: KHEM BAHADUR THAPA Father's Name

: RENU THAPA Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	41 21	40AG	100	B+	7	04.0	28.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	41 37	40AG	100	A+	9	04.0	36.0
3	MBAD-203 MARKETING MANAGEMENT	38 22	40AG	100	B+	7	04.0	28.0
4	MBAD-204 FINANCIAL MANAGEMENT	50 17	40AG	100	А	8	04.0	32.0
5	MBAD-205 BUSINESS RESEARCH METHODS	41 14	40AG	100	B+	7	04.0	28.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	35 12	40AG	100	С	5	04.0	20.0
	TOTAL	0369		0600			24.0	172.0
	GRAND TOTAL	0369		0600			24.0	172.0

RESULT: PASSED AND HAS OBTAINED: SGPA 7.17

DATED: JUN 12,2025 KURUKSHETERA

Data of issue

Checked by 1.

(Clerk)

(Assistant)

Roll No. 245125517

Regn. No. 24-DEO-803

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : NITIKA

Father's Name : MAINPAL SINGH Mother's Name : SURESH KUMARI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	49 26	40AG	100	A+	9	04.0	36.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	44 49	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	46 29	40AG	100	A+	9	04.0	36.0
4	MBAD-204 FINANCIAL MANAGEMENT	57 18	40AG	100	A+	9	04.0	36.0
5	MBAD-205 BUSINESS RESEARCH METHODS	41 22	40AG	100	B+	7	04.0	28.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	43 24	40AG	100	A	8	04.0	32.0
	TOTAL	0448		0600			24.0	208.0
	GRAND TOTAL	0448		0600			24.0	208.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.67

Checked by	1	(Clerk)	2	(Assistant)	
KURUKSHET			2		
I COLUMNIA DE LA COLU					
DATED:	JUN 12,202	5			



Roll No. 245125518

Regn. No. 24-DEO-786

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : VIMAL KUMAR SHARMA
Father's Name : LATE SHRI BRIJESH SHARMA

Mother's Name : MANJU DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	50 29	40AG	100	A+	9	04.0	36.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	44 49	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	54 30	40AG	100	A+	9	04.0	36.0
4	MBAD-204 FINANCIAL MANAGEMENT	55 25	40AG	100	A+	9	04.0	36.0
5	MBAD-205 BUSINESS RESEARCH METHODS	41 25	40AG	100	А	8	04.0	32.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	44 29	40AG	100	А	8	04.0	32.0
	TOTAL	0475		0600			24.0	212.0
	GRAND TOTAL	0475		0600			24.0	212.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.83

Checked by	1	(Clerk)	2	(Assistant)	
KURUKSHET			2		
I COLUMNIA DE LA COLU					
DATED:	JUN 12,202	5			

Data of issue



CONTROLLER OF EXAMINATIONS

Roll No. 245125519

Regn. No. 24-DEO-788

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : CHAMAN LAL
Father's Name : LATE RAM LAL
Mother's Name : PARWATI DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtair	ned	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	08	24	F	40AG	100	F	0	04.0	0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	43	45		40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	49	27		40AG	100	A+	9	04.0	36.0
4	MBAD-204 FINANCIAL MANAGEMENT	63	17		40AG	100	A+	9	04.0	36.0
5	MBAD-205 BUSINESS RESEARCH METHODS	38	16		40AG	100	В	6	04.0	24.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	14	15	F	40AG	100	F	0	04.0	0
	TOTAL		*	**		0600			24.0	136.0
									24.0	136.0

RESULT: RE - TILL APR- 2027 IN: MBAD-201 MBAD-206

		((Clerk)		(Assistant)
Checked by	1.			2	
KURUKSHET	ERA				
DATED:	JUN 12,2	2025			



Roll No. 245125520

Regn. No. 24-DEO-787

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : VASUDEV
Father's Name : PAWAN KUMAR
Mother's Name : VEENA DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks	Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	54	29	40AG	100	A+	9	04.0	36.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	47	50	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	54	28	40AG	100	A+	9	04.0	36.0
4	MBAD-204 FINANCIAL MANAGEMENT	64	30	40AG	100	0	10	04.0	40.0
5	MBAD-205 BUSINESS RESEARCH METHODS	49	30	40AG	100	A+	9	04.0	36.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	54	30	40AG	100	A+	9	04.0	36.0
	TOTAL		0519		0600			24.0	224.0
	GRAND TOTAL		0519		0600			24.0	224.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.33

DATED:	JUN 12,2025			
KURUKSHET	ERA			
Checked by	1.		2	
		(Clerk)		(Assistant)



Roll No. 245125521

Regn. No. 24-DEO-785

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : AMRISH YADAV
Father's Name : MANINDRA YADAV
Mother's Name : MEERA YADAV

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	48 29	40AG	100	A+	9	04.0	36.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	49 49	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	58 30	40AG	100	0	10	04.0	40.0
4	MBAD-204 FINANCIAL MANAGEMENT	65 29	40AG	100	0	10	04.0	40.0
5	MBAD-205 BUSINESS RESEARCH METHODS	56 30	40AG	100	0	10	04.0	40.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	47 30	40AG	100	A+	9	04.0	36.0
	TOTAL	0520		0600			24.0	232.0
	GRAND TOTAL	0520		0600			24.0	232.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.67

DATED:	JUN 12,2	025			
KURUKSHET	ERA				
Checked by	1.		2.		
		(Cler	k)	(Assistant)	



Roll No. 245125522

Regn. No. 24-DEO-794

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : KAJAL DEVI
Father's Name : HEMRAJ
Mother's Name : SUMAN DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks	Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	47	26	40AG	100	А	8	04.0	32.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	43	49	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	48	27	40AG	100	A+	9	04.0	36.0
4	MBAD-204 FINANCIAL MANAGEMENT	53	11	40AG	100	B+	7	04.0	28.0
5	MBAD-205 BUSINESS RESEARCH METHODS	41	25	40AG	100	A	8	04.0	32.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	50	24	40AG	100	А	8	04.0	32.0
	TOTAL		0444		0600			24.0	200.0
	GRAND TOTAL		0444		0600			24.0	200.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.33

DATED:	JUN 12,2	025			
KURUKSHET	ERA				
Checked by	1.			2.	
		(C	lerk)		(Assistant)



Roll No. 245125523

Regn. No. 24-DEO-782

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : VIPIN JAIN

Father's Name : GAUTAM CHAND JAIN

Mother's Name : SHEELA JIAN

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	46	24	40AG	100	А	8	04.0	32.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	46	45	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	49	30	40AG	100	A+	9	04.0	36.0
4	MBAD-204 FINANCIAL MANAGEMENT	48	28	40AG	100	A+	9	04.0	36.0
5	MBAD-205 BUSINESS RESEARCH METHODS	51	24	40AG	100	A+	9	04.0	36.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	47	28	40AG	100	A+	9	04.0	36.0
	TOTAL		0466		0600			24.0	216.0
	GRAND TOTAL		0466		0600			24.0	216.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.00

		(0	Clerk)		(Assistant)	
Checked by	1.			2		
KURUKSHET	ERA					
DATED:	JUN 12,2	2025				



CONTROLLER OF EXAMINATIONS

Data of issue			
	Data of issue		

Roll No. 245125526

Regn. No. 24-DEO-793

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : KARTIK

Father's Name : SURESH MOHAN Mother's Name : SNEH SHARMA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	55	27	40AG	100	A+	9	04.0	36.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	10	44	40AG	100	В	6	04.0	24.0
3	MBAD-203 MARKETING MANAGEMENT	52	27	40AG	100	A+	9	04.0	36.0
4	MBAD-204 FINANCIAL MANAGEMENT	АВ	20 F	40AG	100	F	0	04.0	0
5	MBAD-205 BUSINESS RESEARCH METHODS	53	22	40AG	100	A+	9	04.0	36.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	46	15	40AG	100	B+	7	04.0	28.0
	TOTAL		***		0600			24.0	160.0
								24.0	160.0

RESULT: RE - TILL APR- 2027 IN: MBAD-204

			(Clerk)		(Assistant)	
Checked by	1.			2		
KURUKSHET	TERA					
DATED:	JUN 12,2	2025				



Roll No. 245125527

Regn. No. 24-DEO-780

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : VIPUL PANDE Father's Name : EVENDRA Mother's Name : ANITA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	50 27	40AG	100	A+	9	04.0	36.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	50 49	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	56 28	40AG	100	A+	9	04.0	36.0
4	MBAD-204 FINANCIAL MANAGEMENT	62 25	40AG	100	0	10	04.0	40.0
5	MBAD-205 BUSINESS RESEARCH METHODS	50 28	40AG	100	A+	9	04.0	36.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	52 28	40AG	100	A+	9	04.0	36.0
	TOTAL	0505		0600			24.0	224.0
	GRAND TOTAL	0505		0600			24.0	224.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.33

		(Clerk)		(Assistar	nt)
Checked by	1		2.		
KURUKSHET	ERA				
DATED:	JUN 12,20	25			



Roll No. 245125528

Regn. No. 24-DEO-784

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : AAKASH AGARWAL
Father's Name : BABLU AGRAWAL
Mother's Name : ANITA AGRAWAL

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Ob	tained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	56 28	3	40AG	100	A+	9	04.0	36.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	45 47	,	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	53 30)	40AG	100	A+	9	04.0	36.0
4	MBAD-204 FINANCIAL MANAGEMENT	61 28	3	40AG	100	0	10	04.0	40.0
5	MBAD-205 BUSINESS RESEARCH METHODS	49 29		40AG	100	A+	9	04.0	36.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	50 29		40AG	100	A+	9	04.0	36.0
	TOTAL		0505		0600			24.0	224.0
	GRAND TOTAL		0505		0600			24.0	224.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.33

		(Clerk)		(Assistant)	
Checked by	1		2		
KURUKSHET	ERA				
DATED:	JUN 12,20	25			



Roll No. 245125529

Regn. No. 24-DEO-773

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : KARTIK AHUJA
Father's Name : HARISH AHUJA
Mother's Name : LALITA AHUJA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	44 30	40AG	100	А	8	04.0	32.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	47 50	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	52 15	40AG	100	A	8	04.0	32.0
4	MBAD-204 FINANCIAL MANAGEMENT	65 29	40AG	100	0	10	04.0	40.0
5	MBAD-205 BUSINESS RESEARCH METHODS	53 17	40AG	100	A	8	04.0	32.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	52 18	40AG	100	A	8	04.0	32.0
	TOTAL	0472		0600			24.0	208.0
	GRAND TOTAL	0472		0600			24.0	208.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.67

DATED:	JUN 12,2	025			
KURUKSHET	ERA				
Checked by	1.		2.		
		(Cler	k)	(Assistant)	



Roll No. 245125530

Regn. No. 24-DEO-774

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : RAJESH KUMAR

Father's Name : TEJU RAM Mother's Name : SMT RAJ KALI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	46 29	40AG	100	A+	9	04.0	36.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	46 50	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	50 30	40AG	100	A+	9	04.0	36.0
4	MBAD-204 FINANCIAL MANAGEMENT	60 29	40AG	100	0	10	04.0	40.0
5	MBAD-205 BUSINESS RESEARCH METHODS	44 29	40AG	100	A	8	04.0	32.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	49 28	40AG	100	A+	9	04.0	36.0
	TOTAL	0490		0600			24.0	220.0
	GRAND TOTAL	0490		0600			24.0	220.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.17

·	•	(Cle	 rk)	(Assist	ant)
Checked by	1.		2.		
KURUKSHET	ERA				
DATED:	JUN 12,2	2025			

Data of issue



CONTROLLER OF EXAMINATIONS

Roll No. 245125531

Regn. No. 24-DEO-783

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : VANDANA

Father's Name : NANDAN SINGH

Mother's Name : GOPULI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	46	30	40AG	100	A+	9	04.0	36.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	47	50	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	54	24	40AG	100	A+	9	04.0	36.0
4	MBAD-204 FINANCIAL MANAGEMENT	66	27	40AG	100	0	10	04.0	40.0
5	MBAD-205 BUSINESS RESEARCH METHODS	58	30	40AG	100	0	10	04.0	40.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	39	27	40AG	100	A	8	04.0	32.0
	TOTAL		0498		0600			24.0	224.0
	GRAND TOTAL		0498		0600			24.0	224.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.33

			(Clerk)		(Assistant)
Checked by	1.			_ 2	
KURUKSHET	ERA				
DATED:	JUN 12,2	2025			



Roll No. 245125533

Regn. No. 24-DEO-863

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : NIRAJ KUMAR

Father's Name : NAWAL KISHORE SAHAY

Mother's Name : NEELAM SAHAY

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	45	27	40AG	100	А	8	04.0	32.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	41	50	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	47	29	40AG	100	A+	9	04.0	36.0
4	MBAD-204 FINANCIAL MANAGEMENT	53	26	40AG	100	A+	9	04.0	36.0
5	MBAD-205 BUSINESS RESEARCH METHODS	38	26	40AG	100	B+	7	04.0	28.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	42	24	40AG	100	A	8	04.0	32.0
	TOTAL		0448		0600			24.0	204.0
	GRAND TOTAL		0448		0600			24.0	204.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.50

DATED:	JUN 12,2	025								
KURUKSHETERA										
Checked by	1.		2.							
		(Clerk)	(Assistant)						



CONTROLL	ER OF E	EXAMIN	ATIONS

Roll No. 245125534

24-DEO-771 Regn. No.

RESULT-cum-DETAILED MARKS CARD MASTER OF BUSINESS ADMN SEM-02 EXAM: APR-2025

(CBCS-CDOE)

Name : NIPUN KUMAR

: RAVINDER KUMAR SHARMA Father's Name

: SUSHMA SHARMA Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	47	28	40AG	100	A+	9	04.0	36.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	45	49	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	50	29	40AG	100	A+	9	04.0	36.0
4	MBAD-204 FINANCIAL MANAGEMENT	63	25	40AG	100	0	10	04.0	40.0
5	MBAD-205 BUSINESS RESEARCH METHODS	45	28	40AG	100	A	8	04.0	32.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	45	23	40AG	100	A	8	04.0	32.0
	TOTAL		0477		0600			24.0	216.0
	GRAND TOTAL		0477		0600			24.0	216.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.00

DATED: JUN 12,2025 KURUKSHETERA

Data of issue

Checked by 1.

(Clerk) (Assistant)

Roll No. 245125535

Regn. No. 24-DEO-765

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : ALKA SHARMA
Father's Name : SATISH KUMAR
Mother's Name : SUMAN SHARMA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	53 29	40AG	100	A+	9	04.0	36.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	46 49	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	56 30	40AG	100	0	10	04.0	40.0
4	MBAD-204 FINANCIAL MANAGEMENT	64 25	40AG	100	0	10	04.0	40.0
5	MBAD-205 BUSINESS RESEARCH METHODS	56 27	40AG	100	A+	9	04.0	36.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	47 25	40AG	100	A	8	04.0	32.0
	TOTAL	0507		0600			24.0	224.0
	GRAND TOTAL	0507		0600			24.0	224.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.33

		(Clerk)		(Assistant)	
Checked by	1		2		
KURUKSHET	ERA				
DATED:	JUN 12,20	25			



Roll No. 245125536

Regn. No. 24-DEO-768

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : ANKUR PRAKASH PANDEY
Father's Name : NARENDRA KISHORE PANDEY

Mother's Name : ASHA PANDEY

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	23 29	40AG	100	В	6	04.0	24.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	29 50	40AG	100	A+	9	04.0	36.0
3	MBAD-203 MARKETING MANAGEMENT	52 30	40AG	100	A+	9	04.0	36.0
4	MBAD-204 FINANCIAL MANAGEMENT	36 30	40AG	100	А	8	04.0	32.0
5	MBAD-205 BUSINESS RESEARCH METHODS	37 30	40AG	100	A	8	04.0	32.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	42 30	40AG	100	A	8	04.0	32.0
	TOTAL	0418		0600			24.0	192.0
	GRAND TOTAL	0418		0600			24.0	192.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.00

Criccked by		(Clerk)		(Assistant)	-
Checked by	1		2.		
KURUKSHET	ERA				
DATED:	JUN 12,2025				



Roll No. 245125537

Regn. No. 24-DEO-764

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : ANU Father's Name : SATPAL

Mother's Name : KRISHNA DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obta	ined Minimun Pass Marl		Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	52 29	40)AG 100	A+	9	04.0	36.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	49 50	40)AG 100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	53 30	40)AG 100	A+	9	04.0	36.0
4	MBAD-204 FINANCIAL MANAGEMENT	64 29	40)AG 100	0	10	04.0	40.0
5	MBAD-205 BUSINESS RESEARCH METHODS	53 30	40)AG 100	A+	9	04.0	36.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	52 30	40)AG 100	A+	9	04.0	36.0
	TOTAL	05	521	0600			24.0	224.0
	GRAND TOTAL	05	521	0600			24.0	224.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.33

DATED:	JUN 12,2025										
KURUKSHETERA											
Checked by	1.		2								
		(Clerk)		(Assistant)							



Roll No. 245125538

Regn. No. 24-DEO-766

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : DHEERAJ KUMAR PANCHAL

Father's Name : ANAND SINGH Mother's Name : ANITA KUMARI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	59	27	40AG	100	0	10	04.0	40.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	38	47	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	44	29	40AG	100	A	8	04.0	32.0
4	MBAD-204 FINANCIAL MANAGEMENT	АВ	22 F	40AG	100	F	0	04.0	0
5	MBAD-205 BUSINESS RESEARCH METHODS	18	26	40AG	100	С	5	04.0	20.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	28	26	40AG	100	В	6	04.0	24.0
	TOTAL		***		0600			24.0	156.0
								24.0	156.0

RESULT: RE - TILL APR- 2027 IN: MBAD-204

			(Clerk)		(Assistant)	
Checked by	1.			2		
KURUKSHET	ERA					
DATED:	JUN 12,2	2025				

Data of issue

Banne

4	CONTROL	\cap E	EAVW.	INATIONS

Roll No. 245125539

Regn. No. 24-DEO-799

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : JAGDISH PRASHAD
Father's Name : CHIRANJILAL YADAV
Mother's Name : BHAGWATI DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	45 27	40AG	100	А	8	04.0	32.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	44 49	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	45 27	40AG	100	А	8	04.0	32.0
4	MBAD-204 FINANCIAL MANAGEMENT	58 24	40AG	100	A+	9	04.0	36.0
5	MBAD-205 BUSINESS RESEARCH METHODS	45 27	40AG	100	A	8	04.0	32.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	45 25	40AG	100	А	8	04.0	32.0
	TOTAL	0461		0600			24.0	204.0
	GRAND TOTAL	0461		0600			24.0	204.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.50

DATED:	JUN 12,2025			
KURUKSHET	ERA			
Checked by	1.		2	
		(Clerk)		(Assistant)



Roll No. 245125540

Regn. No. 24-DEO-762

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : GEETANSH VERMA

Father's Name : DHARMINDER PAL VERMA

Mother's Name : BABITA RANI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks	o Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	57	30	40AG	100	0	10	04.0	40.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	48	49	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	55	25	40AG	100	A+	9	04.0	36.0
4	MBAD-204 FINANCIAL MANAGEMENT	66	30	40AG	100	0	10	04.0	40.0
5	MBAD-205 BUSINESS RESEARCH METHODS	58	30	40AG	100	0	10	04.0	40.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	49	30	40AG	100	A+	9	04.0	36.0
	TOTAL		0527		0600			24.0	232.0
	GRAND TOTAL		0527		0600			24.0	232.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.67

·		(Cle		(Assistant)	
Checked by	1.		2.		
KURUKSHET	ERA				
DATED:	JUN 12,2	025			



Roll No. 245125541

Regn. No. 24-DEO-824

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : AKASH TANDON
Father's Name : SATYA PAL TANDON
Mother's Name : SUMITRA TANDON

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	45	20	40AG	100	А	8	04.0	32.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	45	50	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	57	28	40AG	100	0	10	04.0	40.0
4	MBAD-204 FINANCIAL MANAGEMENT	59	25	40AG	100	A+	9	04.0	36.0
5	MBAD-205 BUSINESS RESEARCH METHODS	55	24	40AG	100	A+	9	04.0	36.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	46	20	40AG	100	A	8	04.0	32.0
	TOTAL		0474		0600			24.0	216.0
	GRAND TOTAL		0474		0600			24.0	216.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.00

		(Clerk)		(Assistant)	
Checked by	1		2		
KURUKSHET	ERA				
DATED:	JUN 12,20	25			



Regn. No.

Roll No. 245125542

24-DEO-781

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : HEENA VERMA
Father's Name : VIJENDER
Mother's Name : MEENA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	33 24	40AG	100	B+	7	04.0	28.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	28 45	40AG	100	А	8	04.0	32.0
3	MBAD-203 MARKETING MANAGEMENT	34 29	40AG	100	B+	7	04.0	28.0
4	MBAD-204 FINANCIAL MANAGEMENT	38 19	40AG	100	B+	7	04.0	28.0
5	MBAD-205 BUSINESS RESEARCH METHODS	50 23	40AG	100	А	8	04.0	32.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	51 18	40AG	100	A	8	04.0	32.0
	TOTAL	0392		0600			24.0	180.0
	GRAND TOTAL	0392		0600			24.0	180.0

RESULT: PASSED AND HAS OBTAINED: SGPA 7.50

DATED:	JUN 12,2025			
KURUKSHET	ERA			
Checked by	1		_ 2	
		(Clerk)		(Assistant)



Roll No. 245125543

24-DEO-763

RESULT-cum-DETAILED MARKS CARD Regn. No.

MASTER OF BUSINESS ADMN SEM-02 EXAM: APR- 2025 (CBCS-CDOE)

Name : SAVITA CHOPRA Father's Name : RAJINDER CHOPRA

Mother's Name : KANTA DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	45	29	40AG	100	А	8	04.0	32.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	43	39	40AG	100	A+	9	04.0	36.0
3	MBAD-203 MARKETING MANAGEMENT	46	27	40AG	100	А	8	04.0	32.0
4	MBAD-204 FINANCIAL MANAGEMENT	62	27	40AG	100	0	10	04.0	40.0
5	MBAD-205 BUSINESS RESEARCH METHODS	39	23	40AG	100	B+	7	04.0	28.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	48	23	40AG	100	A	8	04.0	32.0
	TOTAL		0451		0600			24.0	200.0
	GRAND TOTAL		0451		0600			24.0	200.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.33

		(Cler	·k)		(Assistant)	
Checked by	1.			2		
KURUKSHET	ERA					
DATED:	JUN 12,2	025				



Roll No. 245125544

RESULT-cum-DETAILED MARKS CARD Regn. No. 24-DEO-860

MASTER OF BUSINESS ADMN SEM-02 EXAM: APR- 2025 (CBCS-CDOE)

Name : BOKADE BHUPENDRA GANGADHAR

Father's Name : GANGADHAR Mother's Name : RAJESHREEBEN

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	58 28	40AG	100	0	10	04.0	40.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	35 50	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	57 30	40AG	100	0	10	04.0	40.0
4	MBAD-204 FINANCIAL MANAGEMENT	63 25	40AG	100	0	10	04.0	40.0
5	MBAD-205 BUSINESS RESEARCH METHODS	47 30	40AG	100	A+	9	04.0	36.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	48 29	40AG	100	A+	9	04.0	36.0
	TOTAL	0500		0600			24.0	232.0
	GRAND TOTAL	0500		0600			24.0	232.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.67

DATED:	JUN 12,2	025			
KURUKSHET	ERA				
Checked by	1.			2.	
			(Clerk)		(Assistant)



Roll No. 245125545

Regn. No. 24-DEO-758

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : JOYDEEP BHATTACHARYA
Father's Name : AMIT BHATTACHARYA
Mother's Name : RATNA BHATTACHARYA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	58 29	40AG	100	0	10	04.0	40.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	48 50	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	55 30	40AG	100	0	10	04.0	40.0
4	MBAD-204 FINANCIAL MANAGEMENT	62 20	40AG	100	A+	9	04.0	36.0
5	MBAD-205 BUSINESS RESEARCH METHODS	61 30	40AG	100	0	10	04.0	40.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	51 30	40AG	100	A+	9	04.0	36.0
	TOTAL	0524		0600			24.0	232.0
	GRAND TOTAL	0524		0600			24.0	232.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.67

DATED:	JUN 12,202	5		
KURUKSHET	ERA			
Checked by	1		2.	
		(Clerk)		(Assistant)



Roll No. 245125547

Regn. No. 24-DEO-772

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : SACHIN SHEORAN

Father's Name : RAJ KUMAR Mother's Name : PUSHAPLATA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	23	25	40AG	100	С	5	04.0	20.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	42	50	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	52	27	40AG	100	A+	9	04.0	36.0
4	MBAD-204 FINANCIAL MANAGEMENT	35	21	40AG	100	B+	7	04.0	28.0
5	MBAD-205 BUSINESS RESEARCH METHODS	42	28	40AG	100	A	8	04.0	32.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	38	25	40AG	100	B+	7	04.0	28.0
	TOTAL		0408		0600			24.0	184.0
	GRAND TOTAL		0408		0600			24.0	184.0

RESULT: PASSED AND HAS OBTAINED: SGPA 7.67

Checked by	1	(Cle	mls)	۷	(Assistant)
Charles d bee	4			2	
KURUKSHET	ERA				
DATED:	JUN 12,2	025			

Data of issue



CONTROLLER OF EXAMINATIONS

Regn. No.

Roll No. 245125548

24-DEO-760

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : PANCHAL PRASAD CHANDRAKANT
Father's Name : CHANDRAKANT NARAYAN PANCHAL
Mother's Name : USHA CHANDRAKANT PANCHAL

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks	s Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	44	29	40AG	100	А	8	04.0	32.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	47	45	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	55	30	40AG	100	0	10	04.0	40.0
4	MBAD-204 FINANCIAL MANAGEMENT	65	25	40AG	100	0	10	04.0	40.0
5	MBAD-205 BUSINESS RESEARCH METHODS	55	28	40AG	100	A+	9	04.0	36.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	46	26	40AG	100	A	8	04.0	32.0
	TOTAL		0495		0600			24.0	220.0
	GRAND TOTAL		0495		0600			24.0	220.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.17

		(Clerk)		(Assistar	nt)
Checked by	1		2.		
KURUKSHET	ERA				
DATED:	JUN 12,20	25			



Roll No. 245125549

Regn. No. 24-DEO-756

RESULT-cum-DETAILED MARKS CARD MASTER OF BUSINESS ADMN SEM-02 EXAM: APR- 2025

(CBCS-CDOE)

Name : AYUSH RAWAT
Father's Name : PREM SINGH RAWAT
Mother's Name : MANJU RAWAT

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks C	Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	32 2	29	40AG	100	B+	7	04.0	28.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	25 4	14	40AG	100	А	8	04.0	32.0
3	MBAD-203 MARKETING MANAGEMENT	29 2	27	40AG	100	B+	7	04.0	28.0
4	MBAD-204 FINANCIAL MANAGEMENT	33 2	23	40AG	100	B+	7	04.0	28.0
5	MBAD-205 BUSINESS RESEARCH METHODS	33 2	21	40AG	100	В	6	04.0	24.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	22 2	29	40AG	100	В	6	04.0	24.0
	TOTAL		0347		0600			24.0	164.0
	GRAND TOTAL		0347		0600			24.0	164.0

RESULT: PASSED AND HAS OBTAINED: SGPA 6.83

,	_	(Clerk)	(Assistant))
Checked by	1.		2.		
KURUKSHET	ERA				
DATED:	JUN 12,20	025			



Roll No. 245125550

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-753

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : RAHUL KUMAR SINGH
Father's Name : RAMADHAR SINGH
Mother's Name : LATE SUNDARI DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks	Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	46	30	40AG	100	A+	9	04.0	36.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	45	50	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	54	30	40AG	100	A+	9	04.0	36.0
4	MBAD-204 FINANCIAL MANAGEMENT	64	26	40AG	100	0	10	04.0	40.0
5	MBAD-205 BUSINESS RESEARCH METHODS	55	30	40AG	100	0	10	04.0	40.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	46	26	40AG	100	A	8	04.0	32.0
	TOTAL		0502		0600			24.0	224.0
	GRAND TOTAL		0502		0600			24.0	224.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.33

		(Clerk)		(Assistant)	
Checked by	1		2		
KURUKSHET	ERA				
DATED:	JUN 12,20	25			



Roll No. 245125551

Regn. No. 24-DEO-761

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : KOMMIDI REDDY

Father's Name : KOMMIDI THIRUPATI REDDY

Mother's Name : KOMMIDI VANAJA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks (Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	49 2	28	40AG	100	A+	9	04.0	36.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	43	50	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	55 2	29	40AG	100	A+	9	04.0	36.0
4	MBAD-204 FINANCIAL MANAGEMENT	62 2	21	40AG	100	A+	9	04.0	36.0
5	MBAD-205 BUSINESS RESEARCH METHODS	43 2	29	40AG	100	A	8	04.0	32.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	42 2	27	40AG	100	A	8	04.0	32.0
	TOTAL		0478		0600			24.0	212.0
	GRAND TOTAL		0478		0600			24.0	212.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.83

DATED : JUN 12,2025

KURUKSHETERA

Checked by 1. ______ 2. _____

(Clerk) (Assistant)

Ranne

CONTROLLER OF EXAMINATIONS

Data of issue _____

Roll No. 245125554

Regn. No. 24-DEO-754

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : ANU DEVI
Father's Name : AMAR SINGH
Mother's Name : GIAN DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtaine	d Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	35 27	40AG	100	B+	7	04.0	28.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	35 50	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	34 29	40AG	100	B+	7	04.0	28.0
4	MBAD-204 FINANCIAL MANAGEMENT	47 24	40AG	100	А	8	04.0	32.0
5	MBAD-205 BUSINESS RESEARCH METHODS	31 21	40AG	100	В	6	04.0	24.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	33 21	40AG	100	В	6	04.0	24.0
	TOTAL	038	7	0600			24.0	176.0
	GRAND TOTAL	0387	7	0600			24.0	176.0

RESULT: PASSED AND HAS OBTAINED: SGPA 7.33

DATED:	JUN 12,2025			
KURUKSHET	ERA			
Checked by	1		2.	
		(Clerk)		(Assistant)



Roll No. 245125555

Regn. No. 24-DEO-777

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : RAKSHITA BHATIA Father's Name : VIJAY MUKESH BHATIA

Mother's Name : SAVITA BHATIA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	55	29	40AG	100	A+	9	04.0	36.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	49	50	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	56	30	40AG	100	0	10	04.0	40.0
4	MBAD-204 FINANCIAL MANAGEMENT	65	29	40AG	100	0	10	04.0	40.0
5	MBAD-205 BUSINESS RESEARCH METHODS	61	30	40AG	100	0	10	04.0	40.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	50	30	40AG	100	A+	9	04.0	36.0
	TOTAL		0534		0600			24.0	232.0
	GRAND TOTAL		0534		0600			24.0	232.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.67

DATED:	JUN 12,2025			
KURUKSHET	ERA			
Checked by	1.		_ 2	
		(Clerk)		(Assistant)



Roll No. 245125557

Regn. No. 24-DEO-749

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : TANNU KUMARI Father's Name : AJAY PATHAK

Mother's Name : KUMARI SARITA DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	54 29	40AG	100	A+	9	04.0	36.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	49 50	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	55 30	40AG	100	0	10	04.0	40.0
4	MBAD-204 FINANCIAL MANAGEMENT	66 30	40AG	100	0	10	04.0	40.0
5	MBAD-205 BUSINESS RESEARCH METHODS	60 30	40AG	100	0	10	04.0	40.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	49 30	40AG	100	A+	9	04.0	36.0
	TOTAL	0532		0600			24.0	232.0
	GRAND TOTAL	0532		0600			24.0	232.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.67

DATED:	JUN 12,2	025			
KURUKSHET	ERA				
Checked by	1.			_ 2.	
		((Clerk)		(Assistant)



Roll No. 245125558

Regn. No. 24-DEO-748

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : PUNSE VEDIKA SUNIL

Father's Name : SUNIL Mother's Name : LATA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	56 29	40AG	100	0	10	04.0	40.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	47 49	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	54 30	40AG	100	A+	9	04.0	36.0
4	MBAD-204 FINANCIAL MANAGEMENT	64 28	40AG	100	0	10	04.0	40.0
5	MBAD-205 BUSINESS RESEARCH METHODS	62 30	40AG	100	0	10	04.0	40.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	47 30	40AG	100	A+	9	04.0	36.0
	TOTAL	0526		0600			24.0	232.0
	GRAND TOTAL	0526		0600			24.0	232.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.67

DATED:	JUN 12,2	025			
KURUKSHET	ERA				
Checked by	1.			2.	
		(C	lerk)		(Assistant)



Roll No. 245125559

Regn. No. 24-DEO-744

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : HIMANSHU SHARMA
Father's Name : SURESH SHARMA
Mother's Name : ANOOP SHARMA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	49	29	40AG	100	A+	9	04.0	36.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	47	49	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	55	30	40AG	100	0	10	04.0	40.0
4	MBAD-204 FINANCIAL MANAGEMENT	65	29	40AG	100	0	10	04.0	40.0
5	MBAD-205 BUSINESS RESEARCH METHODS	54	30	40AG	100	A+	9	04.0	36.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	49	30	40AG	100	A+	9	04.0	36.0
	TOTAL		0516		0600			24.0	228.0
	GRAND TOTAL		0516		0600			24.0	228.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.50

KURUKSHET	ERA				
Checked by	1.		_ 2		_
		(Clerk)		(Assistant)	



Roll No. 245125564

Regn. No. 24-DEO-745

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : SHASHANK DUTT SHANDIL
Father's Name : RAJEEV DUTT SHANDIL
Mother's Name : KIRAN LATA SHANDIL

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	28 28	40AG	100	B+	7	04.0	28.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	29 49	40AG	100	A+	9	04.0	36.0
3	MBAD-203 MARKETING MANAGEMENT	46 30	40AG	100	A+	9	04.0	36.0
4	MBAD-204 FINANCIAL MANAGEMENT	40 28	40AG	100	А	8	04.0	32.0
5	MBAD-205 BUSINESS RESEARCH METHODS	48 29	40AG	100	A+	9	04.0	36.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	30 15	40AG	100	С	5	04.0	20.0
	TOTAL	0400		0600			24.0	188.0
	GRAND TOTAL	0400		0600			24.0	188.0

RESULT: PASSED AND HAS OBTAINED: SGPA 7.83

		(Clerk)		(Assistant)	
Checked by	1		2		
KURUKSHET	ERA				
DATED:	JUN 12,202	5			

Data of issue

Banne

Roll No. 245125565

Regn. No. 24-DEO-752

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : SHIVAM
Father's Name : RAJBIR
Mother's Name : DARSHANA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	51 28	40AG	100	A+	9	04.0	36.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	43 49	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	56 28	40AG	100	A+	9	04.0	36.0
4	MBAD-204 FINANCIAL MANAGEMENT	57 22	40AG	100	A+	9	04.0	36.0
5	MBAD-205 BUSINESS RESEARCH METHODS	53 28	40AG	100	A+	9	04.0	36.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	44 28	40AG	100	A	8	04.0	32.0
	TOTAL	0487		0600			24.0	216.0
	GRAND TOTAL	0487		0600			24.0	216.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.00

DATED:	JUN 12,2025			
KURUKSHET	ERA			
Checked by	1		2.	
		(Clerk)		(Assistant)



Roll No. 245125566

Regn. No. 24-DEO-743

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : SUMIT HOODA

Father's Name : JAGDISH KUMAR HOODA

Mother's Name : KRISHNA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks	s Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	42	29	40AG	100	А	8	04.0	32.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	44	50	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	54	30	40AG	100	A+	9	04.0	36.0
4	MBAD-204 FINANCIAL MANAGEMENT	49	30	40AG	100	A+	9	04.0	36.0
5	MBAD-205 BUSINESS RESEARCH METHODS	54	29	40AG	100	A+	9	04.0	36.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	42	27	40AG	100	А	8	04.0	32.0
	TOTAL		0480		0600			24.0	212.0
	GRAND TOTAL		0480		0600			24.0	212.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.83

			(Clerk)		(Assistant)
Checked by	1.			_ 2	
KURUKSHET	ERA				
DATED:	JUN 12,2	2025			



Roll No. 245125568

Regn. No. 24-DEO-867

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : KHUSHI

Father's Name : TEJINDER KUMAR Mother's Name : SHARDA RANI

Institute . CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	43 28	40AG	100	А	8	04.0	32.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	48 45	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	58 25	40AG	100	A+	9	04.0	36.0
4	MBAD-204 FINANCIAL MANAGEMENT	55 25	40AG	100	A+	9	04.0	36.0
5	MBAD-205 BUSINESS RESEARCH METHODS	46 25	40AG	100	A	8	04.0	32.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	48 26	40AG	100	A	8	04.0	32.0
	TOTAL	0472		0600			24.0	208.0
	GRAND TOTAL	0472		0600			24.0	208.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.67

DATED: JUN 12,2025

KURUKSHETERA

Checked by 1. ______ 2. _____

(Clerk) (Assistant)

Data of issue



CONTROLLER OF EXAMINATIONS

Roll No. 245125569

Regn. No. 24-DEO-746

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM: APR- 2025 (CBCS-CDOE)

Name : SAURABH ARORA Father's Name : SUBHASH CHANDER

Mother's Name : KRISHNA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	47 29	40AG	100	A+	9	04.0	36.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	48 50	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	56 30	40AG	100	0	10	04.0	40.0
4	MBAD-204 FINANCIAL MANAGEMENT	64 30	40AG	100	0	10	04.0	40.0
5	MBAD-205 BUSINESS RESEARCH METHODS	52 29	40AG	100	A+	9	04.0	36.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	56 30	40AG	100	0	10	04.0	40.0
	TOTAL	0521		0600			24.0	232.0
	GRAND TOTAL	0521		0600			24.0	232.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.67

			(Clerk)		(Assistant)	
Checked by	1.			_ 2		
KURUKSHET	TERA					
DATED:	JUN 12,2	2025				



Roll No. 245125570

24-DEO-741 Regn. No.

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM: APR-2025 (CBCS-CDOE)

Name : DIYA PANDEY

: BHANU PRAKASH PANDEY Father's Name

: GEETA PANDEY Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtai	ned	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	23	1	F	40AG	100	F	0	04.0	0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	30	30		40AG	100	B+	7	04.0	28.0
3	MBAD-203 MARKETING MANAGEMENT	23	10	F	40AG	100	F	0	04.0	0
4	MBAD-204 FINANCIAL MANAGEMENT	35	15		40AG	100	В	6	04.0	24.0
5	MBAD-205 BUSINESS RESEARCH METHODS	44	19		40AG	100	B+	7	04.0	28.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	31	13		40AG	100	С	5	04.0	20.0
	TOTAL		*	**		0600			24.0	100.0
									24.0	100.0

MBAD-201 MBAD-203 RESULT: RE - TILL APR- 2027 IN:

> DATED: JUN 12,2025

KURUKSHETERA

Data of issue

Checked by 1.

(Clerk) (Assistant)

Roll No. 245125571

Regn. No. 24-DEO-738

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : NEHA RANI

Father's Name : SHARWAN KUMAR

Mother's Name : SARLA DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	50	29	40AG	100	A+	9	04.0	36.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	45	50	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	49	30	40AG	100	A+	9	04.0	36.0
4	MBAD-204 FINANCIAL MANAGEMENT	56	27	40AG	100	A+	9	04.0	36.0
5	MBAD-205 BUSINESS RESEARCH METHODS	55	28	40AG	100	A+	9	04.0	36.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	11	29 *	40AG	100	Р	4	04.0	16.0
	TOTAL		0459		0600			24.0	200.0
	GRAND TOTAL		0459		0600			24.0	200.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.33

DATED : JUN 12,2025

KURUKSHETERA

Checked by 1. ______ 2. _____

(Clerk) (Assistant)

Ranne

CONTROLLER OF EXAMINATIONS

Data of issue		

Roll No. 245125572

Regn. No. 24-DEO-740

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : PAWAN KUMAR YADAV
Father's Name : TRIBHUWAN YADAV
Mother's Name : SUNITA YADAV

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtaiı	ned Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	20 29	40AG	100	С	5	04.0	20.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	27 50	40AG	100	A+	9	04.0	36.0
3	MBAD-203 MARKETING MANAGEMENT	29 30	40AG	100	B+	7	04.0	28.0
4	MBAD-204 FINANCIAL MANAGEMENT	33 12	40AG	100	С	5	04.0	20.0
5	MBAD-205 BUSINESS RESEARCH METHODS	34 26	40AG	100	B+	7	04.0	28.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	25 26	40AG	100	В	6	04.0	24.0
	TOTAL	03-	41	0600			24.0	156.0
	GRAND TOTAL	034	41	0600			24.0	156.0

RESULT: PASSED AND HAS OBTAINED: SGPA 6.50

		(Clerk)		(Assistant)	
Checked by	1		2		
KURUKSHET	ERA				
DATED :	JUN 12,202	25			



Roll No. 245125573

Regn. No. 24-DEO-737

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : SHUBHAM KHERA

Father's Name : ANIL Mother's Name : TARUNA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	46 27	40AG	100	А	8	04.0	32.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	44 49	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	49 28	40AG	100	A+	9	04.0	36.0
4	MBAD-204 FINANCIAL MANAGEMENT	55 25	40AG	100	A+	9	04.0	36.0
5	MBAD-205 BUSINESS RESEARCH METHODS	43 27	40AG	100	А	8	04.0	32.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	51 24	40AG	100	A+	9	04.0	36.0
	TOTAL	0468		0600			24.0	212.0
	GRAND TOTAL	0468		0600			24.0	212.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.83

DATED:	JUN 12,202	25		
KURUKSHET	ERA			
Checked by	1		2	
		(Clerk)		(Assistant)



Roll No. 245125574

Regn. No. 24-DEO-767

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : MAHAK CHAURASIA Father's Name : LAXMI NARAIN

Mother's Name : CHETNA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks	Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	36	26	40AG	100	B+	7	04.0	28.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	45	49	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	38	27	40AG	100	А	8	04.0	32.0
4	MBAD-204 FINANCIAL MANAGEMENT	49	24	40AG	100	A	8	04.0	32.0
5	MBAD-205 BUSINESS RESEARCH METHODS	41	18	40AG	100	B+	7	04.0	28.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	37	16	40AG	100	В	6	04.0	24.0
	TOTAL		0406		0600			24.0	184.0
	GRAND TOTAL		0406		0600			24.0	184.0

RESULT: PASSED AND HAS OBTAINED: SGPA 7.67

DATED:	JUN 12,2	025			
KURUKSHET	ERA				
Checked by	1.			2.	
		(C	lerk)		(Assistant)



Roll No. 245125575

Regn. No. 24-DEO-825

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : PRASANJIT MONDAL
Father's Name : TAPAS CHANDRA MONDAL

Mother's Name : CHHABI MONDAL

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	29 27	40AG	100	B+	7	04.0	28.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	44 35	40AG	100	A+	9	04.0	36.0
3	MBAD-203 MARKETING MANAGEMENT	28 27	40AG	100	B+	7	04.0	28.0
4	MBAD-204 FINANCIAL MANAGEMENT	55 17	40AG	100	А	8	04.0	32.0
5	MBAD-205 BUSINESS RESEARCH METHODS	47 18	40AG	100	A	8	04.0	32.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	31 22	40AG	100	В	6	04.0	24.0
	TOTAL	0380		0600			24.0	180.0
	GRAND TOTAL	0380		0600			24.0	180.0

RESULT: PASSED AND HAS OBTAINED: SGPA 7.50

			(Clerk)		(Assistant)	
Checked by	1.			2		
KURUKSHET	ERA					
DATED:	JUN 12,2	2025				



Roll No. 245125577

24-DEO-732 Regn. No.

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM: APR-2025 (CBCS-CDOE)

Name : DOMINIC TOMAR

: RAJENDER SINGH TOMAR Father's Name

: SUMITRA DEVI Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks	Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	54	27	40AG	100	A+	9	04.0	36.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	48	45	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	58	30	40AG	100	0	10	04.0	40.0
4	MBAD-204 FINANCIAL MANAGEMENT	65	27	40AG	100	0	10	04.0	40.0
5	MBAD-205 BUSINESS RESEARCH METHODS	54	28	40AG	100	A+	9	04.0	36.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	49	26	40AG	100	A+	9	04.0	36.0
	TOTAL		0511		0600			24.0	228.0
	GRAND TOTAL		0511		0600			24.0	228.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.50

> DATED: JUN 12,2025 KURUKSHETERA

Data of issue

Checked by 1.

(Clerk)

(Assistant)

Roll No. 245125578

Regn. No. 24-DEO-729

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : PRADEEP KUMAR
Father's Name : RAJPAL SINGH
Mother's Name : KRISHNA DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks	Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	38	30	40AG	100	А	8	04.0	32.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	34	50	40AG	100	A+	9	04.0	36.0
3	MBAD-203 MARKETING MANAGEMENT	42	30	40AG	100	A	8	04.0	32.0
4	MBAD-204 FINANCIAL MANAGEMENT	47	30	40AG	100	A+	9	04.0	36.0
5	MBAD-205 BUSINESS RESEARCH METHODS	39	30	40AG	100	A	8	04.0	32.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	39	30	40AG	100	A	8	04.0	32.0
	TOTAL		0439		0600			24.0	200.0
	GRAND TOTAL		0439		0600			24.0	200.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.33

DATED:	JUN 12,2	2025			
KURUKSHET	ERA				
Checked by	1.			2	
			(Clerk)		(Assistant)



Roll No. 245125579

Regn. No. 24-DEO-810

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : MAHENDRA BHUKAR Father's Name : HARDEVA RAM BHUKAR

Mother's Name : RUKAMANI DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	41 14	40AG	100	B+	7	04.0	28.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	37 49	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	44 29	40AG	100	А	8	04.0	32.0
4	MBAD-204 FINANCIAL MANAGEMENT	57 26	40AG	100	A+	9	04.0	36.0
5	MBAD-205 BUSINESS RESEARCH METHODS	42 27	40AG	100	А	8	04.0	32.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	26 28	40AG	100	В	6	04.0	24.0
	TOTAL	0420		0600			24.0	192.0
	GRAND TOTAL	0420		0600			24.0	192.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.00

·	•	(Cle	 rk)	(Assist	ant)
Checked by	1.		2.		
KURUKSHET	ERA				
DATED:	JUN 12,2	2025			



Roll No. 245125580

Regn. No. 24-DEO-730

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : GAURAV VERMA
Father's Name : MOOL CHAND VERMA

Mother's Name : KAMLESH

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	42 26	40AG	100	А	8	04.0	32.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	38 45	40AG	100	A+	9	04.0	36.0
3	MBAD-203 MARKETING MANAGEMENT	37 30	40AG	100	А	8	04.0	32.0
4	MBAD-204 FINANCIAL MANAGEMENT	49 20	40AG	100	А	8	04.0	32.0
5	MBAD-205 BUSINESS RESEARCH METHODS	39 19	40AG	100	B+	7	04.0	28.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	22 21	40AG	100	С	5	04.0	20.0
	TOTAL	0388		0600			24.0	180.0
	GRAND TOTAL	0388		0600			24.0	180.0

RESULT: PASSED AND HAS OBTAINED: SGPA 7.50

		(Cler	k)	(Assistant))
Checked by	1.		2.		
KURUKSHET	ERA				
DATED:	JUN 12,2	2025			



Roll No. 245125582

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-734

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : SWEETY
Father's Name : RAJMAL
Mother's Name : SANTRA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	45 19	40AG	100	B+	7	04.0	28.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	42 42	40AG	100	A+	9	04.0	36.0
3	MBAD-203 MARKETING MANAGEMENT	44 19	40AG	100	B+	7	04.0	28.0
4	MBAD-204 FINANCIAL MANAGEMENT	54 23	40AG	100	A+	9	04.0	36.0
5	MBAD-205 BUSINESS RESEARCH METHODS	47 20	40AG	100	А	8	04.0	32.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	48 21	40AG	100	А	8	04.0	32.0
	TOTAL	0424		0600			24.0	192.0
	GRAND TOTAL	0424		0600			24.0	192.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.00

		(Clerk)		(Assistant)	
Checked by	1		2		
KURUKSHET	ERA				
DATED :	JUN 12,202	25			



Roll No. 245125583

24-DEO-726 Regn. No.

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM: APR-2025 (CBCS-CDOE)

Name : YOGESH TALWAR

: RAJESH Father's Name : RASHMI Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtai	ned	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	13	6	F	40AG	100	F	0	04.0	0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	43	42		40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	23	10	F	40AG	100	F	0	04.0	0
4	MBAD-204 FINANCIAL MANAGEMENT	29	12		40AG	100	С	5	04.0	20.0
5	MBAD-205 BUSINESS RESEARCH METHODS	46	20		40AG	100	A	8	04.0	32.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	24	10	F	40AG	100	F	0	04.0	0
	TOTAL		*	**		0600			24.0	092.0
									24.0	92.0

MBAD-201 MBAD-203 MBAD-206 RESULT: RE - TILL APR- 2027 IN:

		(0	Clerk)		(Assistant)	
Checked by	1.			2		
KURUKSHET	ERA					
DATED:	JUN 12,2	2025				

CONTROLLER OF EXAMINATIONS

Data of issue			

Roll No. 245125584

Regn. No. 24-DEO-727

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : AJAY SINGH
Father's Name : OM PRAKASH
Mother's Name : SANTRO DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks O	btained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	46 2	7	40AG	100	А	8	04.0	32.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	49 4	9	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	48 2	9	40AG	100	A+	9	04.0	36.0
4	MBAD-204 FINANCIAL MANAGEMENT	61 2	1	40AG	100	A+	9	04.0	36.0
5	MBAD-205 BUSINESS RESEARCH METHODS	47 2	4	40AG	100	A	8	04.0	32.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	43 2	9	40AG	100	А	8	04.0	32.0
	TOTAL		0473		0600			24.0	208.0
	GRAND TOTAL		0473		0600			24.0	208.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.67

		(Clerk)		(Assistant)	
Checked by	1		2		
KURUKSHET	ERA				
DATED :	JUN 12,202	25			



Roll No. 245125585

24-DEO-755 Regn. No.

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM: APR-2025 (CBCS-CDOE)

Name : YASHU

: SURESH PANCHAL Father's Name

: ASHA DEVI Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	44 27	40AG	100	А	8	04.0	32.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	43 45	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	48 24	40AG	100	A	8	04.0	32.0
4	MBAD-204 FINANCIAL MANAGEMENT	51 24	40AG	100	A+	9	04.0	36.0
5	MBAD-205 BUSINESS RESEARCH METHODS	37 20	40AG	100	B+	7	04.0	28.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	41 24	40AG	100	A	8	04.0	32.0
	TOTAL	0428		0600			24.0	200.0
	GRAND TOTAL	0428		0600			24.0	200.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.33

Checked by	1.	2.	
KURUKSHET	ERA		
DATED :	JUN 12,2025		

Data of issue

(Clerk) (Assistant)

Roll No. 245125586

Regn. No. 24-DEO-720

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : RUCHIKA LAKHERA

Father's Name : SATISH CHANDRA LAKHERA

Mother's Name : SARITA LAKHERA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	39 17	40AG	100	B+	7	04.0	28.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	35 35	40AG	100	А	8	04.0	32.0
3	MBAD-203 MARKETING MANAGEMENT	49 21	40AG	100	А	8	04.0	32.0
4	MBAD-204 FINANCIAL MANAGEMENT	52 22	40AG	100	А	8	04.0	32.0
5	MBAD-205 BUSINESS RESEARCH METHODS	35 15	40AG	100	В	6	04.0	24.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	34 15	40AG	100	С	5	04.0	20.0
	TOTAL	0369		0600			24.0	168.0
	GRAND TOTAL	0369		0600			24.0	168.0

RESULT: PASSED AND HAS OBTAINED: SGPA 7.00

DATED :	JUN 12,2025		
KURUKSHET	ERA		
Checked by	1	2.	

(Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Roll No. 245125587

Regn. No. 24-DEO-722

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : SHIVAM TULI
Father's Name : RAJ KUMAR TULI
Mother's Name : SUMAN TULI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	44 19	40AG	100	B+	7	04.0	28.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	46 45	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	50 13	40AG	100	B+	7	04.0	28.0
4	MBAD-204 FINANCIAL MANAGEMENT	64 27	40AG	100	0	10	04.0	40.0
5	MBAD-205 BUSINESS RESEARCH METHODS	50 21	40AG	100	А	8	04.0	32.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	50 21	40AG	100	A	8	04.0	32.0
	TOTAL	0450		0600			24.0	200.0
	GRAND TOTAL	0450		0600			24.0	200.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.33

		(Clerk)		(Assistant)	
Checked by	1		2.		
KURUKSHET	ERA				
DATED:	JUN 12,20	25			



Roll No. 245125588

Regn. No. 24-DEO-728

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : RAJU KUMAR KASHYAP

Father's Name : GOPAL PRASAD Mother's Name : GEETA DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtai	ned Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	45 27	40AG	100	А	8	04.0	32.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	46 44	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	49 29	40AG	100	A+	9	04.0	36.0
4	MBAD-204 FINANCIAL MANAGEMENT	57 23	40AG	100	A+	9	04.0	36.0
5	MBAD-205 BUSINESS RESEARCH METHODS	47 24	40AG	100	А	8	04.0	32.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	44 25	40AG	100	A	8	04.0	32.0
	TOTAL	04	60	0600			24.0	208.0
	GRAND TOTAL	04	60	0600			24.0	208.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.67

·		(Cle		(Assistant)	
Checked by	1.		2.		
KURUKSHET	ERA				
DATED:	JUN 12,2	025			



Roll No. 245125589

Regn. No. 24-DEO-721

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : ISHFAQ DAR

Father's Name : ZAHOOR AHMAD DAR Mother's Name : FEHMEEDA BANO

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	45 19	40AG	100	B+	7	04.0	28.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	43 44	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	46 20	40AG	100	A	8	04.0	32.0
4	MBAD-204 FINANCIAL MANAGEMENT	51 22	40AG	100	А	8	04.0	32.0
5	MBAD-205 BUSINESS RESEARCH METHODS	42 18	40AG	100	B+	7	04.0	28.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	50 21	40AG	100	A	8	04.0	32.0
	TOTAL	0421		0600			24.0	192.0
	GRAND TOTAL	0421		0600			24.0	192.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.00

			(Clerk)		(Assistant)	
Checked by	1.			2		
KURUKSHET	ERA					
DATED:	JUN 12,2	2025				



Roll No. 245125590

24-DEO-731 Regn. No.

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM: APR-2025 (CBCS-CDOE)

Name : VIKAS

: RAJENDER SINGH Father's Name

: USHA DEVI Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtain	ied	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	44	25		40AG	100	А	8	04.0	32.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	АВ	AB	F	40AG	100	F	0	04.0	0
3	MBAD-203 MARKETING MANAGEMENT	52	16		40AG	100	A	8	04.0	32.0
4	MBAD-204 FINANCIAL MANAGEMENT	АВ	AB	F	40AG	100	F	0	04.0	0
5	MBAD-205 BUSINESS RESEARCH METHODS	52	19		40AG	100	A	8	04.0	32.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	АВ	AB	F	40AG	100	F	0	04.0	0
	TOTAL		**	**		0600			24.0	096.0
									12.0	96.0

MBAD-202 MBAD-204 MBAD-206 RESULT: RE - TILL APR- 2027 IN:

DATED: JUN 12,2025 KURUKSHETERA

Data of issue

Checked by 1. (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Roll No. 245125591

Regn. No. 24-DEO-723

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : RAJEEV SINGH
Father's Name : GHASITA SINGH
Mother's Name : SAROJ KUMARI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtai	ned	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	13	6	F	40AG	100	F	0	04.0	0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	20	20		40AG	100	Р	4	04.0	16.0
3	MBAD-203 MARKETING MANAGEMENT	09	4	F	40AG	100	F	0	04.0	0
4	MBAD-204 FINANCIAL MANAGEMENT	36	15		40AG	100	В	6	04.0	24.0
5	MBAD-205 BUSINESS RESEARCH METHODS	21	9	F	40AG	100	F	0	04.0	0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	13	6	F	40AG	100	F	0	04.0	0
	TOTAL		*	**		0600			24.0	040.0
									24.0	40.0

RESULT: RE - TILL APR- 2027 IN: MBAD-201 MBAD-203 MBAD-205 MBAD-206

DATED:	JUN 12,2	2025			
KURUKSHET	ERA				
Checked by	1.			_ 2.	
		(Clerk)		(Assistant)



Roll No. 245125592

RESULT-cum-DETAILED MARKS CARD Regn. No. 24-DEO-715

MASTER OF BUSINESS ADMN SEM-02 EXAM: APR- 2025 (CBCS-CDOE)

Name : NAVEEN

Father's Name : SATISH KUMAR

Mother's Name : MEENA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	47	24	40AG	100	А	8	04.0	32.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	43	45	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	46	27	40AG	100	А	8	04.0	32.0
4	MBAD-204 FINANCIAL MANAGEMENT	51	20	40AG	100	А	8	04.0	32.0
5	MBAD-205 BUSINESS RESEARCH METHODS	39	25	40AG	100	B+	7	04.0	28.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	47	21	40AG	100	A	8	04.0	32.0
	TOTAL		0435		0600			24.0	196.0
	GRAND TOTAL		0435		0600			24.0	196.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.17

			(Clerk)		(Assistant)	
Checked by	1.			2		
KURUKSHET	ERA					
DATED:	JUN 12,2	2025				

Data of issue

Banne

CONTROLLER OF EXAMIN	AHONS
----------------------	-------

Roll No. 245125593

Regn. No. 24-DEO-716

RESULT-cum-DETAILED MARKS CARD MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : ROHAN TULI
Father's Name : RAJ KUMAR TULI
Mother's Name : SUMAN TULI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	36 29	40AG	100	А	8	04.0	32.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	40 50	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	50 30	40AG	100	A+	9	04.0	36.0
4	MBAD-204 FINANCIAL MANAGEMENT	58 29	40AG	100	0	10	04.0	40.0
5	MBAD-205 BUSINESS RESEARCH METHODS	47 29	40AG	100	A+	9	04.0	36.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	49 29	40AG	100	A+	9	04.0	36.0
	TOTAL	0476		0600			24.0	220.0
	GRAND TOTAL	0476		0600			24.0	220.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.17

		(Clerk)		(Assistant)	
Checked by	1		2		
KURUKSHET	ERA				
DATED:	JUN 12,20	25			



Roll No. 245125594

Regn. No. 24-DEO-725

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : VIVEK BHAKUNI

Father's Name : NANDAN SINGH BHAKUNI

Mother's Name : GOPULI BHAKUNI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	42 30	40AG	100	А	8	04.0	32.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	40 50	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	40 30	40AG	100	A	8	04.0	32.0
4	MBAD-204 FINANCIAL MANAGEMENT	44 30	40AG	100	А	8	04.0	32.0
5	MBAD-205 BUSINESS RESEARCH METHODS	39 30	40AG	100	А	8	04.0	32.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	33 30	40AG	100	B+	7	04.0	28.0
	TOTAL	0438		0600			24.0	196.0
	GRAND TOTAL	0438		0600			24.0	196.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.17

DATED : JUN 12,2025

KURUKSHETERA

Checked by 1. ______ 2. _____

(Clerk) (Assistant)

Data of issue

Ranne

Roll No. 245125595

Regn. No. 24-DEO-718

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : VED PRAKASH

Father's Name : SHANKAR KUMAR MISHRA

Mother's Name : KARUNA DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	47	20	40AG	100	А	8	04.0	32.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	37	37	40AG	100	А	8	04.0	32.0
3	MBAD-203 MARKETING MANAGEMENT	43	18	40AG	100	B+	7	04.0	28.0
4	MBAD-204 FINANCIAL MANAGEMENT	42	18	40AG	100	B+	7	04.0	28.0
5	MBAD-205 BUSINESS RESEARCH METHODS	40	17	40AG	100	B+	7	04.0	28.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	36	15	40AG	100	В	6	04.0	24.0
	TOTAL		0370		0600			24.0	172.0
	GRAND TOTAL		0370		0600			24.0	172.0

RESULT: PASSED AND HAS OBTAINED: SGPA 7.17

DATED: JUN 12,2025

KURUKSHETERA

Checked by 1. ______ 2. _____

(Clerk) (Assistant)

Data of issue



Roll No. 245125596

Regn. No. 24-DEO-714

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : DIVYA BHARDWAJ

Father's Name : SATPAL Mother's Name : KIRAN

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	53 30	40AG	100	A+	9	04.0	36.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	50 50	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	57 30	40AG	100	0	10	04.0	40.0
4	MBAD-204 FINANCIAL MANAGEMENT	66 29	40AG	100	0	10	04.0	40.0
5	MBAD-205 BUSINESS RESEARCH METHODS	62 30	40AG	100	0	10	04.0	40.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	47 28	40AG	100	A+	9	04.0	36.0
	TOTAL	0532		0600			24.0	232.0
	GRAND TOTAL	0532		0600			24.0	232.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.67

DATED : JUN 12,2025

KURUKSHETERA

Checked by 1. ______ 2. _____

(Clerk) (Assistant)

Data of issue

Banne

Roll No. 245125599

Regn. No. 24-DEO-711

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : MONISHA

Father's Name : RAJ KUMAR ARORA Mother's Name : MEENA ARORA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	31 25	40AG	100	B+	7	04.0	28.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	42 44	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	35 27	40AG	100	B+	7	04.0	28.0
4	MBAD-204 FINANCIAL MANAGEMENT	56 16	40AG	100	А	8	04.0	32.0
5	MBAD-205 BUSINESS RESEARCH METHODS	28 21	40AG	100	С	5	04.0	20.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	33 25	40AG	100	B+	7	04.0	28.0
	TOTAL	0383		0600			24.0	176.0
	GRAND TOTAL	0383		0600			24.0	176.0

RESULT: PASSED AND HAS OBTAINED: SGPA 7.33

			(Clerk)		(Assistant)	
Checked by	1.			2		
KURUKSHET	ERA					
DATED:	JUN 12,2	2025				



Roll No. 245125600

Regn. No. 24-DEO-708

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : KAJAL
Father's Name : ASHOK
Mother's Name : SUMAN

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	48 26	40AG	100	А	8	04.0	32.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	34 40	40AG	100	А	8	04.0	32.0
3	MBAD-203 MARKETING MANAGEMENT	43 28	40AG	100	A	8	04.0	32.0
4	MBAD-204 FINANCIAL MANAGEMENT	55 21	40AG	100	A+	9	04.0	36.0
5	MBAD-205 BUSINESS RESEARCH METHODS	39 27	40AG	100	А	8	04.0	32.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	40 22	40AG	100	B+	7	04.0	28.0
	TOTAL	0423		0600			24.0	192.0
	GRAND TOTAL	0423		0600			24.0	192.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.00

DATED:	JUN 12,2025			
KURUKSHET	ERA			
Checked by	1		2.	
		(Clerk)		(Assistant)

Data of issue



Roll No. 245125601

Regn. No. 24-DEO-747

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : ZAFAR SULTAN Father's Name : HAIDER RAZA

Mother's Name : MUNAWWARA KHATOON

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	36 26	40AG	100	B+	7	04.0	28.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	44 45	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	50 27	40AG	100	A+	9	04.0	36.0
4	MBAD-204 FINANCIAL MANAGEMENT	57 26	40AG	100	A+	9	04.0	36.0
5	MBAD-205 BUSINESS RESEARCH METHODS	47 20	40AG	100	A	8	04.0	32.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	41 12	40AG	100	В	6	04.0	24.0
	TOTAL	0431		0600			24.0	196.0
	GRAND TOTAL	0431		0600			24.0	196.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.17

			(Clerk)		(Assistant)	
Checked by	1.			2		_
KURUKSHET	ERA					
DATED:	JUN 12,2	2025				



Roll No. 245125604

RESULT-cum-DETAILED MARKS CARD Regn. No. 24-DE0-703

MASTER OF BUSINESS ADMN SEM-02 EXAM: APR- 2025 (CBCS-CDOE)

Name : SOURAV SINGH Father's Name : RASHPAL SINGH

Mother's Name : RAJ RANI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks	Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	48	30	40AG	100	A+	9	04.0	36.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	49	50	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	58	30	40AG	100	0	10	04.0	40.0
4	MBAD-204 FINANCIAL MANAGEMENT	64	30	40AG	100	0	10	04.0	40.0
5	MBAD-205 BUSINESS RESEARCH METHODS	58	30	40AG	100	0	10	04.0	40.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	46	30	40AG	100	A+	9	04.0	36.0
	TOTAL		0523		0600			24.0	232.0
	GRAND TOTAL		0523		0600			24.0	232.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.67

DATED:	JUN 12,2	2025			
KURUKSHET	ERA				
Checked by	1.			_ 2.	
		((Clerk)		(Assistant)



Roll No. 245125605

RESULT-cum-DETAILED MARKS CARD Regn. No. 24-DE0-704

MASTER OF BUSINESS ADMN SEM-02 EXAM: APR- 2025 (CBCS-CDOE)

Name : SANDEEP UMAR YADAV

Father's Name : CHHOTELAL Mother's Name : RAJBALA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained		Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained	
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	03	21	F	40AG	100	F	0	04.0	0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	45	37		40AG	100	A+	9	04.0	36.0
3	MBAD-203 MARKETING MANAGEMENT	33	29		40AG	100	B+	7	04.0	28.0
4	MBAD-204 FINANCIAL MANAGEMENT	54	4		40AG	100	B+	7	04.0	28.0
5	MBAD-205 BUSINESS RESEARCH METHODS	50	23		40AG	100	А	8	04.0	32.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	39	23		40AG	100	B+	7	04.0	28.0
	TOTAL		**	*		0600			24.0	152.0
									24.0	152.0

RESULT: RE - TILL APR- 2027 IN: MBAD-201

			(Clerk)		(Assistant)
Checked by	1.			2	
KURUKSHET	TERA				
DATED:	JUN 12,	2025			

Data of issue

Banne

CONTROL		ATTONIC

Roll No. 245125606

RESULT-cum-DETAILED MARKS CARD

24-DEO-733 Regn. No.

MASTER OF BUSINESS ADMN SEM-02 EXAM: APR-2025 (CBCS-CDOE)

Name : HIMANSHU BHARDWAJ

: RANDHIR SINGH Father's Name

: NIRMALA Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	45 29	40AG	100	А	8	04.0	32.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	43 50	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	47 29	40AG	100	A+	9	04.0	36.0
4	MBAD-204 FINANCIAL MANAGEMENT	57 27	40AG	100	A+	9	04.0	36.0
5	MBAD-205 BUSINESS RESEARCH METHODS	40 30	40AG	100	A	8	04.0	32.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	43 24	40AG	100	А	8	04.0	32.0
	TOTAL	0464		0600			24.0	208.0
	GRAND TOTAL	0464		0600			24.0	208.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.67

> DATED: JUN 12,2025 KURUKSHETERA

Data of issue

Checked by 1.

(Clerk)

(Assistant)

Roll No. 245125607

Regn. No. 24-DEO-790

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : HARI SHANKAR
Father's Name : PEHALWAN
Mother's Name : KAMLESH

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	42	28	40AG	100	А	8	04.0	32.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	45	49	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	45	27	40AG	100	А	8	04.0	32.0
4	MBAD-204 FINANCIAL MANAGEMENT	56	16	40AG	100	А	8	04.0	32.0
5	MBAD-205 BUSINESS RESEARCH METHODS	45	13	40AG	100	B+	7	04.0	28.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	41	16	40AG	100	B+	7	04.0	28.0
	TOTAL		0423		0600			24.0	192.0
	GRAND TOTAL		0423		0600			24.0	192.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.00

DATED:	JUN 12,2025	5		
KURUKSHET	ERA			
Checked by	1		2.	
		(Clerk)		(Assistant)



Roll No. 245125609

Regn. No. 24-DEO-717

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : KISHAN KUMAR

Father's Name : 0 Mother's Name : 0

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	46 29	40AG	100	A+	9	04.0	36.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	46 50	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	56 23	40AG	100	A+	9	04.0	36.0
4	MBAD-204 FINANCIAL MANAGEMENT	54 24	40AG	100	A+	9	04.0	36.0
5	MBAD-205 BUSINESS RESEARCH METHODS	52 26	40AG	100	A+	9	04.0	36.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	44 24	40AG	100	А	8	04.0	32.0
	TOTAL	0474		0600			24.0	216.0
	GRAND TOTAL	0474		0600			24.0	216.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.00

·	•	(Cle	 rk)	(Assist	ant)
Checked by	1.		2.		
KURUKSHET	ERA				
DATED:	JUN 12,2	2025			



Roll No. 245125611

RESULT-cum-DETAILED MARKS CARD Regn. No. 24-DEO-696

MASTER OF BUSINESS ADMN SEM-02 EXAM: APR- 2025 (CBCS-CDOE)

Name : RUPALI

Father's Name : UMAKANT SHARMA Mother's Name : MANJIT SHARMA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	52 26	40AG	100	A+	9	04.0	36.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	48 47	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	57 24	40AG	100	A+	9	04.0	36.0
4	MBAD-204 FINANCIAL MANAGEMENT	66 16	40AG	100	A+	9	04.0	36.0
5	MBAD-205 BUSINESS RESEARCH METHODS	58 19	40AG	100	A+	9	04.0	36.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	50 7	40AG	100	B+	7	04.0	28.0
	TOTAL	0470		0600			24.0	212.0
	GRAND TOTAL	0470		0600			24.0	212.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.83

Checked by	1	(Cle	mls)	۷	(Assistant)
Charles d bee	4			2	
KURUKSHET	ERA				
DATED:	JUN 12,2	025			



Roll No. 245125612

Regn. No. 24-DEO-700

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : SUNIL SHARMA
Father's Name : RAM MEHAR
Mother's Name : SHAVITRI DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtaine	d Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	43 28	40AG	100	А	8	04.0	32.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	45 49	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	41 29	40AG	100	А	8	04.0	32.0
4	MBAD-204 FINANCIAL MANAGEMENT	47 21	40AG	100	А	8	04.0	32.0
5	MBAD-205 BUSINESS RESEARCH METHODS	32 24	40AG	100	B+	7	04.0	28.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	36 30	40AG	100	A	8	04.0	32.0
	TOTAL	0425	5	0600			24.0	196.0
	GRAND TOTAL	0425	j	0600			24.0	196.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.17

DATED:	JUN 12,2	2025			
KURUKSHET	ERA				
Checked by	1.			_ 2.	
		((Clerk)		(Assistant)



Roll No. 245125613

Regn. No. 24-DEO-698

RESULT-cum-DETAILED MARKS CARD MASTER OF BUSINESS ADMN SEM-02 EXAM: APR- 2025

(CBCS-CDOE)

Name : HARSH SAINI

Father's Name : SATIS KUMAR SAINI Mother's Name : AMARJEET KAUR

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks	s Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	47	27	40AG	100	А	8	04.0	32.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	43	49	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	53	30	40AG	100	A+	9	04.0	36.0
4	MBAD-204 FINANCIAL MANAGEMENT	65	24	40AG	100	0	10	04.0	40.0
5	MBAD-205 BUSINESS RESEARCH METHODS	49	28	40AG	100	A+	9	04.0	36.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	47	28	40AG	100	A+	9	04.0	36.0
	TOTAL		0490		0600			24.0	220.0
	GRAND TOTAL		0490		0600			24.0	220.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.17

		(Clerk)		(Assistant)
Checked by	1.			2	
KURUKSHET	ERA				
DATED:	JUN 12,2	2025			



Regn. No.

Roll No. 245125614

24-DEO-701

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM: APR- 2025 (CBCS-CDOE)

Name : HANUMESH MALHOTRA Father's Name : VISHAL MALHOTRA

Mother's Name : GUNJAN

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtain	ed Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	45 29	40AG	100	А	8	04.0	32.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	47 50	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	56 30	40AG	100	0	10	04.0	40.0
4	MBAD-204 FINANCIAL MANAGEMENT	62 29	40AG	100	0	10	04.0	40.0
5	MBAD-205 BUSINESS RESEARCH METHODS	57 29	40AG	100	О	10	04.0	40.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	44 29	40AG	100	A	8	04.0	32.0
	TOTAL	050	7	0600			24.0	224.0
	GRAND TOTAL	050	7	0600			24.0	224.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.33

DATED:	JUN 12,2	025			
KURUKSHET	ERA				
Checked by	1.			2.	
		(C	lerk)		(Assistant)



Roll No. 245125616

Regn. No. 24-DEO-694

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : PRAGATI KATHURIA
Father's Name : RAKESH KATHURIA
Mother's Name : ANJU KATHURIA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks	Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	54	29	40AG	100	A+	9	04.0	36.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	48	25	40AG	100	А	8	04.0	32.0
3	MBAD-203 MARKETING MANAGEMENT	52	15	40AG	100	A	8	04.0	32.0
4	MBAD-204 FINANCIAL MANAGEMENT	63	12	40AG	100	A+	9	04.0	36.0
5	MBAD-205 BUSINESS RESEARCH METHODS	55	15	40AG	100	A	8	04.0	32.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	53	14	40AG	100	А	8	04.0	32.0
	TOTAL		0435		0600			24.0	200.0
	GRAND TOTAL		0435		0600			24.0	200.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.33

DATED:	JUN 12,2025			
KURUKSHET	ERA			
Checked by	1		2.	
		(Clerk)		(Assistant)



Roll No. 245125617

Regn. No. 24-DEO-699

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : POORVA SAINI

Father's Name : PREMPAL
Mother's Name : KUSUM LATA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	48 30	40AG	100	A+	9	04.0	36.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	45 50	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	50 30	40AG	100	A+	9	04.0	36.0
4	MBAD-204 FINANCIAL MANAGEMENT	61 29	40AG	100	0	10	04.0	40.0
5	MBAD-205 BUSINESS RESEARCH METHODS	49 29	40AG	100	A+	9	04.0	36.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	51 28	40AG	100	A+	9	04.0	36.0
	TOTAL	0500		0600			24.0	224.0
	GRAND TOTAL	0500		0600			24.0	224.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.33

DATED:	JUN 12,202	25		
KURUKSHET	ERA			
Checked by	1		2	
		(Clerk)		(Assistant)

Data of issue



Regn. No.

Roll No. 245125619

24-DEO-691

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : GAURANG KAUSHIK
Father's Name : SANJAY KAUSHIK

Mother's Name : SUMAN

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obt	ained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	28 27		40AG	100	B+	7	04.0	28.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	43 45		40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	49 28		40AG	100	A+	9	04.0	36.0
4	MBAD-204 FINANCIAL MANAGEMENT	49 22		40AG	100	А	8	04.0	32.0
5	MBAD-205 BUSINESS RESEARCH METHODS	27 22		40AG	100	С	5	04.0	20.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	34 23		40AG	100	B+	7	04.0	28.0
	TOTAL	(397		0600			24.0	184.0
	GRAND TOTAL	С	397		0600			24.0	184.0

RESULT: PASSED AND HAS OBTAINED: SGPA 7.67

DATED:	JUN 12,2	025			
KURUKSHET	ERA				
Checked by	1.			_ 2.	
			(Clerk)		(Assistant)



Regn. No.

Roll No. 245125620

24-DEO-710

RESULT-cum-DETAILED MARKS CARD MASTER OF BUSINESS ADMN SEM-02 EXAM: APR- 2025

(CBCS-CDOE)

Name : NITIN KUMAR
Father's Name : ROHITASH SINGH
Mother's Name : SANGITA DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	59 26	40AG	100	0	10	04.0	40.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	42 44	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	61 30	40AG	100	0	10	04.0	40.0
4	MBAD-204 FINANCIAL MANAGEMENT	40 25	40AG	100	А	8	04.0	32.0
5	MBAD-205 BUSINESS RESEARCH METHODS	49 25	40AG	100	А	8	04.0	32.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	49 22	40AG	100	A	8	04.0	32.0
	TOTAL	0472		0600			24.0	216.0
	GRAND TOTAL	0472		0600			24.0	216.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.00

DATED:	JUN 12,202	25			
KURUKSHET	ERA				
Checked by	1		2		-
		(Clerk)		(Assistant)	



Roll No. 245125621

Regn. No. 24-DEO-687

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : SUMIT KUMAR TYAGI

Father's Name : SATBIR SINGH Mother's Name : KUSUM LATA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obta	ined	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	57 28		40AG	100	0	10	04.0	40.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	47 47		40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	54 28		40AG	100	A+	9	04.0	36.0
4	MBAD-204 FINANCIAL MANAGEMENT	56 27		40AG	100	A+	9	04.0	36.0
5	MBAD-205 BUSINESS RESEARCH METHODS	56 27		40AG	100	A+	9	04.0	36.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	51 26		40AG	100	A+	9	04.0	36.0
	TOTAL	05	504		0600			24.0	224.0
	GRAND TOTAL	05	04		0600			24.0	224.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.33

			(Clerk)		(Assistant)	
Checked by	1.			_ 2		
KURUKSHET	TERA					
DATED:	JUN 12,2	2025				



Roll No. 245125622

Regn. No. 24-DEO-685

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : ASHISH KUMAR

Father's Name : RATI RAM
Mother's Name : RAJESH DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	59 29	40AG	100	0	10	04.0	40.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	46 50	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	49 30	40AG	100	A+	9	04.0	36.0
4	MBAD-204 FINANCIAL MANAGEMENT	64 29	40AG	100	0	10	04.0	40.0
5	MBAD-205 BUSINESS RESEARCH METHODS	59 30	40AG	100	0	10	04.0	40.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	50 29	40AG	100	A+	9	04.0	36.0
	TOTAL	0524		0600			24.0	232.0
	GRAND TOTAL	0524		0600			24.0	232.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.67

			(Clerk)	_	(Assistant)
Checked by	1.			2	
KURUKSHET	ERA				
DATED:	JUN 12,2	2025			



Roll No. 245125623

Regn. No. 24-DEO-693

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : AVINASH KUMAR Father's Name : DEVENDRA KUMAR

Mother's Name : KUSUM

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtaii	ned	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	29	26		40AG	100	B+	7	04.0	28.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	42	47		40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	AB	28	F	40AG	100	F	0	04.0	0
4	MBAD-204 FINANCIAL MANAGEMENT	AB	19	F	40AG	100	F	0	04.0	0
5	MBAD-205 BUSINESS RESEARCH METHODS	42	19		40AG	100	B+	7	04.0	28.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	AB	24	F	40AG	100	F	0	04.0	0
	TOTAL		*	**		0600			24.0	096.0
									24.0	96.0

RESULT: RE - TILL APR- 2027 IN: MBAD-203 MBAD-204 MBAD-206

		(Cler	k)	(Assistant))
Checked by	1.		2.		
KURUKSHET	ERA				
DATED:	JUN 12,2	2025			



Roll No. 245125624

Regn. No. 24-DEO-695

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : SHIVAM SONI
Father's Name : RAM PRAKASH
Mother's Name : MANJU SONI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtaine	d Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	39 21	40AG	100	B+	7	04.0	28.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	41 42	40AG	100	A+	9	04.0	36.0
3	MBAD-203 MARKETING MANAGEMENT	43 27	40AG	100	А	8	04.0	32.0
4	MBAD-204 FINANCIAL MANAGEMENT	45 18	40AG	100	B+	7	04.0	28.0
5	MBAD-205 BUSINESS RESEARCH METHODS	43 26	40AG	100	A	8	04.0	32.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	47 25	40AG	100	A	8	04.0	32.0
	TOTAL	0417	7	0600			24.0	188.0
	GRAND TOTAL	0417	,	0600			24.0	188.0

RESULT: PASSED AND HAS OBTAINED: SGPA 7.83

		(Clerk)		(Assistant)	
Checked by	1		2		
KURUKSHET	ERA				
DATED:	JUN 12,202	5			



Roll No. 245125626

24-DEO-683 Regn. No.

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM: APR-2025 (CBCS-CDOE)

Name : BHARAT GUPTA : RAM PRAKASH GUPTA Father's Name

: MAYA GUPTA Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	38	27	40AG	100	А	8	04.0	32.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	15	42	40AG	100	B+	7	04.0	28.0
3	MBAD-203 MARKETING MANAGEMENT	34	28	40AG	100	B+	7	04.0	28.0
4	MBAD-204 FINANCIAL MANAGEMENT	23	27	40AG	100	В	6	04.0	24.0
5	MBAD-205 BUSINESS RESEARCH METHODS	10	24 F	40AG	100	F	0	04.0	0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	26	27	40AG	100	В	6	04.0	24.0
	TOTAL		***		0600			24.0	136.0
								24.0	136.0

MBAD-205 RESULT: RE - TILL APR- 2027 IN:

> DATED: JUN 12,2025 KURUKSHETERA Checked by 1.

Data of issue

(Clerk) (Assistant)

Roll No. 245125627

24-DEO-681 Regn. No.

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM: APR-2025 (CBCS-CDOE)

Name : NIKHIL KUMAR

: UMESH KUMAR PANDEY Father's Name

: GEETA PANDEY Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	44	27	40AG	100	А	8	04.0	32.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	45	45	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	50	28	40AG	100	A+	9	04.0	36.0
4	MBAD-204 FINANCIAL MANAGEMENT	57	27	40AG	100	A+	9	04.0	36.0
5	MBAD-205 BUSINESS RESEARCH METHODS	48	27	40AG	100	A+	9	04.0	36.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	43	28	40AG	100	A	8	04.0	32.0
	TOTAL		0469		0600			24.0	212.0
	GRAND TOTAL		0469		0600			24.0	212.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.83

> DATED: JUN 12,2025 KURUKSHETERA

Data of issue

Checked by 1. (Clerk)

(Assistant)

Roll No. 245125628

Regn. No. 24-DEO-688

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : ANKIT PATEL
Father's Name : RAMESH PATEL
Mother's Name : RAJKUMARI DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtain	ed Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	46 27	40AG	100	А	8	04.0	32.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	48 49	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	57 30	40AG	100	0	10	04.0	40.0
4	MBAD-204 FINANCIAL MANAGEMENT	62 28	40AG	100	0	10	04.0	40.0
5	MBAD-205 BUSINESS RESEARCH METHODS	50 29	40AG	100	A+	9	04.0	36.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	53 29	40AG	100	A+	9	04.0	36.0
	TOTAL	050	8	0600			24.0	224.0
	GRAND TOTAL	050	8	0600			24.0	224.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.33

DATED:	JUN 12,2025			
KURUKSHET	ERA			
Checked by	1		2	
		(Clerk)		(Assistant)



Roll No. 245125629

Regn. No. 24-DEO-676

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : CHEHAK

Father's Name : DEEPAK KUMAR Mother's Name : NEERU BALA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks	Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	46	30	40AG	100	A+	9	04.0	36.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	45	49	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	51	30	40AG	100	A+	9	04.0	36.0
4	MBAD-204 FINANCIAL MANAGEMENT	64	28	40AG	100	0	10	04.0	40.0
5	MBAD-205 BUSINESS RESEARCH METHODS	57	22	40AG	100	A+	9	04.0	36.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	50	29	40AG	100	A+	9	04.0	36.0
	TOTAL		0501		0600			24.0	224.0
	GRAND TOTAL		0501		0600			24.0	224.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.33

			(Clerk)		(Assistant)	
Checked by	1.			2		
KURUKSHET	ERA					
DATED:	JUN 12,2	2025				



Roll No. 245125630

Regn. No. 24-DEO-735

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : SIDDHARTH SHRIVASTAVA

Father's Name : B K SHRIVASTAVA

Mother's Name : VANDANA SHRIVASTAVA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	38 27	40AG	100	А	8	04.0	32.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	40 45	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	42 29	40AG	100	A	8	04.0	32.0
4	MBAD-204 FINANCIAL MANAGEMENT	50 26	40AG	100	A+	9	04.0	36.0
5	MBAD-205 BUSINESS RESEARCH METHODS	43 23	40AG	100	A	8	04.0	32.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	46 26	40AG	100	A	8	04.0	32.0
	TOTAL	0435		0600			24.0	204.0
	GRAND TOTAL	0435		0600			24.0	204.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.50

		(Cl	erk)		(Assistant	t)
Checked by	1.			2		
KURUKSHET	ERA					
DATED :	JUN 12,2	2025				



CONTROLLER OF EXAMIN	AHONS
----------------------	-------

Roll No. 245125631

Regn. No. 24-DEO-682

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : SWEEHA
Father's Name : ANISHPAL
Mother's Name : POONAM

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	50	30	40AG	100	A+	9	04.0	36.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	46	50	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	58	30	40AG	100	0	10	04.0	40.0
4	MBAD-204 FINANCIAL MANAGEMENT	АВ	30 F	40AG	100	F	0	04.0	0
5	MBAD-205 BUSINESS RESEARCH METHODS	51	30	40AG	100	A+	9	04.0	36.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	46	30	40AG	100	A+	9	04.0	36.0
	TOTAL		***		0600			24.0	188.0
								24.0	188.0

RESULT: RE - TILL APR- 2027 IN: MBAD-204

DATED:	JUN 12,2	025			
KURUKSHET	ERA				
Checked by	1.			2.	
			(Clerk)		(Assistant)



Roll No. 245125634

Regn. No. 24-DEO-719

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : UMA DEY

Father's Name : MADHU SUDHAN DEY
Mother's Name : SANDHYA RANI DEY

Institute . CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Ob	otained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	46 27	7	40AG	100	А	8	04.0	32.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	41 49)	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	45 29)	40AG	100	А	8	04.0	32.0
4	MBAD-204 FINANCIAL MANAGEMENT	44 24	Į.	40AG	100	А	8	04.0	32.0
5	MBAD-205 BUSINESS RESEARCH METHODS	38 27	,	40AG	100	A	8	04.0	32.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	36 28	3	40AG	100	B+	7	04.0	28.0
	TOTAL		0434		0600			24.0	196.0
	GRAND TOTAL		0434		0600			24.0	196.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.17

DATED : JUN 12,2025

KURUKSHETERA

Checked by 1. ______ 2. _____

(Clerk) (Assistant)

Banan

Data of issue		

Roll No. 245125636

RESULT-cum-DETAILED MARKS CARD Regn. No. 24-DEO-678

MASTER OF BUSINESS ADMN SEM-02 EXAM: APR- 2025 (CBCS-CDOE)

Name : SHUBHAM

Father's Name : YOGESH SHARMA Mother's Name : POONAM DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtain	ed	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	AB	AB	F	40AG	100	F	0	04.0	0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	45	50		40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	AB	AB	F	40AG	100	F	0	04.0	0
4	MBAD-204 FINANCIAL MANAGEMENT	68	29		40AG	100	0	10	04.0	40.0
5	MBAD-205 BUSINESS RESEARCH METHODS	AB	AB	F	40AG	100	F	0	04.0	0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	49	30		40AG	100	A+	9	04.0	36.0
	TOTAL		**	**		0600			24.0	116.0
									12.0	116.0

RESULT: RE - TILL APR- 2027 IN: MBAD-201 MBAD-203 MBAD-205

			(Clerk)		(Assistant)
Checked by	1.			_ 2	
KURUKSHET	ERA				
DATED:	JUN 12,2	2025			



Roll No. 245125637

Regn. No. 24-DEO-677

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : SAYAN DAS
Father's Name : SUDEB DAS
Mother's Name : BEBIDAS

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtaii	ned	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	19	16	F	40AG	100	F	0	04.0	0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	13	35		40AG	100	С	5	04.0	20.0
3	MBAD-203 MARKETING MANAGEMENT	19	21	*	40AG	100	Р	4	04.0	16.0
4	MBAD-204 FINANCIAL MANAGEMENT	АВ	13	F	40AG	100	F	0	04.0	0
5	MBAD-205 BUSINESS RESEARCH METHODS	10	11	F	40AG	100	F	0	04.0	0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	09	14	F	40AG	100	F	0	04.0	0
	TOTAL		*	**		0600			24.0	036.0
									24.0	36.0

RESULT: RE - TILL APR- 2027 IN: MBAD-201 MBAD-204 MBAD-205 MBAD-206

DATED:	JUN 12,2025			
KURUKSHET	ERA			
Checked by	1.		2	
		(Clerk)		(Assistant)



Roll No. 245125638

Regn. No. 24-DEO-668

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : KM SAKSHI

Father's Name : BHANUPRATAP CHAUDHARY

Mother's Name : MEERA DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	54	30	40AG	100	A+	9	04.0	36.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	44	49	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	46	30	40AG	100	A+	9	04.0	36.0
4	MBAD-204 FINANCIAL MANAGEMENT	63	28	40AG	100	0	10	04.0	40.0
5	MBAD-205 BUSINESS RESEARCH METHODS	52	30	40AG	100	A+	9	04.0	36.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	47	30	40AG	100	A+	9	04.0	36.0
	TOTAL		0503		0600			24.0	224.0
	GRAND TOTAL		0503		0600			24.0	224.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.33

DATED : JUN 12,2025

KURUKSHETERA

Checked by 1. _______ 2. ______
(Clerk) (Assistant)

Data of issue

Banne

Roll No. 245125639

Regn. No. 24-DEO-679

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : RASIKA

Father's Name : VIJAY KUMAR

Mother's Name : SARITA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	55 29	40AG	100	A+	9	04.0	36.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	45 50	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	55 30	40AG	100	0	10	04.0	40.0
4	MBAD-204 FINANCIAL MANAGEMENT	58 28	40AG	100	0	10	04.0	40.0
5	MBAD-205 BUSINESS RESEARCH METHODS	59 30	40AG	100	0	10	04.0	40.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	42 30	40AG	100	A	8	04.0	32.0
	TOTAL	0511		0600			24.0	228.0
	GRAND TOTAL	0511		0600			24.0	228.0

(Assistant)

RESULT: PASSED AND HAS OBTAINED: SGPA 9.50

DATED:	JUN 12,2025		
KURUKSHET	ERA		
Checked by	1.	2.	

(Clerk)

Bound

CONTROLLER	OF	EXAMINATIONS
------------	----	---------------------

Data of issue _____

Roll No. 245125640

Regn. No. 24-DEO-674

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : SONU RAM
Father's Name : MAAKAR RAM
Mother's Name : DARSHANI DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	55 29	40AG	100	A+	9	04.0	36.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	48 49	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	61 30	40AG	100	0	10	04.0	40.0
4	MBAD-204 FINANCIAL MANAGEMENT	64 28	40AG	100	0	10	04.0	40.0
5	MBAD-205 BUSINESS RESEARCH METHODS	58 30	40AG	100	0	10	04.0	40.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	49 30	40AG	100	A+	9	04.0	36.0
	TOTAL	0531		0600			24.0	232.0
	GRAND TOTAL	0531		0600			24.0	232.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.67

		(Clerk)		(Assistant)	
Checked by	1		2		
KURUKSHET	ERA				
DATED :	JUN 12,2025	5			



Roll No. 245125641

RESULT-cum-DETAILED MARKS CARD Regn. No. 24-DEO-664

MASTER OF BUSINESS ADMN SEM-02 EXAM: APR- 2025 (CBCS-CDOE)

Name : YOGESH SHARMA

Father's Name : SATYAVIR Mother's Name : RAMESHWARI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	52 29	40AG	100	A+	9	04.0	36.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	44 50	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	46 30	40AG	100	A+	9	04.0	36.0
4	MBAD-204 FINANCIAL MANAGEMENT	68 23	40AG	100	0	10	04.0	40.0
5	MBAD-205 BUSINESS RESEARCH METHODS	50 27	40AG	100	A+	9	04.0	36.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	41 15	40AG	100	B+	7	04.0	28.0
	TOTAL	0475		0600			24.0	216.0
	GRAND TOTAL	0475		0600			24.0	216.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.00

DATED:	JUN 12,202	25								
KURUKSHETERA										
Checked by	1		2							
		(Clerk)		(Assistant)						



Regn. No.

Roll No. 245125642

24-DEO-667

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM: APR-2025 (CBCS-CDOE)

Name : SUJATA

Mother's Name

Data of issue

: JAIBHAGWAN Father's Name : MONIKA

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	59 30	40AG	100	0	10	04.0	40.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	47 50	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	54 29	40AG	100	A+	9	04.0	36.0
4	MBAD-204 FINANCIAL MANAGEMENT	66 28	40AG	100	0	10	04.0	40.0
5	MBAD-205 BUSINESS RESEARCH METHODS	57 30	40AG	100	0	10	04.0	40.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	49 15	40AG	100	B+	7	04.0	28.0
	TOTAL	0514		0600			24.0	224.0
	GRAND TOTAL	0514		0600			24.0	224.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.33

DATED:	JUN 12,2	025								
KURUKSHETERA										
Checked by	1.			2.						
		((Clerk)		(Assistant)					



Roll No. 245125643

Regn. No. 24-DEO-663

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : GARIMA KAMBOJ

Father's Name : VINOD Mother's Name : MUKESH

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks	Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	48	29	40AG	100	A+	9	04.0	36.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	47	50	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	56	30	40AG	100	0	10	04.0	40.0
4	MBAD-204 FINANCIAL MANAGEMENT	65	30	40AG	100	0	10	04.0	40.0
5	MBAD-205 BUSINESS RESEARCH METHODS	55	30	40AG	100	0	10	04.0	40.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	52	30	40AG	100	A+	9	04.0	36.0
	TOTAL		0522		0600			24.0	232.0
	GRAND TOTAL		0522		0600			24.0	232.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.67

Checked by	1	(Clerk)	2	(Assistant)	
KURUKSHET			2		
I COLUMNIA DE LA COLU					
DATED:	JUN 12,202	5			

Data of issue



CONTROLLER OF EXAMINATIONS

Roll No. 245125644

Regn. No. 24-DEO-665

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : AASTHA
Father's Name : MAHINDER
Mother's Name : NEHA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks	s Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	55	29	40AG	100	A+	9	04.0	36.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	49	50	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	57	30	40AG	100	0	10	04.0	40.0
4	MBAD-204 FINANCIAL MANAGEMENT	65	24	40AG	100	0	10	04.0	40.0
5	MBAD-205 BUSINESS RESEARCH METHODS	57	30	40AG	100	0	10	04.0	40.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	56	30	40AG	100	0	10	04.0	40.0
	TOTAL		0532		0600			24.0	236.0
	GRAND TOTAL		0532		0600			24.0	236.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.83

DATED:	JUN 12,20	025			
KURUKSHET	ERA				
Checked by	1		2.		
		(Clerk)	(Assistant)	



Roll No. 245125645

RESULT-cum-DETAILED MARKS CARD Regn. No. 24-DEO-690

MASTER OF BUSINESS ADMN SEM-02 EXAM: APR- 2025 (CBCS-CDOE)

Name : PARAS AGARWAL

Father's Name : RAJ KUMAR Mother's Name : SHASHI BALA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	47 29	40AG	100	A+	9	04.0	36.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	44 49	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	55 30	40AG	100	0	10	04.0	40.0
4	MBAD-204 FINANCIAL MANAGEMENT	67 29	40AG	100	0	10	04.0	40.0
5	MBAD-205 BUSINESS RESEARCH METHODS	49 30	40AG	100	A+	9	04.0	36.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	47 29	40AG	100	A+	9	04.0	36.0
	TOTAL	0505		0600			24.0	228.0
	GRAND TOTAL	0505		0600			24.0	228.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.50

Criccked by		(Clerk)		(Assistant)	-
Checked by	1		2.		
KURUKSHET	ERA				
DATED:	JUN 12,2025				



Roll No. 245125646

Regn. No. 24-DEO-662

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : PRAVANJAN NANDA
Father's Name : MURALIDHAR NANDA
Mother's Name : REBATI NANDA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks	Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	51	29	40AG	100	A+	9	04.0	36.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	48	47	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	55	27	40AG	100	A+	9	04.0	36.0
4	MBAD-204 FINANCIAL MANAGEMENT	67	27	40AG	100	0	10	04.0	40.0
5	MBAD-205 BUSINESS RESEARCH METHODS	52	28	40AG	100	A+	9	04.0	36.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	47	29	40AG	100	A+	9	04.0	36.0
	TOTAL		0507		0600			24.0	224.0
	GRAND TOTAL		0507		0600			24.0	224.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.33

DATED:	JUN 12,202	5		
KURUKSHET	ERA			
Checked by	1		2.	
		(Clerk)		(Assistant)



Roll No. 245125648

24-DEO-670

RESULT-cum-DETAILED MARKS CARD Regn. No.

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : SHRAYA SETHI Father's Name : RAVINDER SETHI

Mother's Name : SUMAN

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks (Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	52 3	30	40AG	100	A+	9	04.0	36.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	49 5	50	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	55 3	30	40AG	100	0	10	04.0	40.0
4	MBAD-204 FINANCIAL MANAGEMENT	66 2	29	40AG	100	0	10	04.0	40.0
5	MBAD-205 BUSINESS RESEARCH METHODS	53 3	30	40AG	100	A+	9	04.0	36.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	49 3	30	40AG	100	A+	9	04.0	36.0
	TOTAL		0523		0600			24.0	228.0
	GRAND TOTAL		0523		0600			24.0	228.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.50

DATED:	JUN 12,2	2025			
KURUKSHET	ERA				
Checked by	1.			_ 2.	
		(Clerk)		(Assistant)



Roll No. 245125649

Regn. No. 24-DEO-686

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : SONALI
Father's Name : JAIPAL
Mother's Name : CHANCHAL

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	50 21	40AG	100	Α	8	04.0	32.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	45 45	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	49 21	40AG	100	A	8	04.0	32.0
4	MBAD-204 FINANCIAL MANAGEMENT	61 26	40AG	100	0	10	04.0	40.0
5	MBAD-205 BUSINESS RESEARCH METHODS	47 20	40AG	100	A	8	04.0	32.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	46 20	40AG	100	A	8	04.0	32.0
	TOTAL	0451		0600			24.0	208.0
	GRAND TOTAL	0451		0600			24.0	208.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.67

DATED:	JUN 12,20	025			
KURUKSHET	ERA				
Checked by	1		2.		
		(Clerk)	(Assistant)	



Roll No. 245125650

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-661

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : YOGESH KUMAR

Father's Name : SHRI RAMVEER SINGH Mother's Name : SHRIMATI DHARMVATI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	52	29	40AG	100	A+	9	04.0	36.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	46	50	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	59	30	40AG	100	0	10	04.0	40.0
4	MBAD-204 FINANCIAL MANAGEMENT	65	28	40AG	100	0	10	04.0	40.0
5	MBAD-205 BUSINESS RESEARCH METHODS	60	30	40AG	100	0	10	04.0	40.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	48	30	40AG	100	A+	9	04.0	36.0
	TOTAL		0527		0600			24.0	232.0
	GRAND TOTAL		0527		0600			24.0	232.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.67

·	•	(Cle	 rk)	(Assist	ant)
Checked by	1.		2.		
KURUKSHET	ERA				
DATED:	JUN 12,2	2025			



Roll No. 245125654

Regn. No. 24-DEO-869

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : SATYAM SINGH
Father's Name : SUSHIL SINGH
Mother's Name : RAMGUNI SINGH

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	39 17	40AG	100	B+	7	04.0	28.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	44 44	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	43 18	40AG	100	B+	7	04.0	28.0
4	MBAD-204 FINANCIAL MANAGEMENT	45 19	40AG	100	B+	7	04.0	28.0
5	MBAD-205 BUSINESS RESEARCH METHODS	39 17	40AG	100	B+	7	04.0	28.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	29 12	40AG	100	С	5	04.0	20.0
	TOTAL	0366		0600			24.0	172.0
	GRAND TOTAL	0366		0600			24.0	172.0

RESULT: PASSED AND HAS OBTAINED: SGPA 7.17

DATED:	JUN 12,2025			
KURUKSHET	ERA			
Checked by	1.		2	
		(Clerk)		(Assistant)



Roll No. 245125655

RESULT-cum-DETAILED MARKS CARD Regn. No. 24-DEO-680

MASTER OF BUSINESS ADMN SEM-02 EXAM: APR- 2025 (CBCS-CDOE)

Name : NITIN

Father's Name : VINOD KUMAR Mother's Name : SAROJ YADAV

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtain	ed	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	42	30		40AG	100	А	8	04.0	32.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	AB	AB	F	40AG	100	F	0	04.0	0
3	MBAD-203 MARKETING MANAGEMENT	36	30		40AG	100	А	8	04.0	32.0
4	MBAD-204 FINANCIAL MANAGEMENT	AB	AB	F	40AG	100	F	0	04.0	0
5	MBAD-205 BUSINESS RESEARCH METHODS	34	27		40AG	100	B+	7	04.0	28.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	АВ	AB	F	40AG	100	F	0	04.0	0
	TOTAL		**	*		0600			24.0	092.0
									12.0	92.0

RESULT: RE - TILL APR- 2027 IN: MBAD-202 MBAD-204 MBAD-206

		(Cler	k)	(Assistant))
Checked by	1.		2.		
KURUKSHET	ERA				
DATED:	JUN 12,2	2025			



Regn. No.

Roll No. 245125656

24-DEO-656

RESULT-cum-DETAILED MARKS CARD MASTER OF BUSINESS ADMN SEM-02 EXAM: APR- 2025

(CBCS-CDOE)

Name : MEENAKSHI CHHALOTRE
Father's Name : MAHESH CHHALOTRE
Mother's Name : MAYA CHHALOTRE

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	37 28	40AG	100	А	8	04.0	32.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	43 47	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	34 29	40AG	100	B+	7	04.0	28.0
4	MBAD-204 FINANCIAL MANAGEMENT	53 27	40AG	100	A+	9	04.0	36.0
5	MBAD-205 BUSINESS RESEARCH METHODS	35 23	40AG	100	B+	7	04.0	28.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	33 26	40AG	100	B+	7	04.0	28.0
	TOTAL	0415		0600			24.0	192.0
	GRAND TOTAL	0415		0600			24.0	192.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.00

		(Cleri	k)		(Assista	ant)	
Checked by	1.			2			_
KURUKSHET	ERA						
DATED:	JUN 12,2	025					



Roll No. 245125657

Regn. No. 24-DEO-657

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : MAYANK AHUJA

Father's Name : RAJINDER KUMAR AHUJA

Mother's Name : SHARDA AHUJA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	47 26	40AG	100	Α	8	04.0	32.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	40 50	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	51 30	40AG	100	A+	9	04.0	36.0
4	MBAD-204 FINANCIAL MANAGEMENT	57 29	40AG	100	0	10	04.0	40.0
5	MBAD-205 BUSINESS RESEARCH METHODS	43 30	40AG	100	А	8	04.0	32.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	43 30	40AG	100	A	8	04.0	32.0
	TOTAL	0476		0600			24.0	212.0
	GRAND TOTAL	0476		0600			24.0	212.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.83

DATED: JUN 12,2025

KURUKSHETERA

Checked by 1. ______ 2. _____

(Clerk) (Assistant)

Data of issue

Ranne

CONTROLLER OF EXAMINATIONS

Roll No. 245125658

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-654

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : VIKAS JAIN
Father's Name : ALOK JAIN
Mother's Name : SUSHMA JAIN

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtair	ed Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	33 29	40AG	100	B+	7	04.0	28.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	35 50	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	37 28	40AG	100	A	8	04.0	32.0
4	MBAD-204 FINANCIAL MANAGEMENT	45 30	40AG	100	A+	9	04.0	36.0
5	MBAD-205 BUSINESS RESEARCH METHODS	28 30	40AG	100	B+	7	04.0	28.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	31 28	40AG	100	B+	7	04.0	28.0
	TOTAL	040	04	0600			24.0	192.0
	GRAND TOTAL	040)4	0600			24.0	192.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.00

		(Clerk)		(Assistant)	
Checked by	1		2		
KURUKSHET	ERA				
DATED :	JUN 12,202	25			



Regn. No.

Roll No. 245125659

24-DEO-651

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : ANANGO BHATTACHARYA
Father's Name : NABA KUMAR BHATTACHARYA
Mother's Name : KRISHNAKOLI BHATTACHARYA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks O	btained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	52 2	8	40AG	100	A+	9	04.0	36.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	45 4	9	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	52 3	0	40AG	100	A+	9	04.0	36.0
4	MBAD-204 FINANCIAL MANAGEMENT	62 2	7	40AG	100	0	10	04.0	40.0
5	MBAD-205 BUSINESS RESEARCH METHODS	46 2	8	40AG	100	A	8	04.0	32.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	47 2	9	40AG	100	A+	9	04.0	36.0
	TOTAL		0495		0600			24.0	220.0
	GRAND TOTAL		0495		0600			24.0	220.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.17

DATED:	JUN 12,2025			
KURUKSHET	ERA			
Checked by	1		_ 2	
		(Clerk)		(Assistant)



Roll No. 245125660

Regn. No. 24-DEO-647

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : PANKAJ SHARMA
Father's Name : MOOL CHAND
Mother's Name : RAMKAUR

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	47	29	40AG	100	A+	9	04.0	36.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	44	44	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	50	30	40AG	100	A+	9	04.0	36.0
4	MBAD-204 FINANCIAL MANAGEMENT	52	26	40AG	100	A+	9	04.0	36.0
5	MBAD-205 BUSINESS RESEARCH METHODS	45	25	40AG	100	А	8	04.0	32.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	47	24	40AG	100	A	8	04.0	32.0
	TOTAL		0463		0600			24.0	212.0
	GRAND TOTAL		0463		0600			24.0	212.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.83

DATED:	JUN 12,2025			
KURUKSHET	ERA			
Checked by	1		_ 2	
		(Clerk)		(Assistant)



Roll No. 245125661

Regn. No. 24-DEO-655

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : RAHUL SHARMA Father's Name : SHYAM LAL SHARMA

Mother's Name : SUNITA RANI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtain	ed	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	AB	AB	F	40AG	100	F	0	04.0	0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	41	45		40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	AB	AB	F	40AG	100	F	0	04.0	0
4	MBAD-204 FINANCIAL MANAGEMENT	53	21		40AG	100	A	8	04.0	32.0
5	MBAD-205 BUSINESS RESEARCH METHODS	AB	AB	F	40AG	100	F	0	04.0	0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	28	24		40AG	100	В	6	04.0	24.0
	TOTAL		**	*		0600			24.0	096.0
									12.0	96.0

RESULT: RE - TILL APR- 2027 IN: MBAD-201 MBAD-203 MBAD-205

		(0	Clerk)		(Assistant)	
Checked by	1.			2		
KURUKSHET	ERA					
DATED:	JUN 12,2	2025				



CONTROLLER OF EXAMINATIONS

Data of issue			
	Data of issue		

Roll No. 245125663

24-DEO-649 Regn. No.

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM: APR-2025 (CBCS-CDOE)

Name : DUSHYANT

: NAND KISHORE SHARMA Father's Name

: PREM LATA Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	45	29	40AG	100	А	8	04.0	32.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	48	50	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	52	30	40AG	100	A+	9	04.0	36.0
4	MBAD-204 FINANCIAL MANAGEMENT	63	28	40AG	100	0	10	04.0	40.0
5	MBAD-205 BUSINESS RESEARCH METHODS	57	30	40AG	100	0	10	04.0	40.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	51	30	40AG	100	A+	9	04.0	36.0
	TOTAL		0513		0600			24.0	224.0
	GRAND TOTAL		0513		0600			24.0	224.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.33

> DATED: JUN 12,2025 KURUKSHETERA

Data of issue

Checked by 1. (Clerk) (Assistant)

Roll No. 245125664

Regn. No. 24-DEO-645

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : VIKAS

Father's Name : GURCHARAN Mother's Name : SONIA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtain	ned	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	AB	AB	F	40AG	100	F	0	04.0	0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	38	50		40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	АВ	AB	F	40AG	100	F	0	04.0	0
4	MBAD-204 FINANCIAL MANAGEMENT	58	30		40AG	100	0	10	04.0	40.0
5	MBAD-205 BUSINESS RESEARCH METHODS	АВ	AB	F	40AG	100	F	0	04.0	0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	37	30		40AG	100	A	8	04.0	32.0
	TOTAL		**	**		0600			24.0	112.0
									12.0	112.0

RESULT: RE - TILL APR- 2027 IN: MBAD-201 MBAD-203 MBAD-205

		(0	Clerk)		(Assistant)	
Checked by	1.			2		
KURUKSHET	ERA					
DATED:	JUN 12,2	2025				

Data of issue

Banne

	CONTROL	LER OF	EXAMII	NATIONS
--	---------	--------	--------	---------

Roll No. 245125665

Regn. No. 24-DEO-673

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : PRANAB KUMAR MISHRA

Father's Name : TARANAND MISHRA
Mother's Name : PUSHPLATA MISHRA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	53 29	40AG	100	A+	9	04.0	36.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	46 44	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	52 27	40AG	100	A+	9	04.0	36.0
4	MBAD-204 FINANCIAL MANAGEMENT	53 15	40AG	100	А	8	04.0	32.0
5	MBAD-205 BUSINESS RESEARCH METHODS	43 14	40AG	100	B+	7	04.0	28.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	45 23	40AG	100	A	8	04.0	32.0
	TOTAL	0444		0600			24.0	204.0
	GRAND TOTAL	0444		0600			24.0	204.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.50

Checked by	1	(Cle	mls)	۷	(Assistant)
Charles d bee	4			2	
KURUKSHET	ERA				
DATED:	JUN 12,2	025			

Data of issue



CONTROLLER OF EXAMINATIONS

Roll No. 245125666

Regn. No. 24-DEO-653

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : PRIYANKA
Father's Name : PALA RAM
Mother's Name : REKHA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtair	ned	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	39	24		40AG	100	B+	7	04.0	28.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	35	44		40AG	100	A+	9	04.0	36.0
3	MBAD-203 MARKETING MANAGEMENT	31	13		40AG	100	С	5	04.0	20.0
4	MBAD-204 FINANCIAL MANAGEMENT	АВ	AB	F	40AG	100	F	0	04.0	0
5	MBAD-205 BUSINESS RESEARCH METHODS	24	10	F	40AG	100	F	0	04.0	0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	29	11	*	40AG	100	Р	4	04.0	16.0
	TOTAL		*:	**		0600			24.0	100.0
									20.0	100.0

RESULT: RE - TILL APR- 2027 IN: MBAD-204 MBAD-205

DATED:	JUN 12,202	25		
KURUKSHET	ERA			
Checked by	1		2	
		(Clerk)		(Assistant)



Roll No. 245125667

Regn. No. 24-DEO-646

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : MAHIMA

Father's Name : RAKAM SINGH

Mother's Name : MANISHA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	55 28	40AG	100	A+	9	04.0	36.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	47 47	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	55 29	40AG	100	A+	9	04.0	36.0
4	MBAD-204 FINANCIAL MANAGEMENT	53 24	40AG	100	A+	9	04.0	36.0
5	MBAD-205 BUSINESS RESEARCH METHODS	53 27	40AG	100	A+	9	04.0	36.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	46 24	40AG	100	A	8	04.0	32.0
	TOTAL	0488		0600			24.0	216.0
	GRAND TOTAL	0488		0600			24.0	216.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.00

		(CI	erk)		(Assistant)	
Checked by	1.			2		
KURUKSHET	ERA					
DATED:	JUN 12,2	2025				



Roll No. 245125669

Regn. No. 24-DEO-639

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : GOVIND MISHRA
Father's Name : JAGAN NATH MISHRA
Mother's Name : KUSUM MISHRA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	47	26	40AG	100	А	8	04.0	32.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	43	47	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	40	29	40AG	100	A	8	04.0	32.0
4	MBAD-204 FINANCIAL MANAGEMENT	58	17	40AG	100	A+	9	04.0	36.0
5	MBAD-205 BUSINESS RESEARCH METHODS	33	27	40AG	100	B+	7	04.0	28.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	45	24	40AG	100	A	8	04.0	32.0
	TOTAL		0436		0600			24.0	200.0
	GRAND TOTAL		0436		0600			24.0	200.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.33

		(Clerk)		(Assistant)	
Checked by	1		2		
KURUKSHET	ERA				
DATED:	JUN 12,20	25			



Roll No. 245125671

Regn. No. 24-DEO-637

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : NISHA

Father's Name : MAHAVIR GOYAL Mother's Name : USHA GOYAL

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks	Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	55	29	40AG	100	A+	9	04.0	36.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	48	50	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	56	30	40AG	100	0	10	04.0	40.0
4	MBAD-204 FINANCIAL MANAGEMENT	65	30	40AG	100	0	10	04.0	40.0
5	MBAD-205 BUSINESS RESEARCH METHODS	53	29	40AG	100	A+	9	04.0	36.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	45	29	40AG	100	A	8	04.0	32.0
	TOTAL		0519		0600			24.0	224.0
	GRAND TOTAL		0519		0600			24.0	224.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.33

·	•	(Cle	 rk)	(Assist	ant)
Checked by	1.		2.		
KURUKSHET	ERA				
DATED:	JUN 12,2	2025			



Roll No. 245125673

Regn. No. 24-DEO-635

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : DIVYANSH RANA Father's Name : RAKESH SINGH RANA

Mother's Name : NISHA SINGH

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	52 22	40AG	100	А	8	04.0	32.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	48 47	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	37 16	40AG	100	В	6	04.0	24.0
4	MBAD-204 FINANCIAL MANAGEMENT	58 25	40AG	100	A+	9	04.0	36.0
5	MBAD-205 BUSINESS RESEARCH METHODS	36 15	40AG	100	В	6	04.0	24.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	43 18	40AG	100	B+	7	04.0	28.0
	TOTAL	0417		0600			24.0	184.0
	GRAND TOTAL	0417		0600			24.0	184.0

RESULT: PASSED AND HAS OBTAINED: SGPA 7.67

DATED : KURUKSHET	•	125			
			2		
Checked by	1		2		—
		(Clerk)		(Assistant)	

Data of issue

Banne

Roll No. 245125674

Regn. No. 24-DEO-652

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : RUCHI

Father's Name : ISHWAR MITTAL Mother's Name : ANITA MITTAL

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	45 29	40AG	100	А	8	04.0	32.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	40 40	40AG	100	A+	9	04.0	36.0
3	MBAD-203 MARKETING MANAGEMENT	52 22	40AG	100	A	8	04.0	32.0
4	MBAD-204 FINANCIAL MANAGEMENT	56 24	40AG	100	A+	9	04.0	36.0
5	MBAD-205 BUSINESS RESEARCH METHODS	55 24	40AG	100	A+	9	04.0	36.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	43 18	40AG	100	B+	7	04.0	28.0
	TOTAL	0448		0600			24.0	200.0
	GRAND TOTAL	0448		0600			24.0	200.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.33

		(Clerk)		(Assistant)
Checked by	1.			2	
KURUKSHET	TERA				
DATED:	JUN 12,2	2025			



CONTROLLER OF EXAMINATIONS

Data of issue		

Roll No. 245125675

Regn. No. 24-DEO-644

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : SHER SINGH Father's Name : JASWANT SINGH

Mother's Name : RAJBALA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	18 26	40AG	100	С	5	04.0	20.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	23 47	40AG	100	А	8	04.0	32.0
3	MBAD-203 MARKETING MANAGEMENT	29 26	40AG	100	B+	7	04.0	28.0
4	MBAD-204 FINANCIAL MANAGEMENT	37 15	40AG	100	В	6	04.0	24.0
5	MBAD-205 BUSINESS RESEARCH METHODS	32 27	40AG	100	B+	7	04.0	28.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	23 26	40AG	100	С	5	04.0	20.0
	TOTAL	0329		0600			24.0	152.0
	GRAND TOTAL	0329		0600			24.0	152.0

RESULT: PASSED AND HAS OBTAINED: SGPA 6.33

			(Clerk)		(Assistant)
Checked by	1.			2	
KURUKSHET	ERA				
DATED :	JUN 12,2	2025			



Roll No. 245125676

24-DEO-632 Regn. No.

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM: APR-2025 (CBCS-CDOE)

Name : MAYA

: JASWANT SINGH Father's Name

: RAJBALA Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	40	24	40AG	100	B+	7	04.0	28.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	40	45	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	34	27	40AG	100	B+	7	04.0	28.0
4	MBAD-204 FINANCIAL MANAGEMENT	37	22	40AG	100	B+	7	04.0	28.0
5	MBAD-205 BUSINESS RESEARCH METHODS	38	13	40AG	100	В	6	04.0	24.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	19	26	40AG	100	С	5	04.0	20.0
	TOTAL		0365		0600			24.0	168.0
	GRAND TOTAL		0365		0600			24.0	168.0

RESULT: PASSED AND HAS OBTAINED: SGPA 7.00

DATED: JUN 12,2025 KURUKSHETERA

Checked by 1.

Data of issue

(Clerk) (Assistant)

Roll No. 245125677

Regn. No. 24-DEO-630

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : RAGHAV GUPTA Father's Name : MANISH GUPTA

Mother's Name : RITU

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtaine	d Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	49 28	40AG	100	A+	9	04.0	36.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	46 39	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	59 27	40AG	100	0	10	04.0	40.0
4	MBAD-204 FINANCIAL MANAGEMENT	66 15	40AG	100	A+	9	04.0	36.0
5	MBAD-205 BUSINESS RESEARCH METHODS	44 16	40AG	100	B+	7	04.0	28.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	49 13	40AG	100	B+	7	04.0	28.0
	TOTAL	0451		0600			24.0	208.0
	GRAND TOTAL	0451		0600			24.0	208.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.67

DATED:	JUN 12,2025			
KURUKSHET	ERA			
Checked by	1.		_ 2	
		(Clerk)		(Assistant)



Roll No. 245125679

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-633

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : AKASH PAL
Father's Name : AJMER SINGH
Mother's Name : RANI DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	57 28	40AG	100	0	10	04.0	40.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	48 50	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	55 29	40AG	100	A+	9	04.0	36.0
4	MBAD-204 FINANCIAL MANAGEMENT	62 26	40AG	100	0	10	04.0	40.0
5	MBAD-205 BUSINESS RESEARCH METHODS	50 29	40AG	100	A+	9	04.0	36.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	43 29	40AG	100	A	8	04.0	32.0
	TOTAL	0506		0600			24.0	224.0
	GRAND TOTAL	0506		0600			24.0	224.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.33

DATED:	JUN 12,2025			
KURUKSHET	ERA			
Checked by	1		_ 2	
		(Clerk)		(Assistant)



Roll No. 245125680

Regn. No. 24-DEO-629

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : KRITIKA KUMARI
Father's Name : KARAN KUMAR SINGH
Mother's Name : SARITA KUMARI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks	Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	40	29	40AG	100	А	8	04.0	32.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	43	47	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	46	29	40AG	100	A+	9	04.0	36.0
4	MBAD-204 FINANCIAL MANAGEMENT	44	25	40AG	100	А	8	04.0	32.0
5	MBAD-205 BUSINESS RESEARCH METHODS	38	27	40AG	100	A	8	04.0	32.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	44	26	40AG	100	А	8	04.0	32.0
	TOTAL		0438		0600			24.0	204.0
	GRAND TOTAL		0438		0600			24.0	204.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.50

DATED:	JUN 12,2025			
KURUKSHET	ERA			
Checked by	1		_ 2	
		(Clerk)		(Assistant)



Roll No. 245125681

24-DEO-631

RESULT-cum-DETAILED MARKS CARD Regn. No.

MASTER OF BUSINESS ADMN SEM-02 EXAM: APR- 2025 (CBCS-CDOE)

Name : SONALI JANA
Father's Name : INDRAJIT JANA
Mother's Name : SWARNALATA JANA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks	Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	55	28	40AG	100	A+	9	04.0	36.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	48	50	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	57	30	40AG	100	0	10	04.0	40.0
4	MBAD-204 FINANCIAL MANAGEMENT	66	30	40AG	100	0	10	04.0	40.0
5	MBAD-205 BUSINESS RESEARCH METHODS	55	30	40AG	100	0	10	04.0	40.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	43	29	40AG	100	A	8	04.0	32.0
	TOTAL		0521		0600			24.0	228.0
	GRAND TOTAL		0521		0600			24.0	228.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.50

DATED:	JUN 12,2025			
KURUKSHET	ERA			
Checked by	1		2.	
		(Clerk)		(Assistant)



Roll No. 245125682

Regn. No. 24-DEO-636

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : SUMIT KUMAR
Father's Name : SUBHASH CHAND
Mother's Name : KRISHNA DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtaine	ed Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	57 28	40AG	100	0	10	04.0	40.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	46 49	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	53 30	40AG	100	A+	9	04.0	36.0
4	MBAD-204 FINANCIAL MANAGEMENT	58 22	40AG	100	A+	9	04.0	36.0
5	MBAD-205 BUSINESS RESEARCH METHODS	44 24	40AG	100	A	8	04.0	32.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	41 25	40AG	100	A	8	04.0	32.0
	TOTAL	047	7	0600			24.0	216.0
	GRAND TOTAL	047	7	0600			24.0	216.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.00

		(Clerk)		(Assistant)	
Checked by	1		2		
KURUKSHET	ERA				
DATED :	JUN 12,2025	5			



Roll No. 245125683

RESULT-cum-DETAILED MARKS CARD Regn. No. 24-DEO-634

MASTER OF BUSINESS ADMN SEM-02 EXAM: APR- 2025 (CBCS-CDOE)

Name : KAPIL
Father's Name : RAJ KARAN
Mother's Name : SUNITA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtain	ied	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	44	30		40AG	100	А	8	04.0	32.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	AB	AB	F	40AG	100	F	0	04.0	0
3	MBAD-203 MARKETING MANAGEMENT	50	27		40AG	100	A+	9	04.0	36.0
4	MBAD-204 FINANCIAL MANAGEMENT	АВ	AB	F	40AG	100	F	0	04.0	0
5	MBAD-205 BUSINESS RESEARCH METHODS	43	15		40AG	100	B+	7	04.0	28.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	АВ	AB	F	40AG	100	F	0	04.0	0
	TOTAL		**	* *		0600			24.0	096.0
									12.0	96.0

RESULT: RE - TILL APR- 2027 IN: MBAD-202 MBAD-204 MBAD-206

		(Clerk)		(Assistant)	1
Checked by	1		2.		
KURUKSHET	ERA				
DATED:	JUN 12,20	25			



Roll No. 245125684

Regn. No. 24-DEO-642

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : SUHANI

Father's Name : SUSHIL KUMAR Mother's Name : MEENA DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	49 30	40AG	100	A+	9	04.0	36.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	46 50	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	56 30	40AG	100	0	10	04.0	40.0
4	MBAD-204 FINANCIAL MANAGEMENT	60 30	40AG	100	0	10	04.0	40.0
5	MBAD-205 BUSINESS RESEARCH METHODS	57 30	40AG	100	О	10	04.0	40.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	44 30	40AG	100	А	8	04.0	32.0
	TOTAL	0512		0600			24.0	228.0
	GRAND TOTAL	0512		0600			24.0	228.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.50

Checked by	1	(Cle	mls)	۷	(Assistant)
Charles d bee	4			2	
KURUKSHET	ERA				
DATED:	JUN 12,2	025			



Roll No. 245125685

RESULT-cum-DETAILED MARKS CARD Regn. No. 24-DEO-658

MASTER OF BUSINESS ADMN SEM-02 EXAM: APR- 2025 (CBCS-CDOE)

Name : DHEERAJ
Father's Name : SATPAL SINGH
Mother's Name : SANTOSH

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtair	ned	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	22	9	F	40AG	100	F	0	04.0	0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	35	35		40AG	100	А	8	04.0	32.0
3	MBAD-203 MARKETING MANAGEMENT	32	14		40AG	100	С	5	04.0	20.0
4	MBAD-204 FINANCIAL MANAGEMENT	44	19		40AG	100	B+	7	04.0	28.0
5	MBAD-205 BUSINESS RESEARCH METHODS	34	15		40AG	100	С	5	04.0	20.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	31	13		40AG	100	С	5	04.0	20.0
	TOTAL		**	**		0600			24.0	120.0
									24.0	120.0

RESULT: RE - TILL APR- 2027 IN: MBAD-201

·	•	(Cle	 rk)	(Assist	ant)
Checked by	1.		2.		
KURUKSHET	ERA				
DATED:	JUN 12,2	2025			



Roll No. 245125686

Regn. No. 24-DEO-625

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : TELAPROLU PRASADA RAO

Father's Name : RAMA RAO Mother's Name : SATYAVATHI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	42 29	40AG	100	А	8	04.0	32.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	46 50	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	54 28	40AG	100	A+	9	04.0	36.0
4	MBAD-204 FINANCIAL MANAGEMENT	55 28	40AG	100	A+	9	04.0	36.0
5	MBAD-205 BUSINESS RESEARCH METHODS	49 29	40AG	100	A+	9	04.0	36.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	53 30	40AG	100	A+	9	04.0	36.0
	TOTAL	0493		0600			24.0	216.0
	GRAND TOTAL	0493		0600			24.0	216.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.00

		(Cle	rk)		(Assistant)	
Checked by	1.			2		
KURUKSHET	ERA					
DATED :	JUN 12,2	2025				



Roll No. 245125687

Regn. No. 24-DEO-640

RESULT-cum-DETAILED MARKS CARD MASTER OF BUSINESS ADMN SEM-02 EXAM: APR- 2025

(CBCS-CDOE)

Name : HAJARE PRABHULAL RAMCHANDRA

Father's Name : RAMCHANDRA

Mother's Name : MEERA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtain	ed Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	52 29	40AG	100	A+	9	04.0	36.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	45 49	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	51 30	40AG	100	A+	9	04.0	36.0
4	MBAD-204 FINANCIAL MANAGEMENT	64 29	40AG	100	0	10	04.0	40.0
5	MBAD-205 BUSINESS RESEARCH METHODS	51 30	40AG	100	A+	9	04.0	36.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	47 30	40AG	100	A+	9	04.0	36.0
	TOTAL	050	7	0600			24.0	224.0
	GRAND TOTAL	050	7	0600			24.0	224.0

(Assistant)

RESULT: PASSED AND HAS OBTAINED: SGPA 9.33

DATED:	JUN 12,2025		
KURUKSHET	ERA		
Checked by	1.	2.	

Data of issue

(Clerk)

Banus

CONTROLLER OF EXAMINATION	S
---------------------------	---

Roll No. 245125688

RESULT-cum-DETAILED MARKS CARD Regn. No. 24-DEO-628

MASTER OF BUSINESS ADMN SEM-02 EXAM: APR- 2025 (CBCS-CDOE)

Name : KAPIL
Father's Name : ASHWANI
Mother's Name : PAMMI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtain	ed	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	AB	AB	F	40AG	100	F	0	04.0	0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	47	47		40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	AB	AB	F	40AG	100	F	0	04.0	0
4	MBAD-204 FINANCIAL MANAGEMENT	56	15		40AG	100	А	8	04.0	32.0
5	MBAD-205 BUSINESS RESEARCH METHODS	AB	AB	F	40AG	100	F	0	04.0	0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	51	14		40AG	100	А	8	04.0	32.0
	TOTAL		**	**		0600			24.0	104.0
									12.0	104.0

RESULT: RE - TILL APR- 2027 IN: MBAD-201 MBAD-203 MBAD-205

Criccked by		(Clerk)		(Assistant)	-
Checked by	1		2.		
KURUKSHET	ERA				
DATED:	JUN 12,2025				



Roll No. 245125689

Regn. No. 24-DEO-622

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : DEVESH SINGH NEGI

Father's Name : P S NEGI Mother's Name : SUNITA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	44	19	40AC	100	B+	7	04.0	28.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	48	47	40A0	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	44	19	40A0	100	B+	7	04.0	28.0
4	MBAD-204 FINANCIAL MANAGEMENT	42	18	40A0	100	B+	7	04.0	28.0
5	MBAD-205 BUSINESS RESEARCH METHODS	39	17	40AC	100	B+	7	04.0	28.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	29	11	40A0	100	P	4	04.0	16.0
	TOTAL		0377		0600			24.0	168.0
	GRAND TOTAL		0377		0600			24.0	168.0

RESULT: PASSED AND HAS OBTAINED: SGPA 7.00

DATED : KURUKSHET	•	125			
			2		
Checked by	1		2		—
		(Clerk)		(Assistant)	

Data of issue

Banne

Roll No. 245125690

Regn. No. 24-DEO-626

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : MILAP CHAND Father's Name : RELU RAM Mother's Name : AJUDHYA DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obta	ined Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	29 23	40AG	100	В	6	04.0	24.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	25 47	40AG	100	А	8	04.0	32.0
3	MBAD-203 MARKETING MANAGEMENT	25 25	40AG	100	В	6	04.0	24.0
4	MBAD-204 FINANCIAL MANAGEMENT	35 20	40AG	100	B+	7	04.0	28.0
5	MBAD-205 BUSINESS RESEARCH METHODS	26 24	40AG	100	В	6	04.0	24.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	29 22	40AG	100	В	6	04.0	24.0
	TOTAL	03	330	0600			24.0	156.0
	GRAND TOTAL	03	330	0600			24.0	156.0

RESULT: PASSED AND HAS OBTAINED: SGPA 6.50

DATED:	JUN 12,2025			
KURUKSHET	ERA			
Checked by	1.		2	
		(Clerk)		(Assistant)



Roll No. 245125692

24-DEO-620

RESULT-cum-DETAILED MARKS CARD Regn. No.

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : MUHAMMED AMEEN K M

Father's Name : ABOOBACKER Mother's Name : SAINABA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtai	ned	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	AB	28	F	40AG	100	F	0	04.0	0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	AB	47		40AG	100	С	5	04.0	20.0
3	MBAD-203 MARKETING MANAGEMENT	AB	30	F	40AG	100	F	0	04.0	0
4	MBAD-204 FINANCIAL MANAGEMENT	АВ	25	F	40AG	100	F	0	04.0	0
5	MBAD-205 BUSINESS RESEARCH METHODS	АВ	23	F	40AG	100	F	0	04.0	0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	AB	27	F	40AG	100	F	0	04.0	0
	TOTAL		*	**		0600			24.0	020.0
									24.0	20.0

RESULT: RE - TILL APR- 2027 IN: MBAD-201 MBAD-203 MBAD-204 MBAD-205 MBAD-206

DATED:	JUN 12,202	5		
KURUKSHET	ERA			
Checked by	1		2	
		(Clerk)		(Assistant)



Roll No. 245125694

Regn. No. 24-DEO-618

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : SHIKHA KAUSHIK
Father's Name : ANIL KAUSHIK
Mother's Name : MEENU KAUSHIK

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	51 29	40AG	100	A+	9	04.0	36.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	48 50	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	59 30	40AG	100	0	10	04.0	40.0
4	MBAD-204 FINANCIAL MANAGEMENT	64 29	40AG	100	0	10	04.0	40.0
5	MBAD-205 BUSINESS RESEARCH METHODS	55 30	40AG	100	0	10	04.0	40.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	48 29	40AG	100	A+	9	04.0	36.0
	TOTAL	0522		0600			24.0	232.0
	GRAND TOTAL	0522		0600			24.0	232.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.67

		(Clerk)		(Assistant)	
Checked by	1		2		
KURUKSHET	ERA				
DATED:	JUN 12,202	5			



Roll No. 245125695

Regn. No. 24-DEO-624

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : MADHVI SHARMA
Father's Name : MAMRAJ SHARMA
Mother's Name : VANDNA KAUSHIK

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	42 28	40AG	100	А	8	04.0	32.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	44 40	40AG	100	A+	9	04.0	36.0
3	MBAD-203 MARKETING MANAGEMENT	46 29	40AG	100	A+	9	04.0	36.0
4	MBAD-204 FINANCIAL MANAGEMENT	49 25	40AG	100	А	8	04.0	32.0
5	MBAD-205 BUSINESS RESEARCH METHODS	43 26	40AG	100	А	8	04.0	32.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	51 23	40AG	100	A	8	04.0	32.0
	TOTAL	0446		0600			24.0	200.0
	GRAND TOTAL	0446		0600			24.0	200.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.33

DATED:	JUN 12,2025			
KURUKSHET	ERA			
Checked by	1		2	
		(Clerk)		(Assistant)



Roll No. 245125696

Regn. No. 24-DEO-648

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : KULBHUSHAN

Father's Name : BAGISH KUMAR SINGH

Mother's Name : NEELAM

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks	s Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	39	30	40AG	100	А	8	04.0	32.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	44	50	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	42	30	40AG	100	А	8	04.0	32.0
4	MBAD-204 FINANCIAL MANAGEMENT	47	29	40AG	100	A+	9	04.0	36.0
5	MBAD-205 BUSINESS RESEARCH METHODS	34	28	40AG	100	B+	7	04.0	28.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	43	30	40AG	100	А	8	04.0	32.0
	TOTAL		0446		0600			24.0	200.0
	GRAND TOTAL		0446		0600			24.0	200.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.33

		(CI	erk)		(Assistant)	
Checked by	1.			2		
KURUKSHET	ERA					
DATED:	JUN 12,2	2025				



Roll No. 245125697

Regn. No. 24-DEO-614

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : KAJAL PAENTIA
Father's Name : RAJESH KUMAR
Mother's Name : REENA DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks	Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	50	29	40AG	100	A+	9	04.0	36.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	48	50	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	59	30	40AG	100	0	10	04.0	40.0
4	MBAD-204 FINANCIAL MANAGEMENT	64	30	40AG	100	0	10	04.0	40.0
5	MBAD-205 BUSINESS RESEARCH METHODS	57	30	40AG	100	0	10	04.0	40.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	52	30	40AG	100	A+	9	04.0	36.0
	TOTAL		0529		0600			24.0	232.0
	GRAND TOTAL		0529		0600			24.0	232.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.67

DATED:	JUN 12,2025	5								
KURUKSHETERA										
Checked by	1		2.							
		(Clerk)		(Assistant)						

Data of issue



CONTROLLER OF EXAMINATIONS

Roll No. 245125698

Regn. No. 24-DEO-619

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : SNEHASIS CHATTERJEE
Father's Name : PROBHAKAR CHATTERJEE
Mother's Name : SANKARI CHATTERJEE

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtained		Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	32	27		40AG	100	B+	7	04.0	28.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	38	49		40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	37	29		40AG	100	А	8	04.0	32.0
4	MBAD-204 FINANCIAL MANAGEMENT	48	27		40AG	100	A+	9	04.0	36.0
5	MBAD-205 BUSINESS RESEARCH METHODS	00	26	F	40AG	100	F	0	04.0	0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	21	27		40AG	100	С	5	04.0	20.0
	TOTAL		***			0600			24.0	156.0
									24.0	156.0

RESULT: RE - TILL APR- 2027 IN: MBAD-205

DATED:	JUN 12,2	025			
KURUKSHET	ERA				
Checked by	1.			2.	
			(Clerk)		(Assistant)



Roll No. 245125699

Regn. No. 24-DEO-776

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : KHUSHPREET

Father's Name : DHARMINDER KUMAR Mother's Name : PARDEEP KUMARI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	51 30	40AG	100	A+	9	04.0	36.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	47 50	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	59 30	40AG	100	0	10	04.0	40.0
4	MBAD-204 FINANCIAL MANAGEMENT	58 30	40AG	100	0	10	04.0	40.0
5	MBAD-205 BUSINESS RESEARCH METHODS	58 30	40AG	100	0	10	04.0	40.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	54 30	40AG	100	A+	9	04.0	36.0
	TOTAL	0527		0600			24.0	232.0
	GRAND TOTAL	0527		0600			24.0	232.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.67

DATED:	JUN 12,202	25					
KURUKSHETERA							
Checked by	1		2				
		(Clerk)		(Assistant)			



Roll No. 245125700

Regn. No. 24-DEO-671

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : ABHISHEK TOMAR
Father's Name : SANTOSH KUMAR
Mother's Name : RENU SINGH

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	55 24	40AG	100	A+	9	04.0	36.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	48 49	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	61 26	40AG	100	0	10	04.0	40.0
4	MBAD-204 FINANCIAL MANAGEMENT	61 26	40AG	100	0	10	04.0	40.0
5	MBAD-205 BUSINESS RESEARCH METHODS	52 22	40AG	100	A	8	04.0	32.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	29 12	40AG	100	С	5	04.0	20.0
	TOTAL	0465		0600			24.0	208.0
	GRAND TOTAL	0465		0600			24.0	208.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.67

DATED:	JUN 12,2025							
KURUKSHETERA								
Checked by	1		_ 2					
		(Clerk)		(Assistant)				



Roll No. 245125701

RESULT-cum-DETAILED MARKS CARD ASTER OF BUSINESS ADMN SEM-02 EXAM: APR-2

Regn. No. 24-DEO-612

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : AMIT SINGH PANWAR
Father's Name : NARENDER SINGH
Mother's Name : SANTOSH DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	53 29	40AG	100	A+	9	04.0	36.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	47 50	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	55 30	40AG	100	0	10	04.0	40.0
4	MBAD-204 FINANCIAL MANAGEMENT	58 29	40AG	100	0	10	04.0	40.0
5	MBAD-205 BUSINESS RESEARCH METHODS	50 28	40AG	100	A+	9	04.0	36.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	50 28	40AG	100	A+	9	04.0	36.0
	TOTAL	0507		0600			24.0	228.0
	GRAND TOTAL	0507		0600			24.0	228.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.50

		(Clerk)		(Assistant)	
Checked by	1		2		
KURUKSHET	ERA				
DATED :	JUN 12,2025	5			



Roll No. 245125702

Regn. No. 24-DEO-611

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : RAHULGIRI
Father's Name : RAM ADHAR
Mother's Name : CHAMPA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	55 29	40AG	100	A+	9	04.0	36.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	44 50	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	52 29	40AG	100	A+	9	04.0	36.0
4	MBAD-204 FINANCIAL MANAGEMENT	60 27	40AG	100	0	10	04.0	40.0
5	MBAD-205 BUSINESS RESEARCH METHODS	43 29	40AG	100	А	8	04.0	32.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	49 26	40AG	100	A+	9	04.0	36.0
	TOTAL	0493		0600			24.0	220.0
	GRAND TOTAL	0493		0600			24.0	220.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.17

DATED:	JUN 12,2025								
KURUKSHETERA									
Checked by	1		2						
		(Clerk)		(Assistant)					



Roll No. 245125703

Regn. No. 24-DEO-617

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : RAKESH KUMAR
Father's Name : JAI PRAKASH ARYA
Mother's Name : OMWATI DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks	Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	60	29	40AG	100	0	10	04.0	40.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	48	50	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	57	30	40AG	100	0	10	04.0	40.0
4	MBAD-204 FINANCIAL MANAGEMENT	62	29	40AG	100	0	10	04.0	40.0
5	MBAD-205 BUSINESS RESEARCH METHODS	54	30	40AG	100	A+	9	04.0	36.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	47	30	40AG	100	A+	9	04.0	36.0
	TOTAL		0526		0600			24.0	232.0
	GRAND TOTAL		0526		0600			24.0	232.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.67

		(Clerk)		(Assistar	nt)
Checked by	1		2.		
KURUKSHET	ERA				
DATED:	JUN 12,20	25			



Roll No. 245125704

Regn. No. 24-DEO-627

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : PRINCE

Father's Name : OM PRAKASH Mother's Name : MEENA RANI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	55 29	40AG	100	A+	9	04.0	36.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	47 50	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	58 30	40AG	100	0	10	04.0	40.0
4	MBAD-204 FINANCIAL MANAGEMENT	65 30	40AG	100	0	10	04.0	40.0
5	MBAD-205 BUSINESS RESEARCH METHODS	59 30	40AG	100	0	10	04.0	40.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	50 30	40AG	100	A+	9	04.0	36.0
	TOTAL	0533		0600			24.0	232.0
	GRAND TOTAL	0533		0600			24.0	232.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.67

			(Clerk)		(Assistant)
Checked by	1.			_ 2	
KURUKSHET	ERA				
DATED:	JUN 12,2	2025			



Roll No. 245125705

Regn. No. 24-DEO-809

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : ASHISH DHEER
Father's Name : RAKESH DHEER
Mother's Name : SUMAN DHEER

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	33 27	40AG	100	B+	7	04.0	28.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	42 49	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	30 30	40AG	100	B+	7	04.0	28.0
4	MBAD-204 FINANCIAL MANAGEMENT	34 24	40AG	100	B+	7	04.0	28.0
5	MBAD-205 BUSINESS RESEARCH METHODS	30 28	40AG	100	B+	7	04.0	28.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	26 26	40AG	100	В	6	04.0	24.0
	TOTAL	0379		0600			24.0	176.0
	GRAND TOTAL	0379		0600			24.0	176.0

RESULT: PASSED AND HAS OBTAINED: SGPA 7.33

		(Clerk)		(Assistant)	
Checked by	1		2		
KURUKSHET	ERA				
DATED:	JUN 12,202	5			



Roll No. 245125707

24-DEO-615 Regn. No.

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM: APR-2025 (CBCS-CDOE)

Name : RAHUL KUMAR SHARMA

: ASHOK KUMAR Father's Name

Mother's Name : USHA

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	50 29	40AG	100	A+	9	04.0	36.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	42 47	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	57 30	40AG	100	0	10	04.0	40.0
4	MBAD-204 FINANCIAL MANAGEMENT	59 25	40AG	100	A+	9	04.0	36.0
5	MBAD-205 BUSINESS RESEARCH METHODS	46 30	40AG	100	A+	9	04.0	36.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	44 29	40AG	100	A	8	04.0	32.0
	TOTAL	0488		0600			24.0	220.0
	GRAND TOTAL	0488		0600			24.0	220.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.17

DATED: JUN 12,2025 KURUKSHETERA Checked by 1.

Data of issue

(Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Roll No. 245125708

Regn. No. 24-DEO-603

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : PRINKA
Father's Name : RISHI PAL
Mother's Name : SUMAN

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	51 30	40AG	100	A+	9	04.0	36.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	46 50	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	53 30	40AG	100	A+	9	04.0	36.0
4	MBAD-204 FINANCIAL MANAGEMENT	63 28	40AG	100	0	10	04.0	40.0
5	MBAD-205 BUSINESS RESEARCH METHODS	44 29	40AG	100	A	8	04.0	32.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	49 30	40AG	100	A+	9	04.0	36.0
	TOTAL	0503		0600			24.0	220.0
	GRAND TOTAL	0503		0600			24.0	220.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.17

DATED:	JUN 12,2025			
KURUKSHET	ERA			
Checked by	1		2	
		(Clerk)		(Assistant)



Roll No. 245125709

Regn. No. 24-DEO-643

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : MS DIKSHA BHARDWAJ
Father's Name : RAJENDRA BHARDWAJ
Mother's Name : DIPTI BHARDWAJ

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtai	ned	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	31	27		40AG	100	B+	7	04.0	28.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	26	47		40AG	100	А	8	04.0	32.0
3	MBAD-203 MARKETING MANAGEMENT	38	16		40AG	100	В	6	04.0	24.0
4	MBAD-204 FINANCIAL MANAGEMENT	31	13		40AG	100	С	5	04.0	20.0
5	MBAD-205 BUSINESS RESEARCH METHODS	29	11	*	40AG	100	P	4	04.0	16.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	21	9	F	40AG	100	F	0	04.0	0
	TOTAL		*	**		0600			24.0	120.0
									24.0	120.0

RESULT: RE - TILL APR- 2027 IN: MBAD-206

DATED:	JUN 12,2025			
KURUKSHET	ERA			
Checked by	1.		_ 2	
		(Clerk)		(Assistant)



Roll No. 245125710

Regn. No. 24-DEO-692

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : NEERAJ CHHETRI
Father's Name : D B CHHETRI
Mother's Name : AMITA CHHETRI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	44 28	40AG	100	А	8	04.0	32.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	45 45	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	53 29	40AG	100	A+	9	04.0	36.0
4	MBAD-204 FINANCIAL MANAGEMENT	60 21	40AG	100	A+	9	04.0	36.0
5	MBAD-205 BUSINESS RESEARCH METHODS	48 21	40AG	100	А	8	04.0	32.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	48 22	40AG	100	A	8	04.0	32.0
	TOTAL	0464		0600			24.0	208.0
	GRAND TOTAL	0464		0600			24.0	208.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.67

		(Cler	k)		(Assistant)	
Checked by	1			2		
KURUKSHET	ERA					
DATED:	JUN 12,2	025				

Data of issue



CONTROLLER OF EXAMINATIONS

Roll No. 245125711

Regn. No. 24-DEO-601

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : OSHIK ANAND
Father's Name : RAJINDER ANAND
Mother's Name : SONIA ANAND

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtain	ed	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	01	0	F	40AG	100	F	0	04.0	0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	AB	AB	F	40AG	100	F	0	04.0	0
3	MBAD-203 MARKETING MANAGEMENT	AB	AB	F	40AG	100	F	0	04.0	0
4	MBAD-204 FINANCIAL MANAGEMENT	AB	AB	F	40AG	100	F	0	04.0	0
5	MBAD-205 BUSINESS RESEARCH METHODS	03	1	F	40AG	100	F	0	04.0	0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	AB	AB	F	40AG	100	F	0	04.0	0
	TOTAL		***	*		0600			24.0	0.000
									8.0	0.0

RESULT: RE - TILL APR- 2027 IN: FAIL

DATED:	JUN 12,2025	5		
KURUKSHET	ERA			
Checked by	1		2.	
		(Clerk)		(Assistant)



Roll No. 245125712

Regn. No. 24-DEO-606

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : SUNIL KUMAR
Father's Name : CHAMEL CHAND
Mother's Name : SOMA DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	45	30	40AG	100	A+	9	04.0	36.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	48	50	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	59	30	40AG	100	0	10	04.0	40.0
4	MBAD-204 FINANCIAL MANAGEMENT	65	29	40AG	100	0	10	04.0	40.0
5	MBAD-205 BUSINESS RESEARCH METHODS	50	30	40AG	100	A+	9	04.0	36.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	48	30	40AG	100	A+	9	04.0	36.0
	TOTAL		0514		0600			24.0	228.0
	GRAND TOTAL		0514		0600			24.0	228.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.50

		(Clerk)		(Assistant)	
Checked by	1		2		
KURUKSHET	ERA				
DATED:	JUN 12,20	25			



Roll No. 245125713

Regn. No. 24-DEO-610

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : GURVINDER KAUR
Father's Name : MANJEET SINGH
Mother's Name : VEENA RANI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	46 27	40AG	100	А	8	04.0	32.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	44 50	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	61 30	40AG	100	0	10	04.0	40.0
4	MBAD-204 FINANCIAL MANAGEMENT	61 26	40AG	100	0	10	04.0	40.0
5	MBAD-205 BUSINESS RESEARCH METHODS	45 24	40AG	100	A	8	04.0	32.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	46 26	40AG	100	A	8	04.0	32.0
	TOTAL	0486		0600			24.0	216.0
	GRAND TOTAL	0486		0600			24.0	216.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.00

DATED:	JUN 12,2025			
KURUKSHET	ERA			
Checked by	1		_ 2	
		(Clerk)		(Assistant)



Roll No. 245125714

Regn. No. 24-DEO-605

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : JATIN

Father's Name : KRISHAN KUMAR

Mother's Name : REKHA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtain	ed	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	49	21		40AG	100	А	8	04.0	32.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	АВ	AB	F	40AG	100	F	0	04.0	0
3	MBAD-203 MARKETING MANAGEMENT	62	27		40AG	100	0	10	04.0	40.0
4	MBAD-204 FINANCIAL MANAGEMENT	АВ	AB	F	40AG	100	F	0	04.0	0
5	MBAD-205 BUSINESS RESEARCH METHODS	55	24		40AG	100	A+	9	04.0	36.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	АВ	AB	F	40AG	100	F	0	04.0	0
	TOTAL		**	**		0600			24.0	108.0
									12.0	108.0

RESULT: RE - TILL APR- 2027 IN: MBAD-202 MBAD-204 MBAD-206

			(Clerk)		(Assistant)	
Checked by	1.			_ 2		
KURUKSHET	ERA					
DATED :	JUN 12,2	2025				

Data of issue

Banus

CONT	ROLLE	R OF	EXAMII	NATIONS
CONT	ROLLE	R OF	FXAMII	NATION

Roll No. 245125715

Regn. No. 24-DEO-604

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : SUMIT NANDA Father's Name : RAJINDER KUMAR

Mother's Name : VEENA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	52 22	40AG	100	А	8	04.0	32.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	49 49	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	58 25	40AG	100	A+	9	04.0	36.0
4	MBAD-204 FINANCIAL MANAGEMENT	64 27	40AG	100	0	10	04.0	40.0
5	MBAD-205 BUSINESS RESEARCH METHODS	58 25	40AG	100	A+	9	04.0	36.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	41 18	40AG	100	B+	7	04.0	28.0
	TOTAL	0488		0600			24.0	212.0
	GRAND TOTAL	0488		0600			24.0	212.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.83

		(Cle	erk)		(Assistant)	
Checked by	1.		-	2		
KURUKSHET	ERA					
DATED :	JUN 12,2	2025				



Roll No. 245125716

Regn. No. 24-DEO-595

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : PARVEEN S

Father's Name : NARENDER SINGH Mother's Name : SANTOSH DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks	Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	52	29	40AG	100	A+	9	04.0	36.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	45	50	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	53	30	40AG	100	A+	9	04.0	36.0
4	MBAD-204 FINANCIAL MANAGEMENT	63	27	40AG	100	0	10	04.0	40.0
5	MBAD-205 BUSINESS RESEARCH METHODS	51	27	40AG	100	A+	9	04.0	36.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	45	29	40AG	100	A	8	04.0	32.0
	TOTAL		0501		0600			24.0	220.0
	GRAND TOTAL		0501		0600			24.0	220.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.17

			(Clerk)		(Assistant)	
Checked by	1.			2		_
KURUKSHET	ERA					
DATED:	JUN 12,2	2025				



Roll No. 245125717

Regn. No. 24-DEO-597

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : TANIYA CHOUDHARY

Father's Name : JOGINDER Mother's Name : SANTOSH

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	51 28	40AG	100	A+	9	04.0	36.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	48 49	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	57 30	40AG	100	0	10	04.0	40.0
4	MBAD-204 FINANCIAL MANAGEMENT	67 29	40AG	100	0	10	04.0	40.0
5	MBAD-205 BUSINESS RESEARCH METHODS	56 30	40AG	100	0	10	04.0	40.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	51 30	40AG	100	A+	9	04.0	36.0
	TOTAL	0526		0600			24.0	232.0
	GRAND TOTAL	0526		0600			24.0	232.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.67

·		(Cle		(Assistant)	
Checked by	1.		2.		
KURUKSHET	ERA				
DATED:	JUN 12,2	025			



Roll No. 245125718

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-598

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : NAVDEEP SINGH
Father's Name : NATHA SINGH
Mother's Name : MANJIT KAUR

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	37 16	40AG	100	В	6	04.0	24.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	36 35	40AG	100	А	8	04.0	32.0
3	MBAD-203 MARKETING MANAGEMENT	45 19	40AG	100	B+	7	04.0	28.0
4	MBAD-204 FINANCIAL MANAGEMENT	54 23	40AG	100	A+	9	04.0	36.0
5	MBAD-205 BUSINESS RESEARCH METHODS	45 19	40AG	100	B+	7	04.0	28.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	41 18	40AG	100	B+	7	04.0	28.0
	TOTAL	0388		0600			24.0	176.0
	GRAND TOTAL	0388		0600			24.0	176.0

RESULT: PASSED AND HAS OBTAINED: SGPA 7.33

		(Clerk)		(Assistant)	
Checked by	1		2		
KURUKSHET	ERA				
DATED:	JUN 12,20	25			



Roll No. 245125719

Regn. No. 24-DEO-592

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : TINA KAPOOR
Father's Name : RUPESH KAPOOR
Mother's Name : GANGA KAPOOR

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	46	22	40AG	100	А	8	04.0	32.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	43	42	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	51	27	40AG	100	A+	9	04.0	36.0
4	MBAD-204 FINANCIAL MANAGEMENT	63	21	40AG	100	A+	9	04.0	36.0
5	MBAD-205 BUSINESS RESEARCH METHODS	50	25	40AG	100	A+	9	04.0	36.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	52	25	40AG	100	A+	9	04.0	36.0
	TOTAL		0467		0600			24.0	216.0
	GRAND TOTAL		0467		0600			24.0	216.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.00

		(Clerk)		(Assistant)	
Checked by	1		2		
KURUKSHET	ERA				
DATED:	JUN 12,20	25			



Roll No. 245125720

Regn. No. 24-DEO-672

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : PUNIT
Father's Name : MOHAN LAL
Mother's Name : VEENA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	37 14	40AG	100	В	6	04.0	24.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	40 40	40AG	100	A+	9	04.0	36.0
3	MBAD-203 MARKETING MANAGEMENT	41 18	40AG	100	B+	7	04.0	28.0
4	MBAD-204 FINANCIAL MANAGEMENT	49 21	40AG	100	А	8	04.0	32.0
5	MBAD-205 BUSINESS RESEARCH METHODS	41 18	40AG	100	B+	7	04.0	28.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	39 17	40AG	100	B+	7	04.0	28.0
	TOTAL	0375		0600			24.0	176.0
	GRAND TOTAL	0375		0600			24.0	176.0

RESULT: PASSED AND HAS OBTAINED: SGPA 7.33

DATED:	JUN 12,2	2025			
KURUKSHET	ERA				
Checked by	1.			_ 2.	
		(Clerk)		(Assistant)



Roll No. 245125721

Regn. No. 24-DEO-588

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : JASVINDER KAUR

Father's Name : MASTAN SINGH CHAWLA
Mother's Name : NARINDER KAUR CHAWLA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Ob	tained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	56 27		40AG	100	A+	9	04.0	36.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	47 50		40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	56 30		40AG	100	0	10	04.0	40.0
4	MBAD-204 FINANCIAL MANAGEMENT	61 27		40AG	100	0	10	04.0	40.0
5	MBAD-205 BUSINESS RESEARCH METHODS	51 28		40AG	100	A+	9	04.0	36.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	49 29		40AG	100	A+	9	04.0	36.0
	TOTAL	(0511		0600			24.0	228.0
	GRAND TOTAL	(0511		0600			24.0	228.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.50

			(Clerk)	_	(Assistant)
Checked by	1.			2	
KURUKSHET	ERA				
DATED:	JUN 12,2	2025			



Roll No. 245125722

Regn. No. 24-DEO-609

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : MUKESH KUMAR
Father's Name : JAI BHAGWAN
Mother's Name : KOSHALAYA DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	49 28	40AG	100	A+	9	04.0	36.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	45 47	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	49 29	40AG	100	A+	9	04.0	36.0
4	MBAD-204 FINANCIAL MANAGEMENT	52 24	40AG	100	A+	9	04.0	36.0
5	MBAD-205 BUSINESS RESEARCH METHODS	46 24	40AG	100	A	8	04.0	32.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	46 28	40AG	100	A	8	04.0	32.0
	TOTAL	0467		0600			24.0	212.0
	GRAND TOTAL	0467		0600			24.0	212.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.83

		(Cle	rk)		(Assistant)	
Checked by	1.			2		
KURUKSHETERA						
DATED :	JUN 12,2	2025				



Roll No. 245125723

RESULT-cum-DETAILED MARKS CARD Regn. No. 24-DEO-594

MASTER OF BUSINESS ADMN SEM-02 EXAM: APR- 2025 (CBCS-CDOE)

Name : VASANTHAGOPAL R
Father's Name : K RAMANKUTTY ASARI

Mother's Name : L OMANA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obta	ined	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	51 29		40AG	100	A+	9	04.0	36.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	38 47		40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	56 30		40AG	100	0	10	04.0	40.0
4	MBAD-204 FINANCIAL MANAGEMENT	59 27		40AG	100	0	10	04.0	40.0
5	MBAD-205 BUSINESS RESEARCH METHODS	43 27		40AG	100	А	8	04.0	32.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	46 24		40AG	100	A	8	04.0	32.0
	TOTAL	04	177		0600			24.0	220.0
	GRAND TOTAL	04	177		0600			24.0	220.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.17

DATED:	JUN 12,202	25									
KURUKSHETERA											
Checked by	1		2								
		(Clerk)		(Assistant)							



Roll No. 245125724

Regn. No. 24-DEO-584

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : RANJANA KHATRI
Father's Name : DEVI SHARAN
Mother's Name : VIJAY LAXMI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	44 28	40AG	100	А	8	04.0	32.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	40 49	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	44 30	40AG	100	А	8	04.0	32.0
4	MBAD-204 FINANCIAL MANAGEMENT	56 19	40AG	100	A+	9	04.0	36.0
5	MBAD-205 BUSINESS RESEARCH METHODS	39 26	40AG	100	А	8	04.0	32.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	36 26	40AG	100	B+	7	04.0	28.0
	TOTAL	0437		0600			24.0	200.0
	GRAND TOTAL	0437		0600			24.0	200.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.33

		(Clerk)		(Assistant)	
Checked by	1		2		
KURUKSHET	ERA				
DATED:	JUN 12,202	5			

Data of issue

Banne

Roll No. 245125725

Regn. No. 24-DEO-864

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : HARSH SACHDEVA
Father's Name : SUBHASH SACHDEVA
Mother's Name : SARLA SACHDEVA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtair	ned Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	50 29	40AG	100	A+	9	04.0	36.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	43 49	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	49 30	40AG	100	A+	9	04.0	36.0
4	MBAD-204 FINANCIAL MANAGEMENT	63 29	40AG	100	О	10	04.0	40.0
5	MBAD-205 BUSINESS RESEARCH METHODS	51 27	40AG	100	A+	9	04.0	36.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	55 29	40AG	100	A+	9	04.0	36.0
	TOTAL	050	04	0600			24.0	224.0
	GRAND TOTAL	050)4	0600			24.0	224.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.33

DATED:	JUN 12,2025										
KURUKSHETERA											
Checked by	1		2								
		(Clerk)		(Assistant)							



Roll No. 245125727

Regn. No. 24-DEO-596

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : GHANSHYAM
Father's Name : CHANI RAM
Mother's Name : YASHODA DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	20 29	40AG	100	С	5	04.0	20.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	39 49	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	55 30	40AG	100	0	10	04.0	40.0
4	MBAD-204 FINANCIAL MANAGEMENT	63 30	40AG	100	0	10	04.0	40.0
5	MBAD-205 BUSINESS RESEARCH METHODS	43 30	40AG	100	А	8	04.0	32.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	44 28	40AG	100	A	8	04.0	32.0
	TOTAL	0460		0600			24.0	204.0
	GRAND TOTAL	0460		0600			24.0	204.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.50

		(Clerk)		(Assistant)	
Checked by	1		2		
KURUKSHET	ERA				
DATED :	JUN 12,2025	5			



Roll No. 245125728

Regn. No. 24-DEO-581

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : ANJALI
Father's Name : KRISHAN LAL
Mother's Name : SUMAN

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtain	ed	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	AB	AB	F	40AG	100	F	0	04.0	0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	42	47		40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	AB	AB	F	40AG	100	F	0	04.0	0
4	MBAD-204 FINANCIAL MANAGEMENT	55	23		40AG	100	A+	9	04.0	36.0
5	MBAD-205 BUSINESS RESEARCH METHODS	АВ	AB	F	40AG	100	F	0	04.0	0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	43	25		40AG	100	A	8	04.0	32.0
	TOTAL	***			0600			24.0	108.0	
									12.0	108.0

RESULT: RE - TILL APR- 2027 IN: MBAD-201 MBAD-203 MBAD-205

			(Clerk)		(Assistant)	
Checked by	1.			2		
KURUKSHET	ERA					
DATED:	JUN 12,2	2025				



Roll No. 245125729

Regn. No. 24-DEO-591

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : AKHIL

Father's Name : SATISH KUMAR Mother's Name : ASHA RANI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	38 28	40AG	100	А	8	04.0	32.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	40 50	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	36 30	40AG	100	А	8	04.0	32.0
4	MBAD-204 FINANCIAL MANAGEMENT	55 27	40AG	100	A+	9	04.0	36.0
5	MBAD-205 BUSINESS RESEARCH METHODS	35 30	40AG	100	А	8	04.0	32.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	36 30	40AG	100	A	8	04.0	32.0
	TOTAL	0435		0600			24.0	204.0
	GRAND TOTAL	0435		0600			24.0	204.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.50

			(Clerk)		(Assistant)	
Checked by	1.			_ 2		
KURUKSHET	ΓERA					
DATED:	JUN 12,2	2025				



Regn. No.

Roll No. 245125730

24-DEO-587

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : RAHUL RANJAN
Father's Name : TARACHAND PRASAD

Mother's Name : MINI DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	48 29	40AG	100	A+	9	04.0	36.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	47 50	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	46 30	40AG	100	A+	9	04.0	36.0
4	MBAD-204 FINANCIAL MANAGEMENT	64 23	40AG	100	0	10	04.0	40.0
5	MBAD-205 BUSINESS RESEARCH METHODS	56 24	40AG	100	A+	9	04.0	36.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	56 24	40AG	100	A+	9	04.0	36.0
	TOTAL	0497		0600			24.0	224.0
	GRAND TOTAL	0497		0600			24.0	224.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.33

DATED:	JUN 12,20	025			
KURUKSHET	ERA				
Checked by	1		2.		
		(Clerk)	(Assistant)	

Data of issue



CONTROLLER OF EXAMINATIONS

Roll No. 245125733

Regn. No. 24-DEO-593

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : VARUN SINGH
Father's Name : SURENDER
Mother's Name : KAMLESH DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	56 29	40AG	100	0	10	04.0	40.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	48 49	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	54 30	40AG	100	A+	9	04.0	36.0
4	MBAD-204 FINANCIAL MANAGEMENT	66 30	40AG	100	0	10	04.0	40.0
5	MBAD-205 BUSINESS RESEARCH METHODS	54 30	40AG	100	A+	9	04.0	36.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	56 30	40AG	100	0	10	04.0	40.0
	TOTAL	0532		0600			24.0	232.0
	GRAND TOTAL	0532		0600			24.0	232.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.67

DATED:	JUN 12,2025			
KURUKSHET	ERA			
Checked by	1		2	
		(Clerk)		(Assistant)



Roll No. 245125735

RESULT-cum-DETAILED MARKS CARD Regn. No. 24-DE0-580

MASTER OF BUSINESS ADMN SEM-02 EXAM: APR- 2025 (CBCS-CDOE)

Name : MOHAMAD RAJA
Father's Name : MOHAMAD MOIM
Mother's Name : HAMIDA KHATUN

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	54 23	40AG	100	A+	9	04.0	36.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	41 39	40AG	100	A+	9	04.0	36.0
3	MBAD-203 MARKETING MANAGEMENT	54 15	40AG	100	A	8	04.0	32.0
4	MBAD-204 FINANCIAL MANAGEMENT	55 15	40AG	100	A	8	04.0	32.0
5	MBAD-205 BUSINESS RESEARCH METHODS	44 14	40AG	100	B+	7	04.0	28.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	51 21	40AG	100	A	8	04.0	32.0
	TOTAL	0426		0600			24.0	196.0
	GRAND TOTAL	0426		0600			24.0	196.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.17

DATED:	JUN 12,2	2025			
KURUKSHET	ERA				
Checked by	1.			2	
		((Clerk)		(Assistant)



Roll No. 245125738

24-DEO-576 Regn. No.

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM: APR-2025 (CBCS-CDOE)

Name : DAMINI

: JOGINDER SINGH Father's Name

: ANJU BALA Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	46 28	40AG	100	А	8	04.0	32.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	42 49	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	37 30	40AG	100	А	8	04.0	32.0
4	MBAD-204 FINANCIAL MANAGEMENT	48 26	40AG	100	А	8	04.0	32.0
5	MBAD-205 BUSINESS RESEARCH METHODS	44 27	40AG	100	А	8	04.0	32.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	46 26	40AG	100	А	8	04.0	32.0
	TOTAL	0449		0600			24.0	200.0
	GRAND TOTAL	0449		0600			24.0	200.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.33

> DATED: JUN 12,2025 KURUKSHETERA

Data of issue

Checked by 1.

(Clerk) (Assistant)

Roll No. 245125739

Regn. No. 24-DEO-589

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : ANU TYAGI
Father's Name : JOGINDER TYAGI
Mother's Name : KUSUM TYAGI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtai	ned	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	AB	23	F	40AG	100	F	0	04.0	0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	38	37		40AG	100	A+	9	04.0	36.0
3	MBAD-203 MARKETING MANAGEMENT	AB	26	F	40AG	100	F	0	04.0	0
4	MBAD-204 FINANCIAL MANAGEMENT	AB	21	F	40AG	100	F	0	04.0	0
5	MBAD-205 BUSINESS RESEARCH METHODS	36	24		40AG	100	B+	7	04.0	28.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	AB	21	F	40AG	100	F	0	04.0	0
	TOTAL		*	**		0600			24.0	064.0
									24.0	64.0

RESULT: RE - TILL APR- 2027 IN: MBAD-201 MBAD-203 MBAD-204 MBAD-206

DATED:	JUN 12,202	25		
KURUKSHET	ERA			
Checked by	1		2	
		(Clerk)		(Assistant)



Roll No. 245125740

RESULT-cum-DETAILED MARKS CARD

Regn. No. 24-DEO-572

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : TAVLEEN KAUR
Father's Name : SAGARJEET SINGH
Mother's Name : JUGJEEV KAUR

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	47 27	40AG	100	Α	8	04.0	32.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	40 49	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	56 30	40AG	100	0	10	04.0	40.0
4	MBAD-204 FINANCIAL MANAGEMENT	58 24	40AG	100	A+	9	04.0	36.0
5	MBAD-205 BUSINESS RESEARCH METHODS	49 27	40AG	100	A+	9	04.0	36.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	36 27	40AG	100	B+	7	04.0	28.0
	TOTAL	0470		0600			24.0	212.0
	GRAND TOTAL	0470		0600			24.0	212.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.83

DATED:	JUN 12,2025			
KURUKSHET	ERA			
Checked by	1		2	
		(Clerk)		(Assistant)



Roll No. 245125741

24-DEO-602 Regn. No.

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM: APR-2025 (CBCS-CDOE)

Name : GAURAV GHAI

: KEWAL KRISHAN GHAI Father's Name

: RITU GHAI Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Marks	Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	51	29	40AG	100	A+	9	04.0	36.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	45	47	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	50	23	40AG	100	A	8	04.0	32.0
4	MBAD-204 FINANCIAL MANAGEMENT	67	27	40AG	100	0	10	04.0	40.0
5	MBAD-205 BUSINESS RESEARCH METHODS	51	30	40AG	100	A+	9	04.0	36.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	57	30	40AG	100	0	10	04.0	40.0
	TOTAL		0507		0600			24.0	224.0
	GRAND TOTAL		0507		0600			24.0	224.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.33

> DATED: JUN 12,2025 KURUKSHETERA Checked by 1.

Data of issue

(Clerk) (Assistant)

Roll No. 245125742

24-DEO-573

RESULT-cum-DETAILED MARKS CARD Regn. No.

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : NISCHAY
Father's Name : CHAP SINGH
Mother's Name : GEETA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	40	27	40AG	100	А	8	04.0	32.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	38	49	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	45	27	40AG	100	А	8	04.0	32.0
4	MBAD-204 FINANCIAL MANAGEMENT	45	19	40AG	100	B+	7	04.0	28.0
5	MBAD-205 BUSINESS RESEARCH METHODS	23	10 F	40AG	100	F	0	04.0	0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	33	25	40AG	100	B+	7	04.0	28.0
	TOTAL		***		0600			24.0	160.0
								24.0	160.0

RESULT: RE - TILL APR- 2027 IN: MBAD-205

DATED:	JUN 12,2	2025			
KURUKSHET	ERA				
Checked by	1.			_ 2.	
		(Clerk)		(Assistant)



Roll No. 245125743

24-DEO-613 Regn. No.

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM: APR-2025 (CBCS-CDOE)

Name : MUSKAN

: ASHOK KUMAR Father's Name

: SUNITA Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtain	ed	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	AB	AB	F	40AG	100	F	0	04.0	0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	43	47		40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	AB	AB	F	40AG	100	F	0	04.0	0
4	MBAD-204 FINANCIAL MANAGEMENT	62	24		40AG	100	0	10	04.0	40.0
5	MBAD-205 BUSINESS RESEARCH METHODS	AB	AB	F	40AG	100	F	0	04.0	0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	39	23		40AG	100	B+	7	04.0	28.0
	TOTAL		**	**		0600			24.0	108.0
									12.0	108.0

MBAD-201 MBAD-203 MBAD-205 RESULT: RE - TILL APR- 2027 IN:

DATED: JUN 12,2025

KURUKSHETERA

Data of issue

Checked by 1.

(Clerk)

(Assistant)

Roll No. 245125744

Regn. No. 24-DEO-607

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : MADHURJYA CHAKRAVARTY

Father's Name : KANAK CHAKRAVARTY

Mother's Name : JONAKI CHAKRAVARTY

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	51 28	40AG	100	A+	9	04.0	36.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	48 49	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	59 30	40AG	100	0	10	04.0	40.0
4	MBAD-204 FINANCIAL MANAGEMENT	65 28	40AG	100	0	10	04.0	40.0
5	MBAD-205 BUSINESS RESEARCH METHODS	51 30	40AG	100	A+	9	04.0	36.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	53 29	40AG	100	A+	9	04.0	36.0
	TOTAL	0521		0600			24.0	228.0
	GRAND TOTAL	0521		0600			24.0	228.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.50

			(Clerk)	_	(Assistant)
Checked by	1.			2	
KURUKSHET	ERA				
DATED:	JUN 12,2	2025			



Roll No. 245125745

Regn. No. 24-DEO-585

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : MANDEEP KAUR
Father's Name : KESAR SINGH
Mother's Name : DALJEET KAUR

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	56	28	40AG	100	A+	9	04.0	36.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	49	50	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	57	30	40AG	100	0	10	04.0	40.0
4	MBAD-204 FINANCIAL MANAGEMENT	65	25	40AG	100	0	10	04.0	40.0
5	MBAD-205 BUSINESS RESEARCH METHODS	57	28	40AG	100	0	10	04.0	40.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	45	29	40AG	100	A	8	04.0	32.0
	TOTAL		0519		0600			24.0	228.0
	GRAND TOTAL		0519		0600			24.0	228.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.50

DATED:	JUN 12,2025			
KURUKSHET	ERA			
Checked by	1		2	
		(Clerk)		(Assistant)

Data of issue



CONTROLLER OF EXAMINATIONS

Roll No. 245125746

RESULT-cum-DETAILED MARKS CARD Regn. No. 24-DE0-600

MASTER OF BUSINESS ADMN SEM-02 EXAM: APR- 2025 (CBCS-CDOE)

Name : DEEPANSHI VERMA

Father's Name : DILIP VERMA

Mother's Name : SEEMA VERMA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	54	16	40AG	100	А	8	04.0	32.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	48	47	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	60	26	40AG	100	0	10	04.0	40.0
4	MBAD-204 FINANCIAL MANAGEMENT	63	27	40AG	100	0	10	04.0	40.0
5	MBAD-205 BUSINESS RESEARCH METHODS	54	23	40AG	100	A+	9	04.0	36.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	56	24	40AG	100	A+	9	04.0	36.0
	TOTAL		0498		0600			24.0	224.0
	GRAND TOTAL		0498		0600			24.0	224.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.33

DATED:	JUN 12,202	25		
KURUKSHET	ERA			
Checked by	1		2	
		(Clerk)		(Assistant)



Roll No. 245125747

Regn. No. 24-DEO-570

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : BHARTI VERMA
Father's Name : VIJAY VERMA
Mother's Name : SAVITRI DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	57 29	40AG	100	0	10	04.0	40.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	43 50	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	64 21	40AG	100	0	10	04.0	40.0
4	MBAD-204 FINANCIAL MANAGEMENT	66 28	40AG	100	0	10	04.0	40.0
5	MBAD-205 BUSINESS RESEARCH METHODS	57 30	40AG	100	0	10	04.0	40.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	46 27	40AG	100	А	8	04.0	32.0
	TOTAL	0518		0600			24.0	232.0
	GRAND TOTAL	0518		0600			24.0	232.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.67

DATED:	JUN 12,2	025			
KURUKSHET	ERA				
Checked by	1.		2.		
		(Clerl	()	(Assista	nt)



Roll No. 245125749

Regn. No. 24-DEO-577

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : BALAMURALY S S

Father's Name : V P SHANMUGAN ASSARI

Mother's Name : K SOUMENY

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	53	28	40AG	100	A+	9	04.0	36.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	35	45	40AG	100	A+	9	04.0	36.0
3	MBAD-203 MARKETING MANAGEMENT	53	30	40AG	100	A+	9	04.0	36.0
4	MBAD-204 FINANCIAL MANAGEMENT	56	26	40AG	100	A+	9	04.0	36.0
5	MBAD-205 BUSINESS RESEARCH METHODS	43	27	40AG	100	A	8	04.0	32.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	40	27	40AG	100	А	8	04.0	32.0
	TOTAL		0463		0600			24.0	208.0
	GRAND TOTAL		0463		0600			24.0	208.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.67

		(Cle	erk)		(Assistant)	
Checked by	1.			2		
KURUKSHET	ERA					
DATED:	JUN 12,2	2025				



CONTROLL	ER OF E	EXAMIN	ATIONS

Regn. No.

Roll No. 245125750

24-DEO-641

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : SANDEEP DADHIYALA

Father's Name : MANJEET SINGH
Mother's Name : KAMALJEET KAUR

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtaine	ed	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	28	12		40AG	100	Р	4	04.0	16.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	30	30		40AG	100	B+	7	04.0	28.0
3	MBAD-203 MARKETING MANAGEMENT	31	13		40AG	100	С	5	04.0	20.0
4	MBAD-204 FINANCIAL MANAGEMENT	41	18		40AG	100	B+	7	04.0	28.0
5	MBAD-205 BUSINESS RESEARCH METHODS	37	16		40AG	100	В	6	04.0	24.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	24	10	F	40AG	100	F	0	04.0	0
	TOTAL		**	*		0600			24.0	116.0
									24.0	116.0

RESULT: RE - TILL APR- 2027 IN: MBAD-206

		(Cl	erk)		(Assistant	t)
Checked by	1.			2		
KURUKSHET	ERA					
DATED :	JUN 12,2	2025				



Roll No. 245125751

Regn. No. 24-DEO-568

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : DEEPAK BISNOI
Father's Name : HANUMAN BISNOI
Mother's Name : SAROJ BALA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obta	ined Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	46 29	40AG	100	A+	9	04.0	36.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	46 50	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	47 28	40AG	100	A+	9	04.0	36.0
4	MBAD-204 FINANCIAL MANAGEMENT	59 26	40AG	100	0	10	04.0	40.0
5	MBAD-205 BUSINESS RESEARCH METHODS	52 26	40AG	100	A+	9	04.0	36.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	41 27	40AG	100	A	8	04.0	32.0
	TOTAL	04	177	0600			24.0	220.0
	GRAND TOTAL	04	177	0600			24.0	220.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.17

DATED:	JUN 12,2025			
KURUKSHET	ERA			
Checked by	1		2	
		(Clerk)		(Assistant)



Roll No. 245125752

Regn. No. 24-DEO-578

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : MOHIT SHARMA Father's Name : SOMDUTT SAHRMA

Mother's Name : KAUSHALYA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	54	29	40AG	100	A+	9	04.0	36.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	48	50	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	52	30	40AG	100	A+	9	04.0	36.0
4	MBAD-204 FINANCIAL MANAGEMENT	62	29	40AG	100	0	10	04.0	40.0
5	MBAD-205 BUSINESS RESEARCH METHODS	52	30	40AG	100	A+	9	04.0	36.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	42	29	40AG	100	A	8	04.0	32.0
	TOTAL		0507		0600			24.0	220.0
	GRAND TOTAL		0507		0600			24.0	220.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.17

·		(Cle		(Assistant)	
Checked by	1.		2.		
KURUKSHET	ERA				
DATED:	JUN 12,2	025			



Roll No. 245125753

Regn. No. 24-DEO-567

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : RAVINDER SINGH
Father's Name : BALRAJ SINGH
Mother's Name : BIMLA DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtaine	d Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	28 28	40AG	100	B+	7	04.0	28.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	45 47	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	55 29	40AG	100	A+	9	04.0	36.0
4	MBAD-204 FINANCIAL MANAGEMENT	50 26	40AG	100	A+	9	04.0	36.0
5	MBAD-205 BUSINESS RESEARCH METHODS	52 24	40AG	100	A+	9	04.0	36.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	41 23	40AG	100	B+	7	04.0	28.0
	TOTAL	0448	3	0600			24.0	204.0
	GRAND TOTAL	0448	3	0600			24.0	204.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.50

DATED:	JUN 12,2	2025			
KURUKSHET	ERA				
Checked by	1.			_ 2.	
		((Clerk)		(Assistant)



Roll No. 245125754

Regn. No. 24-DEO-569

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : K SHIVA KUMAR Father's Name : KRISHNAMURTHY

Mother's Name : UMA

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obt	ained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	49 30		40AG	100	A+	9	04.0	36.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	48 49		40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	46 30		40AG	100	A+	9	04.0	36.0
4	MBAD-204 FINANCIAL MANAGEMENT	64 28		40AG	100	0	10	04.0	40.0
5	MBAD-205 BUSINESS RESEARCH METHODS	57 30		40AG	100	0	10	04.0	40.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	48 29		40AG	100	A+	9	04.0	36.0
	TOTAL	С)508		0600			24.0	228.0
	GRAND TOTAL	0	508		0600			24.0	228.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.50

DATED:	JUN 12,2	025			
KURUKSHET	ERA				
Checked by	1.			_ 2.	
		((Clerk)		(Assistant)



Roll No. 245125755

24-DEO-566 Regn. No.

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM: APR-2025 (CBCS-CDOE)

Name : MANVI CHUGH

: NARESH KUMAR CHUGH Father's Name

: NEHA CHUGH Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	42	28	40AG	100	А	8	04.0	32.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	33	49	40AG	100	A+	9	04.0	36.0
3	MBAD-203 MARKETING MANAGEMENT	52	30	40AG	100	A+	9	04.0	36.0
4	MBAD-204 FINANCIAL MANAGEMENT	57	23	40AG	100	A+	9	04.0	36.0
5	MBAD-205 BUSINESS RESEARCH METHODS	34	29	40AG	100	B+	7	04.0	28.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	25	26	40AG	100	В	6	04.0	24.0
	TOTAL		0428		0600			24.0	192.0
	GRAND TOTAL		0428		0600			24.0	192.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.00

DATED: JUN 12,2025 KURUKSHETERA

Data of issue

Checked by 1.

(Clerk)

(Assistant)

Roll No. 245125756

24-DEO-575

RESULT-cum-DETAILED MARKS CARD Regn. No.

MASTER OF BUSINESS ADMN SEM-02 EXAM: APR- 2025 (CBCS-CDOE)

Name : RICHA YADAV
Father's Name : VINOD YADAV
Mother's Name : UMA YADAV

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtain	ed	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	AB	25	F	40AG	100	F	0	04.0	0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	AB	47		40AG	100	С	5	04.0	20.0
3	MBAD-203 MARKETING MANAGEMENT	AB	13	F	40AG	100	F	0	04.0	0
4	MBAD-204 FINANCIAL MANAGEMENT	AB	AB	F	40AG	100	F	0	04.0	0
5	MBAD-205 BUSINESS RESEARCH METHODS	AB	AB	F	40AG	100	F	0	04.0	0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	AB	AB	F	40AG	100	F	0	04.0	0
	TOTAL		**	*		0600			24.0	020.0
									12.0	20.0

RESULT: RE - TILL APR- 2027 IN: MBAD-201 MBAD-203 MBAD-204 MBAD-205 MBAD-206

DATED:	JUN 12,20	25		
KURUKSHET	ERA			
Checked by	1		2.	
		(Clerk)		(Assistant)

Data of issue

Bann

Roll No. 245125757

Regn. No. 24-DEO-565

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : KAMLESH KAUR
Father's Name : NIKKA SINGH
Mother's Name : BALBIR SINGH

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks	Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	44	26	40AG	100	А	8	04.0	32.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	40	45	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	56	29	40AG	100	0	10	04.0	40.0
4	MBAD-204 FINANCIAL MANAGEMENT	54	21	40AG	100	A+	9	04.0	36.0
5	MBAD-205 BUSINESS RESEARCH METHODS	41	24	40AG	100	A	8	04.0	32.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	44	22	40AG	100	A	8	04.0	32.0
	TOTAL		0446		0600			24.0	212.0
	GRAND TOTAL		0446		0600			24.0	212.0

RESULT: PASSED AND HAS OBTAINED: SGPA 8.83

		(Clerk)		(Assistant)	
Checked by	1		2		
KURUKSHET	ERA				
DATED :	JUN 12,202	25			



Roll No. 245125760

24-DEO-563 Regn. No.

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM: APR-2025 (CBCS-CDOE)

Name : NITIN

: HUKAM CHAND Father's Name : GAYATRI DEVI Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtain	ed	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	AB	AB	F	40AG	100	F	0	04.0	0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	41	40		40AG	100	A+	9	04.0	36.0
3	MBAD-203 MARKETING MANAGEMENT	AB	AB	F	40AG	100	F	0	04.0	0
4	MBAD-204 FINANCIAL MANAGEMENT	57	24		40AG	100	A+	9	04.0	36.0
5	MBAD-205 BUSINESS RESEARCH METHODS	АВ	AB	F	40AG	100	F	0	04.0	0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	38	16		40AG	100	В	6	04.0	24.0
	TOTAL		**	*		0600			24.0	096.0
									12.0	96.0

MBAD-201 MBAD-203 MBAD-205 RESULT: RE - TILL APR- 2027 IN:

DATED: JUN 12,2025 KURUKSHETERA

Checked by 1.

Data of issue

(Clerk) (Assistant)

Roll No. 245125761

Regn. No. 24-DEO-562

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM : APR- 2025 (CBCS-CDOE)

Name : ANNU DEVI
Father's Name : NAND KISHOR
Mother's Name : KANTA DEVI

Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	58 28	40AG	100	0	10	04.0	40.0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	45 49	40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	52 28	40AG	100	A+	9	04.0	36.0
4	MBAD-204 FINANCIAL MANAGEMENT	56 26	40AG	100	A+	9	04.0	36.0
5	MBAD-205 BUSINESS RESEARCH METHODS	49 22	40AG	100	A	8	04.0	32.0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	49 22	40AG	100	A	8	04.0	32.0
	TOTAL	0484		0600			24.0	216.0
	GRAND TOTAL	0484		0600			24.0	216.0

RESULT: PASSED AND HAS OBTAINED: SGPA 9.00

		(Clerk)		(Assistant)	
Checked by	1		2		
KURUKSHET	ERA				
DATED:	JUN 12,202	5			



Regn. No.

Roll No. 245125762

24-DEO-561

RESULT-cum-DETAILED MARKS CARD

MASTER OF BUSINESS ADMN SEM-02 EXAM: APR-2025 (CBCS-CDOE)

Name : JATIN

: NARENDER KUMAR ROHILLA Father's Name

: PARVEEN RANI Mother's Name

: CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA Institute

DETAILS OF MARKS

Sr. No.	Subject	Mark	s Obtain	ed	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	MBAD-201 HUMAN RESOURCE MANAGEMENT	AB	AB	F	40AG	100	F	0	04.0	0
2	MBAD-202 COMPUTER APPLICATIONS IN MANAGEMENT	46	50		40AG	100	0	10	04.0	40.0
3	MBAD-203 MARKETING MANAGEMENT	AB	AB	F	40AG	100	F	0	04.0	0
4	MBAD-204 FINANCIAL MANAGEMENT	63	29		40AG	100	0	10	04.0	40.0
5	MBAD-205 BUSINESS RESEARCH METHODS	АВ	AB	F	40AG	100	F	0	04.0	0
6	MBAD-206 PRODUCTION AND OPERATIONS MANAGEMENT	44	30		40AG	100	A	8	04.0	32.0
	TOTAL		**	**		0600			24.0	112.0
									12.0	112.0

MBAD-201 MBAD-203 MBAD-205 RESULT: RE - TILL APR- 2027 IN:

DATED: JUN 12,2025 KURUKSHETERA

Checked by 1.

Data of issue

(Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS